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TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 02 II PUC : MODEL QUESTION PAPER - 1 No. of Questions: 30
TIME : 3:15 HOURS SUB : ENGLISH MAX.MARKS:80
INSTRUCTIONS :-

1) Follow the prescribed limit while answering the questions.
2) Write the correct question number as it appears on the question paper.
3) For multiple choice questions, choose the correct answer and rewrite it.
4) Answer the question number 25 (atoj), 26 (i to iv), 29 (i to viii), should be in sequence
and at one place
I Answer the following questions by choosing the right option: 10x1=10
1. According to Juliet, Romeo will make the so fine that all.the world will be
in love with the night.
a. Earth b. Universe c. Face.of heaven d. Life

2. In Monaco, special revenue comes from a gaming house where people play

a. Tennis b. Billiards ¢ Cricket d. Roulette
3. sees the mark upon the \path of the infinite, inthe poem ‘On Children’
a. Mother b. Father C. Archer d. Prophet

4. South African environmentalist Cormac Cullinan points out; apartheid means
a. Harmony biDisharmony c. Separateness d. Violence

5. Match Column — A with.Column — B with réference to the play ‘A Sunny Morning’

A B
i. Refirted in appéarance ayJuanito
ii. ‘Gouty andiimpatient b. Dona Laura
iy Plays havoc with nursemaids c. Don Gonzalo
a\Ikbyii-c, iii-a buI-a)ii-c, iii-b c. I-c, ii-a, iii-b d. I-b, ii-a, iii-c
6. The poet in ‘When Youw Are*loved the of his beloved.
a. Glad grace b Soft look c. Pilgrim soul d. Eyes deep shadows
7. In ‘The Gardener’ had become the raison-d’ etre of Tammanna’s life.
a. Agriculture b. Art c. Property d. Coconut grove
8. According to Borges, is the only extension of our imagination and memory.
a. Book b. Telephone c. Microscope d. Plough
9. is a sign of appreciation in Japan while eating soup
a. Closing eyes b. Bowing c. Making fearful noise d. Keeping silence

10. Identify the sequence of events with the respect to life of Marcus Ibe in “The Voter”.

a. Became minister for culture — unsuccessful mission school teacher — preparing for
the second election — joined politics wisely

b. Joined politics wisely — unsuccessful mission school teacher — became minister for
culture — preparing for the second election

c. Preparing for the second election — became minister for culture — unsuccessful
mission school teacher — joined politics wisely

d. Unsuccessful mission school teacher — joined politics wisely — became minister for
culture — preparing for the second election

a. a b. b c.c d.d
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11. Fill in the blanks by using the right form of the verb given in the brackets. 2x1=2

Roof’s spirit fell when he (ask) to cast his vote. He was worried and confused.
He sidled in and (confront) by the car and the head.
12. Fill in the blanks with the right linker. 3x1=3

( to begin with, however, also )
If Tammanna bought four more acres adjacent to his land , Basavaiah
followed the suit. all this looked competition. Gradually, it rose to

such a pitch that there was no land left in the village for them to buy.

13. Match the column ‘A’ with column ‘B’

A B
i) In afix a) Arivoli co -ordinator
ii) Zip along b) Mania of bowing
iii) Glad grace ¢) Dilemma
iv) Japanese d) Physical beauty
v) N Kannamal e) Go with speed

Answer any SIX of the following (choosing at least two from poetry) in a paragraph

of 80-100 words 6x4=24

14. How does Romeo describe Juliet’s beauty using similes?

15. Describe the beauty of nature that makes the earth a heavenly place with reference to
the poem ‘Heaven, If You Are Not Here On Earth’.

16. What is the role of parents in upbringing their children as referred by the prophet in
‘On Children™

17. How is the key word ‘“oot’ used to describe the journey of life in the poem “To The Foot
From Its Child”?

And

18. Write a note on kingdom of Monaco and its tax system.

19. What is Earth University? How is it different from other universities?

20. What strategies did Basavaiah adopt to overcome humiliation ?

21. Why does Borges’ say that books will never disappear?

22. What was Roof’s dilemma in the voting booth? How did he resolve it?

23. How has cycle transformed the lives of many women in Pudukkottai?

Answer the following in about 200 words. 6%x1=6
24.Describe the circumstances that led to the separation of Gonzalo and Laura.
OR
How does the poem ‘Water’ demonstrate the disparity and discrimination in society

using water as a symbol?

25. Read the following passage and answer the questions set on it. 10x1=10
Eating habits have been changed with the times. The changes are faster now. The
latest is ‘fast food’ a fast life. Human diet is not restricted to any special category of
food. Whereas most animals stick to a Soutine menu. Man can and does eat a variety



of food from both plant and animal origin. Variety is for him, the spice of life, more so
in food than in anything else. This natural desire for variety is justified by the fact
that no single food provides us with all the nutrient that we need.

Cereals like rice or wheat which form the staple food of mankind, supply us only
with a fraction of our nutritional requirements. We have to supplement cereals with
other food that provide plenty of fats and proteins and minor quantities of a number
of vitamins and minerals. This means that the larger one’s diet sheet the better our
health will be. This will become evident if we analyse, what nutrients our food
contains and in what properties.

The nutrients found in food stuffs may broadly be classified as carbohydrates, fats,
proteins, minerals, vitamins and water. Protein, fats and carbohydrates are called
micro nutrients. Food is the only source of energy of humans. We:-should change our
diet sheet according to our requirements of energy and meals planned.

Good food selection is the milestone of good nutrition. There is no automatic built
in mechanism in human beings to direct the choice of food which build healthy
bodies and keep them running satisfactorily from day to day.

The question what food we should eat and how much depends on the amount of
energy we need. Food energy is measured in terms of heat units called calories. One
gram of protein or carbohydrate yields 4 calories.

Answer the following in a word, a phrase or a sentence each :

a) Which of our habits have been changed with the times?

b) Which is the latest food style?

¢) Why do humans need a variety of food?

d) Name any one nutrient found in food stuffs?

e) Which is the only source of energy for humans?

f) Why should we change our dietary sheet?

g) Food energy is measured in terms of heat units called

h) . -How much energy does‘one gram of protein give?

i). ' Cereals like rice or wheat supply us only with a fraction of our
(nutrition /nutritional) requirements.

j) VAdd a prefix to the ' word flike’ to form its antonym

26. What do the underlined words in the following paragraph refer to? 4x1=4
Cereals like rice or wheat i) Which form the staple food of mankind, supply them
only with a fraction of ii)_their nutritional requirements. They have to supplement
cereals with other food iii)_that provide plenty of fats and proteins iv) what they
need for their good health.

i) Which : iii) that :
ii) Their : iv) what :

27. Complete the following dialogue. 3x1=3
( Conversation between principal and student who is seeking admission for I PUC)
Student : Good morning sir, ( self introduction )

Principal : , what do you want? ( greeting )

Student : I have passed SSLC in first class. I'm seeking admission for I PUC in this
college. When shall I come sir ?

Principal : Submit your application form to the clerk over there along with necessary
documents.

Student : Okay sir, (expressing gratitude )



28. Report the following conversation.

Don Gonzalo :
Juanito :
Don Gonzalo :
Juanito :

VI

That bench over there is mine.
Three priests are sitting there.
Rout them out. Have they gone ?
No senor, they are still talking.

4x1=4

29. Read the following passage and make notes by filling the boxes given below.

8xY>.=4

Krishnadevaraya ruled the Vijayanagara Empire. He gave good governance during his
regime. Gold silver and diamond were sold on the streets of Vijayanagara. He respected
men and women equally in his court, there was an intellectual court .clown called
Tenali Rama who was known for his wit.

1)

2)

Krishnadevaraya ruled

iii)

During his regime Gold

Krishnadevaraya

|

Respected

'

vii)

viii)

;

Court down

}

Known for

30.Write a letter of application in response to the following advertisement which

appeared in ¢ The Deccan Herald’ dated 4t March, 2024

Note : Write XXX for your name and YYY for your address

Wanted : Sales Manager

Qualification : Any degree with computer knowledge

Fluency in English and Kannada
One year experience preferred

Apply within a week to:
The Executive Manager

Sarayu Home Appliances
S M Road, Bengaluru - 10

KRXXXKXKX

5



TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 02 II PUC : MODEL QUESTION PAPER - 2 No. of Questions: 30
TIME : 3:15 HOURS SUB : ENGLISH MAX.MARKS:80
INSTRUCTIONS :-

1) Follow the prescribed limit while answering the questions.

2) Write the correct question number as it appears on the question paper.

3) For multiple choice questions, choose the correct answer and rewrite it and these

questions attempted more than once will be awarded zero.
4) Answer the question number 25 (a toj), 26 (i to iv), 29 (i to viii), should be in sequence

and at one place
Answer the following questions by choosing the right option. 10x1=10
1) The phrase ‘For earth too dear’ refers to

a) Romeo b) Juliet c) Rosaline d) garish sun
2) The death sentence was converted into life imprisonment because

a) Monaco had abolished death penalty

b) Carrying out death sentence was expensive

¢) The criminal pleaded for mercy.

d) The crime of the criminal was not severe.
3) The metaphor ‘archer’ stands for

a) Prophet b) Mother ¢) God d). Life
4) One of the dramatic actions of Chipko movement in 1977 took place in'..............

a) Adwani b) Garhwal ¢) Canada d) Doon Valley
5) Match the characters in ‘Column-A’ with their role in ‘Column-B’ as depicted in “A

Sunny Morning” and choose the correct option :

Column-A Column-B
i) Petra a) Servant
ii) Juanito b) Park
iii) ‘Guard ¢) Maid
a) i-c, ii-b, iii-a b) i-a, ii-c, iii-b ¢) i-b, ii-a, iii-c d) i-c, ii-a, iii-b

6) Given below are the reasons which made the owner’s wife apprehensive. Choose the
option which is in proper sequence.
a) The income from the garden improved dramatically-owner’s life style changed-
owner cultivated adultery their life was getting out of hand.
b) Their life was getting out hand the income from the garden improved dramatically-
owner’s life style changed-owner cultivated adultery.
c) Owner’s life style changed - the income from the garden improved dramatically -
owner cultivated adultery — Their life was getting out of hand.
d) Owner’s life style changed — Their life was getting out of hand — Owner cultivated
adultery — the income from the garden improved dramatically.
7) “The foot is condemned to live in a shoe” suggests that the foot is .............
a) a Prisoner b) A criminal
c) Forced to give up its dreams d) Going to wear a shoe
8) The basic hierarchy in bowing is not followed when .................
a) Wife bows to her husband b) Child bows to his father

c) Sister bows to all brothers d) Brother bows to all sisters
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9) Roof had earlier been .................

a) a campaigner b) a bicycle repairer apprentice
c) a shop keeper d) a farmer
10) N. Kannammal iS ...........cceeunennee.
a) a gramsevika b) The Arivoli Central Coordinator
¢) an anganwadi worker d) a former district collector

11) Fill in the blanks by using the right form of the verb given in the bracket : 2x1=2

Gaming houses ............... (forbid) by German Sovereigns some years ago. The reason
for they .............. (stop) was that these gaming houses did so much harm.
12) Fill in the blanks with the right linker given in the bracket : 3x1=3
(whereas, to begin with, however)
There was rivalry between Tamanna and Basavaiah .............. , -all this looked like
healthy competition. ............. , gradually it rose to a high pitch. Tamanna had one
thousand acres .............. Basavaiah owned eight hundred acres.
13) Match the following ‘Column-A’ with Column-B’ : 5x1=5
Column-A Column-B
a) Out of hand i) Maduka
b) Give up ii)> Out of control
c) Glad grace iii) Physical beauty
d) Cutin iv) Stop doing something
e) POP Leader v) Move suddenly

Answer any SIX of the following (choosing at least two from poetry) in a paragraph

of 80-100 words : 6x4=24

14) In “Romeo and Juliet”; what similes does Romeo use to depict Juliet’s beauty and to
what effect ?

15) According to the prophet, what attitude should parents have towards their children in
“On Children” ?

16) How does Neruda describe the busy life of the individual as represented by the foot in
‘To the Foot from its Child” ?

17) Describe the beauty in nature that makes the earth a heavenly place as pictured in
“Heaven if You are Not Here on Earth” ? AND

18) Why was the criminal reluctant to leave the prison in “Too Dear”?

19) How did the author achieve biodiversity intensive farming in ‘Everything I need to
Know I Learned in the Forest ?

20) What advice did the supporters of Tammanna give for getting Tamanna’s land back in
“The Gardener” ?

21) How can humiliation and misfortune be transmuted ? Describe with reference to “I
Believe that Books will Never Disappear”.

22) What was the justification given by the tribes for the formation of the POP in “The

Voter” ?
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23) In what different ways does the cycle empower rural women in “Where There is a

Wheel”?

Answer the following in about 200 words : 1x6=6

24) Why do Dona Laura and Don Gonzalo spin fictitious stories about themselves in “A

Sunny Morning”?
OR
How does the poem “Water” demonstrate the disparity and discrimination in our

society using water as a symbol ?

25) Read the following passage and answer the questions set on it : 10x1=10

Once upon a time there was a priest who was extremely lazy and poor at the same
time. He did not want to do any hard work but used to imagine becoming rich one day.
He got his food by begging for alms. One morning he got a pot of milk as part of the
alms. He was extremely delighted and went home with the pot of milk. He boiled the
milk, drank some of it and put the remaining milk in the pot. He added little bit of
curd in the pot for converting the milk into curd. He then lied down to sleep. Soon, he
started dreaming while he was asleep. He was dreaming that if he could become rich
somehow, all his miseries would be gone. His thoughts now turned the pot of the milk
which he had set to form curd. He continued dreaming; “By morning the pot of milk
would set, it.would be converted to curd. ' would churn the curd and make butter
from it. I would heat the butter and make ghee out of it. I will then go to market and
sell that ghee, and make some money. With that money I will buy a hen. The hen will
lay eggs with which I'will have a poultry farm of my own”. He kept on dreaming. “I will
sell all the hens of my poultry and buy some cows, and open milk diary. Everyone in
the town will buy milk from me. I will be very rich and soon I shall buy jewels. The
king will buy all the jewels from me. I will be rich so that I will be able to marry an
exceptionally beautiful girl from a rich family. Soon I will have a handsome son. If he
will do any mischief I will be very angry and to teach him a lesson. I will hit with a big
stick”. During this dream, he involuntarily picked up the stick next to his bed and
thinking as if he was beating his son he raised the stick and hit the pot. The pot of
milk broke and he woke up from his day dream.

a) Who was lazy and poor ?

b) What was the priest imagined about ?

c) Why was the priest extremely delighted ?

d) What was the priest dreamt about ?

e) How could the priest become a rich man ?

f) Whom was the priest dreamt about to marry ?

g) What did the priest do with stick in his dream ?

h) The poor man will be able to marry an ........ (exception/exceptionally) beautiful girl.
i) What happened to the pot of the milk ?

j) Add a prefix to the word voluntarily’ to form its antonym.



26) What do the underlined words in the following paragraph refer to ? 4x1=4
There was a priest i)jwho was lazy and poor. ii) He did not want to do any hard work
and imagined to become a rich one day. One day he got a pot of milk iii) which is so

useful for iv) him.

i) who : ii) He:
iii) Which : iv) him :
27) Complete the following dialogue : 3x1=3

(Gagan is looking for a house for rent. He talks over telephone to Naveen, the owner of
the house)
Gagan : Good morning Sir.

Naveen : (Greeting), What can I do for you ?

Gagan : Is (Asking for information)

Naveen : Yes, the flat is still vacant.
Gagan : What is the rent ?

Naveen : The rent (Giving information)

28) Report the following conversation : 4x1=4
Dona Laura : You should have asked permission to sit here.
Don Gonzalo : The benches here are public property.
Dona Laura : Why did you complain about the priests ?
Don Gonzalo : Are you taunting me ?
8x%2=4
29) Read the following passage and make notes by filling the boxes given below :
In Australia, sheep rearing is a dominant economic activity. Sheep are reared in larger
number in the continent. Australia is the leading producer and exporter of wool in the
world. The vast grasslands, water from artesian wells, cool and dry climate, modern
methods of sheep rearing and wide market facilities have encouraged sheep rearing.
Nearly 75% of the Australian sheep are marino type, which yield fine wool. Sheep are
reared in huge farms called ‘Station’.
The dominant economic activity in Australia
i) | . |
Sheep are reared in
ii) | |
Australia is leading
iii) “—and
Australian sheep are
I |

v

v
Sheep are reared in

Vi)

vii) | |
Called

viii) |




30) Write a letter of application in response to the following advertisement which
appeared in the paper “Times of India” dated 25 March 2024 (write XXX for
name and YYY for address). 1x5=5

Wanted : Office Assistants
Qualification: PUC with first class.
Computer Knowledge & Fluency in English and Kannada required.
Experience preferred.
Apply to : The Managing Director
Matha Technologies Ltd.;
Bengaluru-560017
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SECOND PUC MODEL QUESTION PAPER-1 2023-24
SUBJECT- URDU (08)

Time: 3 hours 15 minutes Total no. of Questions: 54 Max

. Marks: 80

1x5=5
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TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 21 II PUC : MODEL QUESTION PAPER - 1 No. of Questions: 36
TIME : 3:15 HOURS SUB : HISTORY MAX.MARKS:80
Instructions :

1. Write SL nos. of the questions correctly.

2. Visually challenged students need to answer question number 36(B) instead of map question number 36(A) in
Part -E

3. Answer the questions according to the instructions given for the questions

4. Only the first written answer will be considered for Part A

Part - A
I Choose and write the correct answer from the given: 5x1=5
1. The dockyard of Indus Civilization discovered at:
a) Lothal b) Harappa c) Mohenjodarg d)Kalibangan
2. The founder of Maurya dynasty is

a) Bimba Sara  b) Bindusara c) Ashoka d) Chandragupta Maurya
3. The new religion introduced by Akbar is
a) Islam b) Din I Ilahi ¢) Christianity d) Sufism
4. The holy book of Sikhs is
a) Quran b) Guru Granthcsahib c) Bible d) Mahabharat
5. The treaty which ended the first\Anglo Mysore war is
a) Madras treaty b):Sritangapatna treaty
c) Mangalore treaty d) Paris treaty
IT Fill in the blankswith appropriate answers given: 1x5=5

(Ibrahim Roza, one who realized the truth,; Gol Gumbaz, Karnataka Gatha vaibhava,
Samudragupta, Raja ram Mohan Roy)
6. Themeaning of Thathagatha

7. The Gupta ruler who performed Ashwamedha sacrifice
8. Taj Mahal of South India
9. The founder of Brahma Samaja

10. The famous work of Alur Venkataraya

III  Match the following. 1x5=5
11. A B
a) 23rd Tirthankara Lord Wellesley
b) Kuduvalai Sardar Vallabha Bhai Patel
c) Ajanta of Shaivism Parshwanatha
d) Subsidiary alliance Lord Dalhousie
e) Iron Man of India Lucky draw
Lepakshi
IV Answer the following questions in one word or one sentence each: 1x5=5

12. From which language is the word India derived?
13. Who had the title Kavi Chakravarthi?

14. Who introduced token currency?

15. Who revolted against the British at Kanpur in 18577
16. Expand INA.



Part - B
\" Answer any eight of the following questions into words or sentences each. 8x2=16
17. Mention any two sites of the Paleolithic age.
18. Name any two cities discovered in Indus civilization.
19. Which two political institutions assisted the king in the administration during the Vedic
period?
20. Who erected the Gommateshwara statue and where?
21. Name any two generals of Alla-ud-din Khilji.
22. Between whom was the second battle of Panipat fought?
23. Where and when was Shivaji born?
24. What was the immediate cause for the first war of Indian indepefidence?
25. Name the newspapers published by Swami Vivekananda.
26. Where was the only congress session presided by Gandhiji held@nd when?

Part - C
VI  Answer any two of the following questions in 15.t0 20 sentences each. 2x5=10
27. Explain the special features of Indian History:
28. Write about the contributions of Chalukyas of Badami to art-and architecture.
29. Explain the life and teachings of Shankaracharya.
30. What were the causes and results.of the Battle of Plassey?

Part - D
VII Answer any two of the following question in 30 to 40 sentences each. 2x10=20
31. Explain the life-and achievements of Ashoka:
32. Describe(the cultural contributions of Rashtrakutas.
33. Describe the achievements of ‘Akbar.
34. Givean explanation aboutimpact of British rule on Indian economy.

Part - E

VIII 4x1=4
35. Arrange the following events in Chronological order.

a) Establishment of Bahamani dynasty
b) Advent of Aryans

¢) Dandi March

d) Fourth Buddhist council

IX  Answer the following questions as indicated 5+5=10
36. (A) Mark any five of the following historical places on the outline map of India
provided to you and explanatory note on which marked place into sentences:
a) Patliputra b) Badami c) Halebeedu d) Dehli e) Bidar
f) Meerut g) Jaliyan Wala Bagh h) Dandi

For visually challenged students only
36. (B) Answer the following questions in 30 to 40 sentences
a) Describe the religion, literature, art and architecture of the Vijayanagara period.
OR
b) Sir M. Vishveshwaraiya is called the ‘Maker of Modern Mysore” Explain.



TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 21 II PUC : MODEL QUESTION PAPER - 2 No. of Questions: 36
TIME : 3:15 HOURS SUB : HISTORY MAX.MARKS:80
Instructions :

1. Write SL nos. of the questions correctly.

2. Visually challenged students need to answer question number 36(B) instead of map question number 36(A) in Part -E
3. Answer the questions according to the instructions given for the questions

4. Only the first written answer will be considered for Part A

Part - A
I Choose and write the correct answer from the given: 5x1=5
1. The work that mentions the extent of ancient Karnataka is:
a) Vikramankadeva Charite b) Kaviraja Marga
¢) Rajatarangini d) The Peri plus of the Eritherean sea
2. The founder of Hoysala dynasty
a) Sala b) Dantidurga c) Harihara Bukka d) Dadiga
3. The title of shivaji
a) Tiger of Mysore b) Chatrapati c) Netaji d) Sikandar
4. Year was the Battle of buxar
a) 1857 b) 1757 c)1600 d)\1764
5. The call of go back to Vedas was given by
a) Swami Vivekananda b) Dayananda Saraswati
c) Bal Gangadhar Tilak d) Raja ram Mohan Roy
IT Fill in the blanks with-appropriate answers given: 1x5=5

(Raja Todaramalla, Ponna, Mound of dead, Birbal, Dodabai Navaroji, Mangal Pande)
The word Mehenjodaro means
The title'of {Ubhaya Kavichakravarthi’
The famous revenue ministet of Akbar
The Indian soldier who killed the British sergeant in 1857
10. The drain theory propounded

© ® N o

II1. Match the following. 1X5=5
A B
11. Megasthanes Amir Khusru
12. Pulakeshi II Theosophical society
13. The Parrot of India Indica
14. Mahmud Gawan Dakshin Pateshwara
15. Annie Besant Uttara Pateshwara
Madras
IV. Answer the following questions in one word or one sentence each: 1x5=5

16. Name the stone used by Paleolithic man.

17. What is meant by Sangam?

18. Name the ruler who started the Mysore Dasara.

19. Name the capital of French in India.

20. Which is known as Magna Carta of English education in India?



Part - B
\" Answer any eight of the following questions into words or two sentences each.8x2=16
21. Mention any two causes which brought an end to Indus the civilization.
22. Name any two women's scholars of Vedic period.
23. Mention any two of the Nobel truths preached by Buddha.
24. Name any two important architectural centres of Pallavas.
25. Give any two causes for the transfer of capital by Muhammad bin Tughlaq.
26. Who built Taj Mahal? Where is it?
27. Which is the first Kannada drama and who is its author?
28. Who established the Theosophical society?
29. Mention any two books written by Visvesvaraya.
30. Mention any two committees formed for reorganization of States.

Part - C
VI  Answer any two of the following questions in 15 to 20 sentences each. 2x5=10
31. Unity in diversity is the unique features of Indian history explain.
32. Describe chief characteristics of the Gandhara Schooltot art:
33. Describe the life and teachings of Ramanujacharya:
34. Write about the subsidiary alliance and the doctrine of lapse.

Part=D
VII Answer any two of the following questionin 30 to 40 sentences:each. 2x10=20
35. Enumerate briefly the silent features of Indus civilization:
36. Describe the achievements of Alauddin Khilji.
37. Explain the causesand results of the first war of Indian independence.
38. Discuss the role of Gandhiji in Indian national.mevement.

Part - E
VIIL 4x1=4
39. Arrange the following events in chronological order.
a) Battle of Talikote
b) Birth of Mahaveera
¢) Poona pact
d) Vikrama era

IX  Answer the following questions as indicated 5+5=10
40. (a) Mark any five of the following historical places on the outline map of India provided to
you and explanatory note on each marked place in two sentences.
a) Takshila b) Patliputra c) Kanchi d) Hampi e)Bijapur f) Calcutta
g) Srirangapatna  h) Devagiri

For visually challenged students only
41. (b) Answer the following question in 30 to 40 sentences. 1x1=10
a) Explain the religion, literature, art and architecture of the Vijayanagara empire.
OR
b) Sir M Vishveshwaraiya is called the maker of modern Mysore explain.
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TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 22 II PUC : MODEL QUESTION PAPER - 1 No. of Questions: 47
TIME : 3:15 HOURS SUB : ECONOMICS MAX.MARKS:80

Instructions :
1. Write the question numbers legibly in the margin
2. Answers for questions should be continuous.
3. only the first written answer will be considered for part - A
PART-A

I Choose the correct answer each question carries one mark. 5x1=5

1. Which of the following is an example of micro economic study?

a) National income b) Consumer Behaviour ¢) Unemployment d) Foreign trade
2. The vertical demand curve is

a) Perfectly elastic b) perfectly in elastic c) unitary elastic = d) none of the above
3. The individual or institutions which take economic decisions are:

a) Economic variables  b) Economist c¢) Economic agents d) None of the above
4. Measuring the sum total of all factor payments will be called:

a) Product method b) Expenditure method " c) Income method d) None of the above

5. In the situation of excess demand:

a) Demand is less than the level of output b) Demand is more than the level of output
c) Supply is less than the level of output d) Supply is more than the level of output
IT Fill in the blanks by choosing correct answer from the bracket. 5x1=5

(Negative, Revenue income, Variables perfect competition, Baster system, Positive)

6. In the lengrum all inputs are

7. Price taking behaviour is the single most distinguishing characteristics of

market

8. Economic exchanges without the use of money are referred to as

9. Revenue deficit = revenue expenditure

10. Pollution is an example for externalities
III'  Match the following. (Each question carries 1 mark ) 5x1=5
A B
11. Centrally planned economy Zero profit
12. Possibility of supernormal profit Broad money
13. Normal profit Government
14. M5 and My Trade in goods and services
15. Balance of payment Attraction of new firms

Trade in goods



IV
16
17
18

19. Describe average property to save. (APS)

20

21

22. Mention two different approaches which explain consumer behaviour.

23

Answer the following questions in two sentence or 2 word. (one mark)

. Give the meaning of marginal product.

. What is equilibrium price?
. Expand CPI.

. What are public goods?

Answer any 6 of the following in 4 sentences each. (2 marks)

. What is a monotonic preference?

. Give the price elasticity of supply and right its formula.

PART-B

24. How wage is determined in the labour market?

25
26

27. Write the equation of GDP MP and GDP FC.
28.
29.
30.

VI
31

34.
35.
36.
37.
38.
39.

VII

. Give the meaning of paradox thrift.

. What is the difference between consumer goods and capital goods?

Answer any five of the following questions in 12 sentences each. (4 marks)
. Briefly explain the central problems of an economy.
32.
33.

Define equilibrium Price and quantity.

PART-C

Mention the non tax revenues of the central government.

When do surplus and depict arises in capital account?

Write the differences between total utility'and marginal utility.
The following table gives the TPL. Find the AP. and MPL.

TPL

0

15

35

50

40

48

L

0

1

2

3

4

5

Write a note on price floor.

Write a note on balance of trade.

Answer any three of the following in 20 sentences each. (6 marks)

Briefly explain consumption function.

Write a note on legal definition of money.

PART-D

40. Explain the market demand with the help of diagram.

41

. Explain the short sum supply curve of a firm with the help of a diagram.

Explain the working of the economy of a capitalist country.

Explain the examples of planned accumulation and dissimulation of inventories.

5x1=5

6x2=12

5x4=20

3x6=18



42.

43.

44.

VIII

45.

46.

Explain numerical example to show that all the three methods of estimating GDP gives us
the same answer.

Explain the functions of money how does money overcome the shortcomings of the barter
system.

Explain the classification of expenditure.

Part E

Answer any two of the following project and assignment oriented questions. (5 marks)
2x5=10

a consumer wants to consume to goods. The price of banana is rupees 5 and the price of

mangoes is rs 10. The consumer income is rupees 40.

a) How much banana can she consume if she spends are entire income on that goods?

b) How much mangoes can she consumes if she spends or entire income on that goods?

c) Is the slope of budget line downwards or upwards?

d) Are the bundles on the budget line equal to the consumer income or not?

e) If you want to have more bananas you have to give up mangoes. Is it true?

Find the missing products of the following table.

Factor L. | TFp | MP, | APy
0 0 0 0
1 10 - 10
2 24 - 12
3 40 16 | 13.33
4 - 10 -
5 - 6 11.2
6 57 1 9.5
For blind students

Give the meaning of TP MP and AP.

47. Name the currencies of any five countries of the following.

USA, UK, Germany, Japan, China, Argentina, Bangladesh and Russia

kkhkkhk



TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 22 II PUC : MODEL QUESTION PAPER - 2 No. of Questions: 47
TIME : 3:15 HOURS SUB : ECONOMICS MAX.MARKS:80

Instructions :
1. Write the question numbers legibly in the margin
2. Answers for questions should be continuous.
3. only the first written answer will be considered for part - A

Part A
I Choose the correct answer each question carries one mark. 5x1=5

1. Central problems of an economy includes

a) What produce  b) How to produce c) For whom to produce d) All of the above
2. The product in a perfect competition are

a) Heterogeneous b) Homogeneous c¢) Luxury d) Necessary
3. The year of great depression

a) 1920 b) 189 c) 1929 d) 2018

4. The rate at which the RBI lends money to commercial banks against securities.

a) Bank rate b) Repo rate c) Reverse repo rate d) None of the above
5. Value of MPC lies between
a)1land 2 b)O0and 1 ¢) 2.and 4 d)0and 0.5
IT Fill in the blanks by choosing correct answer from the bracket. 5x1=5

(Depreciation, Value added, April 1 - March 31, Horizontal summation, shut down point,
Government of India )

6. Method of adding two individual demand curve'is called

7. The point of minimum AVC where SMC curves cuts the AVC curve called

is an annual allowance for wear and tear of a capital good.

9. issues coins in India.
10. Financial year runs from to in India.
III'  Match the following. (Each question carries 1 mark ) 5x1=5
A B
11. Normative economics Trade in goods
12.m Gross domestic product
13. Adam smith Evaluate the mechanism
14. GDP Gross national product
15. Balance of trade operation of invisible hand

TR -TC



IV Answer the following questions in two sentence or 2 word. (one mark) 5x1=5
16. What is average product?
17. What is price ceiling?
18. Give the meaning of intermediate goods.
19. Give the meaning of marginal propensity to save (MPS)
20. What is primary deficit?
Part B
\% Answer any 6 of the following in 4 sentences each. (2 marks) 6x2=12
21. What do you mean by inferior goods? Give an example.
22. State the law of demand.
23. Write the meaning of opportunity cost with an example.
24. Define equilibrium price and quantity.
25. Define between excess demand and excess supply.
26. What are the four factors of production? mention their rewards.
27. Write the difference between nominal and real GDP
28. Give the meaning of paradox of thrift
29. Who are free riders? why are they called so?

30. Mention the three linkages of open economy.

Part C
VI  Answer any five of the following questions in 12 sentences each. (4 marks) 5x4=20
31. Briefly explain the production possibility frontier.
32. Write the differences between substitutes and complements.
33. Explain isoquant with the help of the diagram.
34. Write a table to show the impact of simultaneous shifts on equilibrium.
35. Explain the role of the government (state) and household sector in both developed and
developing countries.
36. Illustrate unplanned accumulation and decimation of inventories with an example.
37. Write a brief note on Transactionary and speculative motives of demand for money.
38. Briefly explain consumption function.

39. Write the chart of components of current account.

Part D
VII Answer any three of the following in 20 sentences each. (6 marks) 3x6=18
40. Explain the features of indifference curves with the help of diagram.
41. Explain market supply curve of a firm with the help of a diagram.
42. Write down the limitations of using GDP as an index of welfare of a country.
43. Write the story of gold smith Lala on the process of deposit and loan (credit) creation by
commercial banks.

44. Explain the classification of receipts.



Part E
VIII Answer any two of the following project and assignment oriented questions. (5 marks)
2x5=10
45. a consumer wants to consume to goods. The price of banana is rupees 5 and the price of
mangoes is Rs 10. The consumer income is rupees 40.
a) How much banana can she consume if she spends are entire income on that goods?
b) How much mangoes can she consumes if she spends or entire income on that goods?
c) Is the slope of budget line downwards or upwards?
d) Are the bundles on the budget line equal to the consumer income or not?
e) If you want to have more bananas you have to give up mangoes. Is it true?

46. Find the missing products of the following table.

Factor L. | TFE; MP; APy
0 0 0 0
1 10 - 10
2 24 - 12
3 40 16 13.33
4 - 10 \
5 - 6 11.2
6 57 1 9.5
For blind students

Give the meaning of TP MP and AP.
47. Name the currencies of any five countries of the following.

USA, UK, Germany, Japan, China, Argentina, Bangladesh and Russia

b xs



DehEes) 20y 209 Bt Sedeard specleT Rog, Debaeth

aFok zmodes: 27 Q3eod wckou: BREO B, IgE-1 il JIAe: 41
Dok 1 3nows 15200 DTOB : FHTOT OFOHT nox wosnsy: 80
SNON—
| YT YVITNEY TOCIRTLIRY, WO/ WO, 5x1=5
1. 3 3UNTINYY IR ARFIHD BODFRY.
©) BReBBBRE 8) BOFTLBRE Q) BTTORRE 33) 2RYOR ATFTH

2. TRONFHO2 3RO wa‘;éoﬁﬁael R0 3oWRT

©@) F.W. gecoT® &) B FAlecs® Q) VWTO ToRRC

3. ‘sgeonsy d.raaﬁéef WSE AVCHAT’ YT 0330 BRCERA LVTIITFBCITNTS
) FORFZT &) QOB Q) TOODEITON

4. 3ereE oo ©F  WOR ﬁoz’;po:: (BoTPETfRy) TSRS OB

e.—aﬁ:&raoéoﬁamdz:az, N.N0.83.2, FO.T.%.2C.J, mo&wws 08 oo

2PuR3T.

) QINCITED ) DBXETTED
5. SNIPNLY SR B3N Tt Jgewn Lwmem
©) &) SRR Q) B

33 3UNT ALY ﬁ@@ﬂ@ﬁ [OO3RT emgddaﬁ:d 3
(33 INQ, dTWerd BRI, TFTTI, ¢

5x1=5

6. ATFTFBD IR
7. O[T FFITT
8. Shedrsriodn dTFIEBOD
9. TomAN
POTRTTFECING.
10. DRI,
5x1=5
11.
em%ﬁol 3eedne wmed
dFRYR, APFOBRHTH
c) =ouSeR TR0 TWIrT I0F
d) dewogmaden mIodk R "oz R
e) ©3 o nw R°FCTY 03
&0l TFodheh womd W,
3 E9NT TFNRVR 2.0 TT T 20T TWIFTY LVIOR. 5x1=5

12. ©38 Q0mTesH?

13. JeHTICH 2,00 BOT0F LRVTT, 9.

14. on33ne Sne Zerd 2T 03[w, JITWOATHT 0350TH?
15. IR ANTIHBOH RV RI emz?&cs A?

16. MTT Q0TS 035T0?



Vi

Vil

17.
18.
19.
20.
21.
22.
23.
24.
25.
26.

27.
28.

29.

30.
31.

37.
38.
39.
40.
41.

. BoFudehY AoHoYTILH )

>N - W
8 9NT BRYTTIRGT JFRYR STEOOT AT HITY L0 6x2=12
C330TYTTOTCR TR JATETFBCL THPL3T wz:;esﬁ% 392,
MO TRF QOTSe?
A3REWTHNICH TOWSOH WP 3RB.
mwwmasmg TRETRA.
ReDTICH T, THRVT AT WDIRORTRY, 9.
TOPIZTW CIRFTTTR TR FONERy, wBw0.
ROBOZIRECH BRIHTRTAR TR WINERY, 392
CRLVOT AVEONT WFE S92,

BOReQDOECH BRPTTTR AT FOBENSTY, 9. \
FFTTT FRERVOOT MRTIT TR BTIT, WFF DT TR FTLRT, &
NN — 2
3 E9NT BRYTUAR Towy, IFAYR 10-12 HITY ww3dr. T3 IBA ® 6x4=24

ATFTHRCL IR BRPTTESL Towy, VTN, DT
DOWTRY,  BRFYTTTR SRS

ne Wi 3@@6:55 Esfe¥olety

CBREENED THTIH, T, VOIRY ALY ~ <
R wom FoTICH TR AOTRL MRAT TS, : 300 MIBFF I
PIORY rHromhEy O IYBCIRNLRHE R ! . Pex BEm, Bt foxd

BYEQode Ve OHRORNTOTRT

Nn— &

8 E9NT BRYTTR TRt JFRR 20-30 RFNSY w302, I3 IFR 8 woIne 8x3=24
ATFIFBoH ATOIT, JTZT TOWOHI TTLS TWORFTTINT. ITHAFR.

B3 odeewy QOWTER? VWS DTITRW WO TN DF0A.

200 ATFIF TFoHoH TOIRTY, DT

TOFRDLHO TOTTT WEWBHBRLR), dTe0He: FRAYEHT BRZFHRATIY, JF0A.

HTVST O350 TOTTR CESH ORBRON DY SIS &Déﬁ@ﬁboz Hog [N Q[0A.

skskokksk



DehEes) 20y 209 Bt Sedeard specleT Rog, Debaeth

ARCH Zoses: 27 Q3eoD Lo%: [RWO I, BIF-2 Wty TJned: 41
Dok 1 3nows 15200 QRO | FTTT WP OPT nox wosnsy: 80
SNON—
| 3RLITT GOITNEY FOBRTRY, SO 2B0%W0. 5x1=5
1. %03RrBEoRo: ToTT ATFIRBONO QTHTT.
) e.—aﬁsg ) TLOTAT ATFRT Q) ATWEFIT HOTP 8s) 03T
2. Zpum I Hung
©) A3REERNTOH WHTO ) NITT WRTO
Q) TN sésmq)ws 33) T0s) FCHLFITFTT WRFO

3. 3 FNSYNTY BRPT BRLBIRICH W& WTORIRVTNT.
©) C3REITNTOZM @&%33053 WTOLNETY, 3R TRRIT.

&) SOTW/TE TOINR, L0ZeRT.
¥) Beeaionn FRTLeUICHRY, IRZRRVII.

82) 3RS AGRETS IRDERRDE P SPREATIT. @

4. DOPRDIT TZodhod To3ne @ﬁ:ﬁa‘»ﬁs&ol nshd.

¥) BEFNY dcdeews
Q) FORT THIBNE DI NPER

@) 1, ii, 1ii, iv ) il i, 0, v
5. 3 INSYNSY BRI TTeed JFodhod WIT e
@) LR, ) 33

1 32 3SNT Wy ZIROR BOSRT LVITIRy, woly

(23 w9E ARexs, MeE3 LOIYNR a%eogc
\lvrle] 37%:3:&@@%; ©RTTH) a..ozﬂé;o N
2,00 W0 FRAWT WHTWIR VRFVRAR

©

Todeane, omEs Nodesneon JURRTE

. asr wides romre
10. 253 wIFA QSN uggne o

N \RS) \J@ SN )
m BRODY WBOWD. @ 5x1=5
11. ~ &
BN
N

SRR

OTRTEY TN 5059163 Todc0R
cdreasThRd 0T A0THRB
AZr=BD IR

d) ATFIHBOL TP TORENRD TR YT TISFS

e) =3 BREVWDRE T TOTITI$
0DF TORT WWORENY &TRT

v 3 9NT TFNVR 2.0 TW OFR 2OW TRFTY YDA 5%x1=5
12. ANETFBOD BRF)TIRTR 205D RO 3 LOTIEITRY, SV
13. 22 JOITT FPWETOD m@aﬂaod Soewurod m@ﬁ% wdmsdé %raodasé)dab& DVOTH FBZ0TIT?
14. TCHTIT BRPYTOTAR 20T OFLITT, I92.
15. ROPFICL WOTTE NOTWIER?
16. W$EHTT SEACE TOHODR YT BRTYTTEROT® TOTT 502033534 392,



Vi

Vil

17.
18.
19.
20.
21.
22.
23.
24.
25.
26.

27.
28.
29.

30.
31.

37.
38.
39.

40.
41.

. AOHOZFHREOH 3RF)THETR OESHIES T

>N - W

8 SNT BRYTRTTR S JFNER TR 00T AL HITY ¢OZO2. 6x2=12
N nvtasdfev) msgwsﬁ CIRRTORTR NTE WosndrodR 392,

VRTT Ty IRBMOININTT BRIJTTEIR TR 553%:37165634 W3oWwD.

QACHIT eazsfaag WOTH NVTRITTHBAROANR S92,

TOFTIDHIE LoTTerH?

md.rasenﬁeé e.-soﬂaémﬁ WSDSRMHT O30YTORTR TR wacgri@éﬁgl 392,

TRYTRT FeomBod wnFe SR AROITTHDH TRFIT BRPREIR HTE SRINL, 9.
TFTERTF NCNOZPT WFE 39

TEOTRAT DLVFODNTY CINTYTRWTIR ATW JIFCRRATRY, 392
PO T0T TTOT CIRTYTRTTR ATW VFHINSTY, 392.
WPEmST TZROD FoHeHRODY MTIOR BATOINT AIRJYTRTIR HTE JOTSRTR, 392 \

;R - 2 x
3 E9NT BRYTTR Towy, IFAVR 10-12 HITY w30, T IZR Tewy, w03 6

[ Pletente] ﬁoﬁ:?séﬁ ﬁ:e%md%%ﬁabq mg gmn N2
aséaSmd Eatoytetn] RN ogsaﬁe;abq zogagmﬁ NTO2.

29

:)"0%03302 RRR T (J3)cHsy, ITes a3 e
VWIRLONTT, MOF TN DTOA.

33 BSVNT O3R) 2. B3 JJR 8 woIne 8x3=24
BRRFOHS 20TTesd> FbFPoHIoH VFONERY, Vo Tzen DFOA.

BOFEIBONTy, 0TIV, OFEITIEODH T BCHTY, DTOA.

TONFATT  STW30H O350 TOWIR T, R[N TN TONFST ST  CIVT)TORR T,
QPORRTR, DTOR.

035059 TRWTR T, TLoTAT YVILWIN Tene TR, TeovoRe3T wgezssﬁeém& QWD

oo JFodhoh TODFRYRY, Bog TN DTOR.

skskokkskok



TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 27 II PUC : MODEL QUESTION PAPER - 1 No. of Questions: 41
TIME : 3:15 HOURS SUB : BUSINESS STUDIES MAX.MARKS:80
Part A
I Choose the correct answer from the given. 5x1=5
1. Following is not a function of management

II

III

IV

a) Planning b) Organising c) Co-operating d) Staffing

Who propound “piece rate system’?

a) F.W Taylor b) Henry Fayal c) Abraham Maslow d) Philip Kotler
‘Use of mobiles prohibited in the office” - it is an example to which plan?

a) Programmes b) Rules c) Procedures d) Policy

Based on the density, area administrative benefits ‘eperation’jof KSRTC is divided into
4 divisions, such a BMTC, KSRTC, NWKRTC and-Kalyana Karnataka Sarige. It is the
example of which organizing process?

a) Departmentisation b) Specialization \ \\¢)Classification d) Liberalization
Following is not an example for service marketing.

a) Insurance b) butsourcing c) Online trading d) All of these

Fill in the blanks by choosing correct answer from the bracket. 5x1=5

(Pricing, Directing, Managers, Liberalization, Co-ordination, Investing)

6. Principles of management are formed by the experience of
7 refersito reducing unnecessary government control restrictions to the business
and industries.
8. Supervision'is one of the element of function of management.
9. Renovation of old plant or\installation of a new plant is an example for decision in
financing.
10. The process of determining the monetary value to the product or service is called
Match the following. (Each question carries 1 mark ) 5x1=5
11. A B
a) E-spirit De-corps Basic on services of products
b) Divisional structure Setting standards
c) Interview Tool of sales promotion
d) Controlling process Consumer protection
e) Lucky draws Unity of employees

12.
13.
14.
15.
16.

A stage of solution process

Answer the following questions in one word. (one mark) 5x1=5
What is efficiency?

State any one internal source of recruitment?

Who propound the theory of needs of hierarchy?

What is the basic objective of financial management?

Who is a consumer?



17.
18.
19.
20.
21.
22.
23.
24.
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27.
28.

29.

30.

31.

32.

33.

34.
35.

36.

VIl

37.
38.
39.
40.
41.

Part B
Answer any 6 of the following in 2-3 sentences each. (2 marks) 6x2=12
State any two social objectives of management.
What is Gang plank?
Give the meaning of planning premises
Define organizing.
Mention any two advantages of external sources of recruitment.
Write any two leadership styles.
State any two limitations of controlling.
Give the meaning of ‘Dividend decisions’
State any two functions of packing.
Write any two reasons to emphasis the importance of consumer protection form the point
of view of business.
Part C
Answer any Six of the following questions‘in 10-12 sentences each. (4 marks) 5x4=20
Explain any four features of principle of management.
Explain any four points to show ‘how\important the understanding of business
environment for managers.
Management of every <enterprises can be benefited' from being aware of different
dimensions of business environment explain-any foursuch dimensions.
Explain the importance of planning with fourpoints
Assume thatyou are \working as a IR manager in a company. You have observed that the
quality.of the employees at work place, what are the methods of training would you like to
follow: Explain any four of it:
Explain the importance of controlling in an organization with four elements.
The board of directors has asked you to design the capital structure of the company explain
any four factors that you would consider while doing so.
Explain briefly any four features of Industrial goods.
As a marketing manager of a company, suggest any four sales promotion activities to boost
up the sale of various products with suitable examples.
Explain any four rights of consumers
Part D
Answer any three of the following in 20-30 sentences each. (8 marks) 8x3=24
Management is a series of continuous interrelated functions comment.
What is Delegation? Explain the importance of delegation.
Explain the stages of staffing process.
Explain the measures to overcome the barriers to improve communication effectiveness.

Briefly explain any four merits and demerits of advertising.

hkkhkkhk



TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 27 II PUC : MODEL QUESTION PAPER -2 No. of Questions: 41
TIME : 3:15 HOURS SUB : BUSINESS STUDIES MAX.MARKS:80
Part A
I Choose the correct answer from the given. 5x1=5
1. Officers comes under operational or lower level of management.
a) President b) Finance manger c) Board of directors d) Supervisors
2. Instruction card clerk is a
a) Planning officer b) Production officer
c) Factory manager d) Chief executive officer

3. Which of the following is a limitation of planning
a) Planning reduces the risks of uncertainty ~ b) Planning promeotes.innovative ideas

¢) Planning reduces creativity. d) Planning facilitates division making
4. Identify the correct order of the stages in the orgnising process

a) Assignment of duties b) Departmentalization

¢) Identification and division of work d) Establishing reporting relation ships

a) i, ii, iii, iv b) iii, ii, i, iv o) ivyiil; i, i d) iii, i, iv, ii

5. Which of the following is not an elementiof marketing mix

a) Product b) Price c) Programmed d) Place
IT Fill in the blanks by choesing correct answer from the bracket. 5x1=5
(Single use plans, Consumer product, Decentralization, coding, Finance,
Industrial products)
6. refers to the delegation of authority of decision making extended to more than one.
7. A plan developed fora onetime eventis called
8. is the process:of converting the message into communication symbols.
9. The main‘objective of Management is to maximizing the wealth of share holders.
10. is one of the types of specialty product.
III  Match the following. (Each question carries 1 mark ) 5x1=5
11. A B
a) Cause and effect relationship Reference and background checks.
b) Functional structure Planning and controlling
c) Selection process Principles of management
d) Twin function of management Unpaid form of promotion
e) Publicity Planning and organizing

Based on similar form of works.

IV. Answer the following questions in one word. (Each question carries one mark) 5x1=5
12. Name any one organizational objective of management
13. What do you all if an emplace promoted form lower level job to higher level job?
14. State any features of leadership
15. What is working capital?
16. Mention any one reversal agency under consumer protection act.
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29.
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31.

32.
33.

34.

35.
36.
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37.
38.
39.
40.

41.

Part B
Answer any 6 of the following in 2-3 sentences each. (2 marks) 6x2=12
State the importance of management in two points.
Write any two differences between authority and responsibility
State the meaning of rule with an example

What is organizing ?

. Name any two types of employees’ selection tests.
22.
23.
24.
25.
26.

State any two types of needs propounded by Maslow in needs of Hierarchy theory.
Give the meaning of managerial control.
Mention any two types of fencing decisions
Write any two features of good brand name.
Mentions any two forms of compensation available to the consumer under:consumer
protection act.
Part C
Answer any Six of the following questions in 10-12 sentences each. (4 marks) 5x4=20
Explain briefly the functional fore man ship of Taylet.
Explain any four features of business environment
The court passed an order that all schools must have water purifies for the sehool children
as: a) Society in general is more needs about quality of life
b) Innovative techniques are being developed to manufacture of water purifiers in
competitive rates.
¢) Incomes are rising and'children-at home are(also drinking purified water.
Explain the first four stages in the planning process.
Which score of.fequirement in needed. to bring new blood in the organization? Explain
briefly any three:advantages of these sources:
Explain‘any four limitations of controlling:
To avoid the'problems of shortagetand surplus of funds, what is required in financial
management? Name the concept and explain its any three importance
Packing has acquired great significance in the marketing of goods. In the light of this
statement, state any four functions of packaging.

Explain any four limitations of advertising.
Explain any four responsibilities of consumers to be followed while buying and using of
goods and services.
Part D
Answer any three of the following in 20-30 sentences each. (8 marks) 8x3=24

What is co-ordination? Explain the characteristics of co-ordination.

Define organizing? Explain the importance of organizing.

Explain any four methods of on the job training and any four methods of off the training.
Explain any four financial and non-financial incentives given by the firms to motivate the
employees.

Explain briefly the various functions of Marketing.
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TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 30 II PUC : MODEL QUESTION PAPER - 1 No. of Questions: 32
TIME : 3:15 HOURS SUB : ACCOUNTANCY MAX.MARKS:80
Instruction:
1. The question paper contain four parts A, B, C and D Part - A consist four section I, II, IIl and IV
2. Provide working notes wherever necessary.
3. 15 Minutes extra has been allotted for candidate to read the questions.
4. Figure in the right hand margin indicate full mark.
Part - A
I Choose the correct answer from the choices given. 5x1=5
1. In order to born a partnership there should be at leant:
a) One person b) Two persons ) Seven persons d) Ten persons
2. Assets and liabilities are recorded in balance sheet after‘the admission of a partner at:
a) Original value b) Revalued value  c) Realizable value = d) None of the above
3. Equity share holders are:
a) Creditor b) Owners  c) Customer of the company d)Employees of the company
4. Current assets does not include:
a) Buildings b) Short-term Inventories  ¢) Inventories. d) Cash and cash equivalents
5. Current ratio is 4:1, If stock\Rs 1,20,000-and current assets\Rs 2,40,000 what is the value of current
liabilities?
a) Rs 1,80,000 b) Rs 1,20,000 &) Rs-60,000 d) Rs 2,40,000
II Fill in the:blanks by choosing the appropriate answers from those given in the brackets.
(Money, Debenture sun penne,sacrifice ratio, cash, external, meaning) 5x1=5
6. Good\willibrought in by new partner in cash is to be distributed among old partner in
7. liabilities are transferred to the credit side of he realization account.
8. Debentures issued as collateral security will be debited to account.
9. Interpretation means explain the and significance of the data
10. The quick assets are those assets which are quickly convertible into
III Match the following. 5x1=5
11. A B
a) Partners liability Financing activities
b) Gain ratio Credit of realization account
¢) Unrecorded assets Unlimited
d) Company Retirement of a partner
e) Sales of machinery Artificial persons
Debit of realization account.
v Answer the following questions in one word or one sentence each. 5x1=5
12. State any one method of valuation of good will
13. Name any one method of redemption of debentures
14. Give an example for long term liabilities
15. Financial analysis does not consider price level charger (True/False)
16. Expand ICAI



VI

17.

18.

19.

20.
21.

22.

23.

24.

25.

Part - B
Answer any three questions. Each questions carries two marks 3x2=6
How do you treat the following in the absence of partnership deed?
a) Interest on advances from the partner.
b) Salary / Remuneration to the partners.
Give the journal entry to close the retiring partner’s capital account, when balance is transferred to
loan account.
State different types of shares issued by public limited company.
Give the meaning of Financial statements.
State any two uses of Cash flow statement.
Part - C
Answer any three questions. Each question carrier six marks. 3x6=18
Tanuja and Chandu are partners in a firm. Tanuja’s drawing for\the year:2022-23 is given as under.
Rs. 3,000 on 31-05-2022
Rs. 2,000 on 01-10-2022
Rs. 2,500 on 31-12-2022
Rs. 1,500 on 01-03-2023
Calculate the internet on Tanuja’s drawings at{10% p.a for the year ending on 31-03-2023 under
product method.
Asha, pushpa and Likitha are partners ina firm sharing profits and losses in the ration of 4:3:2
pushpa retires from the firm: Asha.and Likitha agreed to:share in'the ratio of 5:3 in future. Calculate
gain ratio of Asha and Likitha
M, N and O are partners:sharing profits and dosses. in\the ratio of 4:3:3 Their capital balances as on
01-04-2022 stood Rs1,00,000, Rs 80,000.and Rs 50,000 respectively.
‘M’ died on\30.09:2022 the partnership dead provides the followings.
a) Interest on capital at 12% p.a
b) ‘M” had withdrawn Rs 5,000 up: to the date of death.
¢) M, N share of good will Rs 5,000
d) M, N Share of profits of up to the date of death on the basis of previous year profit. Previous year
profits Rs 20,000
Prepare M, N Executor’s account.
From the following details you are required to prepare statement of profit and loss for the year

ending on 31-03-2023 as per schedule III of the companies act 2013.

Particulars Rs.
Plant and machinery 40,000
Furniture 20,000
Share capital 4,00,000
Sales 3,00,000
Purchases of goods 1,80,000
Trade payables 30,000
Depreciation on plant and machinery 4,000
Amortization of good will 3,000
Interest on debentures 20,000
Interest in borrowing 10,000
Tax 30%
Leave encashment 10,000




VIl

26.

27.

28.

From the following information calculate cash flow from financing activities.
Particulars 01-04-2022 31-03-2023

Debentures 4,00,000 5,00,000

Bank loan (long term) 2,00,000 3,00,000

Additional information:
a) Dividend paid on equity share capital Rs 1,20,000/ -
b) Internet on debentures due but not paid Rs 20,000/ -
Part - D
Answer any three questions each question carrier 12 marks. 3x12=36
Swarna and Swapna are partner sharing profit and losses in the ratio of 3:2 resections their balance

sheet an on 31-03-2023 was an following.

Liabilities Rs Assets Rs
Creditors 48,000 | Cash 16,000
Bills payable 20,000 | Debtors 60,000
Reserve 30,000 | (-) PDD 3,000 57,000
Capital : Stock 20,000
Swarna 80,000 | Furniture 20,000
Swapna 40,000 | Machinery 30,000
Building 60,000
Profit'and loss account 15,000
2,18,000 2,18,000

On 01-04-2023 they admit Deepa into partnership on-the following terms:

a) Deepa Should bring in'Rs.20,000 towards eapital;-for\1/6t share and Rs.30,000 towards good
will (as per AS-26)

) Good will amount is'withdrawn by theold partners.

o

@)

) Depreciate machinery and furniture by.5%

Q.

) Value of building appreciated by 15%

e) Maintain PDD at 10% on debtots

Prepare:

i) Revaluation account

ii) Partners capital account

iii) New balance sheet of the firm on 01-04-2023

A and B are partners sharing profit and losses in the ratio of 3:1 their balance sheet as at 31-03-2023

was as under: Balance sheet as at 31-03-2023

Liabilities Rs. Assets Rs.
Loan 3,000 | Cash at bank 6,000
Creditors 3,000 | Stock 10,000
Reserve fund 8,000 | Furniture 4,000
Capital : Debtors 20,000

A 40,000 | Plant and Machinery 22,000
B 20,000 | Profit and loan A/c 12,000
74,000 74,000




29.

30.

31.

On the above date they decided to dissolve the firm:
Additional information:
a) ‘A’ took over plant and machinery at an agreed value of Rs 25,000/ -
b) Stock and furniture were realized for Rs 9,000 and Rs 3,500 respectively
c) Debtors took over by ‘B” at Rs 18,000
d) Liabilities were paid in full by the firm.
e) Realisation expenses were Rs 500
Prepare:
i) Realisation account
ii) Partners capital accounts

iif) Bank account

Yashas company ltd, issued 20,000 equity shares of Rs 100 each at a premium of \Rs 10 per share.
The amount payable was as follows:

Rs 20 on application

Rs 50 on Allotment (including premium)

Rs 40 on First and Final call

All the shares were subscribed and the money dually.received except the first and final call on 500
shares. The directors forfeited then shares and re-issued at Rs 80 per share fully. paid up. Pass the
necessary journal entries.

Give the necessary journal entries for thefollowing at the time of issue of debentiires.

a) Issue of Rs 2,00,000, 10% debentures of Rs:.100-each at par and redeemable at a premium of 5%

b) Issue of Rs 2,00,000, 10% Debéntures:of Rs-100 each at a discount'of5% and redeemable at par

c) Issue of Rs 2,00,000, 10% Debentures of Rs 100 eachrat a;premium of 5% and redeemable at par

d) Issue of Rs 2,00,000,:10% Debentures of Rs 100 each at.a premium of 5% and redeemable at
premium of 5%

From the following balance sheet of SNS:Company ltd, an on 31st March 2022 and 31st march 2023
Prepare common size balance sheet.

Balance sheetanon 31-03-2022 and 31-03-2023

Particulars 31-03-2022 31-03-2023
I Equity and liabilities: Rs Rs
1. Share holders’ funds
a) share capital 10,00 000 12,00 000
b) Reserves and surplus 1,00 000 60,000
2. Non-current liabilities
10% Debentures 6,00 000 7,00 000
3. Current liabilities
Short term borrowing 1,50 000 1,80 000
Trade payables 50 000 60 000
Total 19,00 000 22,00 000

1l Assets
1. Non-current assets

a) Tangible assets 9,00 000 10,00 000

b) Intangible assets 6,00 000 8,00 000
2. Current assets

a) Inventories 1,00 000 1,50 000

b) Cash and cash equivalents 1,50 000 1,70 000

c) Other current assets 1,50 000 80 000

Total 19,00 000 22,00 000




32. From the following particulars calculate:
a) Inventory turnover ratio
b) Trade receivable turnover ratio
c) Trade payable turnover ratio
d
e

~

Gross profit ratio

~—

Operating ratio
f) Net profit ratio

Particulars Rs.
Revenue from operations 10,00 000
Gross profit 3,00 000
Average inventory 1,00:000
Net credit revenue from operation 7,50:000
Average trade receivables 1,50 000
Net credit purchases 5,00 000
Average trade payables 2,00 000
Operating expenses 1,00 000
Net profit 1,00-000
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TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 30 II PUC : MODEL QUESTION PAPER - 2 No. of Questions: 32
TIME : 3:15 HOURS SUB : ACCOUNTANCY MAX.MARKS:80
Instruction:

1. The question paper contain four parts A, B, C and D Part - A consist four section I, II, IIl and IV
2. Provide working notes wherever necessary.

3. 15 Minutes extra has been allotted for candidate to read the questions.

4. Figure in the right hand margin indicate full mark.

Part - A
I Choose the correct answer from the choices given : 5x1=5
1) Partnership deed contains
a) Name of firm b):Name and addréss of the partners
c) Profit and loss sharing ratio d) All of the above

2) The old profit sharing ratio among A; Biand Cwere 2:2:1. The new profitsharing ratio after B's
retirement is 3:2. The gaining ratio is
a) 3:2 b)2:1 ¢)1:1 d) 2:2
3) Shares can be forfeited for:
a) Non payment.of call money b)\ Failure to attend meeting
c) Failureto repay theloan to the bank d) The pledging of shares as a security
4) External\users.of financial statements does not include
a).\Banks b) Share holders ¢) Creditors d) Government

5) Thetwo basic measures ofliquidity are;

a) Inventory turnover and‘current ratio b) Current ratio and liquid ratio
c) Gross profit margin and operating ratio d) Current ratio and average collection period
II Fill in the blanks by choosing the appropriate answers from those given in the brackets:
( Acid test ratio, Rate of interest, Bank, Interpretation, Sacrificing, Gaining ) 5x1=5
6) Good will brought in by new partner in cash is to be distributed among old partnersin _____ ratio
7) On dissolution of the firm, partners capital accounts are closed through Account
8) 1000, 10% debentures issued at par, 10% means
9) The term ’ financial analysis’ includes both “analysis” and

10) Quick ratio is also known as

III Match the following 5x1=5
11) A B
a) Partner’s Current Account i) Closing down the business of the firm
b) Goodwill ii) Financing activity
¢) Dissolution of partnership firm iii) Acknowledgment of debt
d) Debenture iv) Intangible asset
e) Issue of shares v) Fixed capital system

vi) Fluctuating capital system
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23)

24)

Answer the following questions in one word or one sentence each :

State any one reason for admission of a partner
Debenture holders having voting right ( True / false )
Expand EPS

State any one technique of Financial statement analysis

Give an example for investing activities
Part - B

Answer any three questions. Each question carrier two marks.

Define partnership

Mention any two circumstances for retirement of partner.
State any two features of company

Mention two types of financial statements

Write any two uses of cash flow statement.
Part ~C

Answer any three questions, each question-carries 6 marks:

5x1=5

3x2=6

3x6=18

Shohba and Nethra are partners, started Business on 01 «04::2022. They share profits and losses

equally. They invested capital of Rs:.200000 and Rs 160000/~ respectively. For the year ended on 31 -

03 -2023, they earned a profit.of Rs 80,400 before following adjustments

a) Interest on capital at 6% p.a
) Internet on drawings'shobha Rs 2500‘and Nethra Rs 2000
) Annualsalary payable to Nethra Rs:4000

o o

Q.

for\the year ended on 31'-03-2023

) Annual commission payable to Shobha'Rs 2000 prepare profit and loss Appropriation account

Hema and Manjula are Partners:sharing profits and losses in the ratio of 4:3 They admit Vijaya into

is agreed at 7:4:3 respectively. Find the sacrifice ratio of Hema and Manjula.

X, Y and Z are partners, sharing profits and losses in the ratio of 2:2:1. Their balance sheet an on

31 - 03 - 2023 was an follows:
Balance sheet as on 31 - 03 - 2023

Liabilities Rs Assets Rs
Creditors 30,000 | Cash in hand 10,000
Reserve fund 15,000 | Debtors 25,000
Capitals Stock 40,000

X 15,000 | Machinery 40,000
Y 30,000
Z 30,000

1,15,000 1,15,000

‘7’ Died on 30.06.2023. His executor should be entitled to,
a) ‘Z’ Capital on the date of lant Balance sheet
b) ‘Z’s Share of Reserve fund

c) ‘Z’ s Shares of profits upto the date of death. Calculated on the basis of previous year’s profit

previous year profit Rs 20000

d) ‘Z’s share of goodwill. Good will of the firm valued at Rs 40,000 (as per AS - 26)

e) Interest on capital at 10% p.a prepare ‘Z’s executor account.



25)

26)

From the following information prepare statement of profit and loss for the year ended on
31-03 - 2023 as per schedule - III of compares Act 2013
Particulars Rs
Revenue from operation 8,00,000
Other income 50,000
Purchases of goods 3,00,000
Salaries to employees 40,000
Leave encashment 10,000
Rent & Taxes 30,000
Repairs to Machinery 20,000
Tax @ 30%
From the following particulars, calculate cash flow fronminvesting) activities.
Particulars Purchases Sales
Plant 4,00,000 50,000
Investments 1,80,000 100,000
Good will 2,00,000 -
Patents - 1,00,000

Additional information:

a)
b)

<)

VII
27)

Interest received on débentures held as investment\Rs.60,000

Dividend received on 'shares held as investment Rs.10,000

A plot of Jand had been‘purchased for.investment purpose and was let out for commercial use and
rest received \Rs:20,000

3x12=36
Rekha, Chethana and Rachana are partner Rs sharing profits and losses in the ratio of 2:2:1

Answer any three questions, Each question carrier 12 marks

respectively. Their Balance sheet an on 31 -03-2023 wan as under :-
Balance Sheet as on 31-03-2023

Liabilities Rs. Assets Rs.
Creditors 30,000 | Cash at Bank 40,000
Bills Payable 10,000 | Debtors 42,000
Reserve fund 30,000 | (-) PDD 2,000 40,000
Capitals: Stock 30,000

Rekha 60,000 | Furniture 15,000
Chethana 50,000 | Machinery 20,000
Rachana 40,000 | Buildings 80,000

2,25000 2,25000

Chethana Retired on 01 - 04 -2023 from the Business. The following adjustment are made
a) Stock to be increased by 20%

b)
) Maintain PDD at 10% on Debtors
Buildings are Revalue at Rs 90,000

Good will of the firm valued at Rs 20,000

Depreciate Machinery and Furniture by 5% each

IR



28)

29)

30)

(As per AS -26)
Prepare: 1) Revaluation account
2) Partners capital account
3) Balance sheet as on 01-04-2023

Akshatha and Pushpa are partners sharing profit and losses in the ratio of 3:2 Balance sheet as
on 31-03-2023
Liabilities Rs Assets Rs
Sundry Creditors 10,000 | Cash at Bank 5,000
Bills payable 10,000 | Bills Receivable 10,000
Akshatha’s loan 5,000 | Sundry debtors 20,000
Reserve fund 10,000 | Stock 15,000
Capitals : Machinery 30,000
Akshatha 30,000
Pushpa 40,000 | Furniture 10,000
MotorCar 15,000
1,05,000 1,05,000

On the above data the firm dissolved thefollowing'information is‘available:
a) Assets realigned as follows : Bills receivable Rs 7500. Sundry:Debtors and stock realised 10% less
than Book value, Machinery. 5% more than Book valueand Motor Car realised for Rs 12,000

=

Furniture was taken‘over by Pushpa at Rs 8,000

@)
~

Dissolution Expenses-were Rs 600

2

All the liabilities were paid in full
Prepare:

1) Realisationa/c

2) Partners a/c

3) Bank a/c

The Vigneshwara company ltd , Issued 10,000 preference shares of Rs 100 each at a premium of Rs 5
per share payable as

Rs 10 on Application

Rs 50 on Allotment ( Including premium )

Rs 45 on First and final call

All the shares were subscribed and the money duly received expect the First and Final call on 500
shares. The Directors for field these shares and re - issued at Rs 80 per shares as fully paid up

Pass the necessary journal entries related to the above information.

Pass the necessary journal entries in the Books of Cauvery company Itd, for the issue of debentures
under the following cases:

a) Issue of 300 8% Debentures of Rs 100 each at a premium of 10% and redeemable at par

b) Issue of 300, 8% Debentures of Rs 100 each at per and redeemable at a premium of 10%

c) Issue of 300, 8% debentures of Rs 100 each at a premium of 5% and redeemable at a premium of 5%

d) Issue of 300, 8% Debentures of Rs 100 each at a discount of 10% & redeemable at a premium of 10%



31) From the following Balance sheet of Ganesh Trading company Itd, as an 31st March 2022 and 31st

march 2023. Prepare Comparative balance sheet.

Particulars 31 -03 -2022 31-03-2023
Rs. Rs.
I Equity and Liabilities
1) Share holder’s fund
a) Share capital 2,00,000 4,00,000
b) Reserves’” and surplus 1,00,000 1,50,000
2) Non - current liabilities
Long - term borrowings 2,00,000 3,008,000
3) Current - liabilities
a) Short - term borrowings 80,000 1,10,000
b) Trade payable 40,000 60,000
Total 6,20,000 10,20,000
IT Assets
1) Non - current assets 1,00,000 3,00,000
i) Tangible assets
ii) Intangible assets 1,00;000 2,00,000
2) Non Current investments 1,00,000 1,25,000
3) Current assets
a) Inventories 50,000 75,000
b) Cash & cash equivalents 1,05,000 1,50,000
c) \Other current assets 1,00,000 1,00,000
d)\ Short = term loans and advances 65,000 70,000
Total 6,20,000 10,20,000
32) From the following information, calculate
a) Inventory turnover ratio b) Trade receivable turnover ratio
c) Trade payable turnover ratio d) Earnings per share
e) Book value per share f) Dividend payout ratio
Particulars Rs.
Inventory 2,00,000
70,000 equity share of Rs 20, each 1,40,000
Cost of revenue from operations 6,00,000
Net purchases 5,00,000
Profit before tax 3,51,000
10% Debentures 3,00,000
Net profit after tax before dividend 2,25,000
Trade receivable 5,00,000
Trade payable 75,000
Dividend declared@ 15 % -




TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 24 II PUC : MODEL QUESTION PAPER -1 No. of Questions: 43
TIME : 3:15 HOURS SUB : GEOGRAPHY MAX.MARKS:80
INSTRUCTIONS:

1. For question No.1 to 15 students are advised to give only one correct answer. In case of
the students give more than one answer, only the first answer written by the student will
be considered.

2. Please substantiate your answers with suitable map, diagram, graph and data etc where
ever necessary.

3. FOR VISUALLY CHALLENGED STUDENTS alternative questions Nog4 1,42 and 43

[ From Section ‘B’ of the text book | are given at the end of the question paper.

I Answer the following multiple choice questions : 1x5=5

1) The growth rate of population according to 2012

a) 1.1 Percent b) 0.8 Percent c)ah9 Percent d) 2.2 Percent
2) Highest Populous countries of Asian Continent

a) Pakistan — Bangadesh b)>China - India

c) Sreelanka — Nepal d) Berma'<Japan
3) Which state has the highest\Sex ratio in India ?

a) Bihar b) Kerala c) West:Bengal d) Uttar Pradesh

4) Alamatti dam located State

a) Karnataka b) Tamilnadu c)Kerala d) Maharashtra
5) HighestBasumati'rice production state of Indai.

a) West Bengal b)Y Punjab c) Andra Pradesh d) Bihar

II Fill in the blanks with appropriate answer given in the bracket: 1x5=5
( Cardmum, Temperate region, Black Pepper, Newyork, Hoogli Rural )
6) Lumbering industry is developed in region.
7) is the famous of the queen of fragrance.
8) is the first Megacity of the world.
9) Biogas is used popularly in region of India.

10) The Kolkata port is located on the bank of river.

III Match the following: 5x1=5
11) The Bushman a) Mathura
12) ISRO b) Oil refinery centre
13) Religion city c) Hooghly Industrial region
14) Koyali d) Kalahari desert
15) Biggest Industrial region e) Mumbai-Pune Industrial region

f) Indian Space Research Organization



IV  Answer the following questions in one sentence: 1x5=5
16) Expand UNDP ?
17) What is Hunting ?
18) What is City ?
19) What is Environment Pollution ?

20) Which state has highest irrigated area in India ?

A"/ Answer any S5 of the following questions in 2-3 sentences each: 2x5=10
21) Mention any two causes for Migration.
22) What are the types of Fishing ?
23) What are the types of Canals ?
24) Mention the states of where the wind farms are located.
25) Write any two gold producing regions of Karnataka.
26) Why Bangalore is called “Silicon Valley” ?
27) Why the cotton textile industry is called “Market’ Oriented Industry” ?

28) What are two majors types Water transportation’.

VI  Answer any 6 of the following questions in 15 to 20 sentences each: 5x7=35
29) Describe the branches of Human Geography.
30) What is Demographic(Cycle 2 Explain the stages of Demographic cycle.
31) Write about the importance of Transportation.
32) Discuss the composition of Indian Population:
33) Analyse the effects of Migration.
34) Explain the Damodar valley project:
35) Explain the importance of Agriculture.
36) Explain the geographical conditions to growth of Paddy Cultivation in India.
37) Discuss the locational factors of Industry.
38) Explain the Iron & Steel Industry in India.
39) Explain the road transportation.
40) Explain the Ports in India.

VII Answer any ONE of the following questions : 5x1=5
41) Construct the Simple Line graph with the help of following data.
India : The trend of Male Average Life Expectancy

1951 to | 1961 to | 1971 to | 1981 to | 1991 to | 2001 to
1961 1971 1981 1991 2001 2011

Years

Average Life
32.5 41.9 52.2 53.6 61.6 65.8

Expectancy (in years)




42) Construct a Simple bar graph with the help of following data.

Decade wise Irrigated Land in India (In Million Hectares)

Years Irrigated Land
1951 20.85
1961 24.66
1971 31.10
1981 38.72
1991 47.80
2001 54.65
2011 57.00
B. Answer the following questions :

43) Construct a Pie-diagram by using the following data.

India : Area under selected Kharif Crops (in Lakhchectares)

Crops Area
Cereals 35.5
Pulses 16.4
Oil seeds 12.0
Commercial crops 1.1.0
Others Sul

OR

Explain the sources of data.

[ FOR VISUALLY CHALLENGED STUDENTS ONLY ]

VII A. Answer any ONE of the following questions in 20-25 sentences :
41) Explain the effects of growth of population.

42) Explain about the Rain water harvesting.

B. Answer the following question :

43) Explain the Industrial regions of India.
OR

Explain the non-conventional energy resources of India.

kkkkk
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TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 28 II PUC : MODEL QUESTION PAPER -1 No. of Questions: 42
TIME : 3:15 HOURS SUB : SOCIOLOGY MAX.MARKS:80
Part - A

I Answer the following questions by choosing the correct answer: 5x1=5

1) The only state of India that had enrolled less than 800 sex ratio as per 2011
census is
a) Gujarath b) Panjab c) Hariyana d) Chandigarh

2) The book “Indian Tribes Through the Ages” was written by
a) G.S Ghurye b) S.V Ketkar c¢) R.C Varma d) M.N\Srinivas

3) The family system of ‘Mahuva’ town was studied by

a) Irawati Karve b) K.M Kapadia c) L.P Desai d) MiN)Srinivas
4) The concept of “Teleshopping” is introduced by

a) Marshall Mcluhan b) MichalAldrich

c) Tim Berners Lee d) Robert Putnam

5) An example of Exclusivist movement is

a) Peasant movement b)tDalit Movement
c) Gorkhaland Movement d) Women’s Movement
II Fill in the blanks with appropriate answer given in the bracket: 5x1=5

( Ronald Robertson, Balawantharai Mehtha, Sukanya Samriddhi,
Karuna Trust, Ador no and Horkheimer; Robert Putnum)
6) Scheme was introduced by Central(Government to Empower girl children.
7) —-------- is \the \Non-Governmentalt Organization working for the development of
Soligas of\Karnataka.

8) Committee suggested the establishment of Panchayath Raj System

9) referred Mass Media as the ‘Cultural Industry’

10) The concept of Globalization is introduced by

III Match the following: 5x1=5
A B
11) Oriental M.N Srinivas
12) Policy of Integration Rupert Murdoch
13) Sulabh International Self-Respect Movement
14) Media Tycoon Racial Group
15) E.V Ramaswamy Naicker Dr. Bindeshwar Pathak

Dr. G.S Ghurye



IV  Answer the following questions in one sentence 5x1=5
16) Mention the meaning of the term “Dvija” ?
17) Who was the Chairman of the first Backward Classes Commission of India ?
18) Expand SCP.
19) What is Village ?
20) Expand SNDP.
Part - B
A"/ Answer any 5 of the following questions in 2-3 sentences each: 5x2=10
21) What is Regionalism ?
22) Name two dominant castes of Karnataka.
23) What re Self Help Groups ?
24) Mention any two Stressors responsible for farmer’s suicide.
25) What are Slums ?
26) Mention any two Indian Business families belong to.-Marwari . community.
27) What is Social Movement ? Define.
28) Mention any two causes for Modernization:
29) Name any 2 International Non-Governmental Organizations.
Part = C
VI Answer any 6 of the following questions in 15 to 20:sentences each: 6x5=30
30) Explain the Nature of Unityin:India.
31) Explain the Structural Changes in Joint Family:
32) Write a note-on Tarawad.
33) Explain any\five problems of Indian:Cities.
34) What is Mc Donaldization ? Explain the guiding principles of McDonald Company.
35) Write a short note on “Aakashavani”.
36) Briefly explain the major issues of Karnataka Rajya Raitha Sangha.
37) Write a note on Backward Classes Movement in India.
38) Explain the major factors of Sanskritization.
Part -D
VII Answer any 2 of the following questions in 30 to 40 sentences: 2x10=20
39) Define Demography. Explain the major characteristics of Demographic Profile of
India.
40) Explain the changes in caste system in Post Independent India.
41) Explain the Tribal Welfare Programmes in India.

42) What is Rural Development ? Explain Rural Development Programmes of India.
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TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 28 II PUC : MODEL QUESTION PAPER -2 No. of Questions: 42
TIME : 3:15 HOURS SUB : SOCIOLOGY MAX.MARKS:80
Part - A

I Answer the following questions by choosing the correct answer: 5x1=5

1) Sex Ratio of Karnataka According to 2011 census

a) 965/1000 b) 973/1000 c) 940/1000 d) 1094/1000
2) ‘History of caste in India’ was written by
a) M.N Srinivas b) J.H Hutton c) S.V Kethkar d) Herbert Rizely
3) “Mooka Nayaka” Paper started by
a) Mahatma Gandhiji b) Sardar Vallabhai Patel
c) Bindeshwar Patak d) Dr.B.R Ambedkar
4) Who called the Indian Joint family as a Great Home ?
a) I P Desai b) Irawathi Katrve
c) K.M Kapadia d) Henry Maine
5) Father of Green Revolution in India.
a) M.S Swaminathan b)TAR Desai
c) Vargees Kuriyan d) Sam Pitroda
II Fill in the blanks with appropriate answer given in the bracket: 5x1=5

( M.S Ghurye, B.Shyamasundar, M.N Srinivas, Gunnar Myrdal,
St. Thomas & St Bartholomew)
6) “Asian Drama’ Book, written by
7) “Bheema Sena’organized by

8) “Social change in Modern India™beok written by

9) and are believed to have brought Christianity to India.
10) called Tribes as “Backward Hindus”
III Match the following: 5x1=5
A B
11) SEWA Health Insurance for farmers
12) Pushkar Annual Fair [la R Bhatt
13) Yashaswini Rajasthan
14) Sathya Shodhaka Samaj Achille Guillard
15) Demography Dr. Bindeshwar Pathak

Jyothirao Pule



IV  Answer the following questions in one sentence: 5x1=5
16) What is National Integration ?
17) Who introduced the concept of Dominant caste ?
18) Expand NCW.
19) Who started the news paper Samvad Koumudhini ?
20) Where is the organization “Vimochana” situated ?
Part - B
A"/ Answer any 5 of the following questions in 2-3 sentences each: 5x2=10
21) Mention any two Dravidian languages.
22) Name any two backward classes Commissions of Karnataka.
23) What is Women Empowerment ?
24) Mention any two objectives of Land Reforms.
25) Mention any two problems of Urban area.
26) Mention the two types of Mass India.
27) Mention any two factors that cause to Kagodu Sathyagrah.
28) Define Westernisation.
29) Mention any two Multinational companies:
Part = C
VI Answer any 6 of the following questions in 15 to20 sentences each: 6x5=30
30) Explain the Racial groups.classified by B.S Guha:
31) Explain any five charactetistics of Joint family.
32) Explain the causes of bring changes in Joint family briefly.
33) Explain theuimportance of Village studies:
34) Write a short. notes on Virtual:Markets:
35) What is Mass’'Media ? and Explain their functions.
36) Explain the factors which led to Agrarian movements according to Kathaleen
Gaugh.
37) Explain the causes for women movements in recent days.
38) “Barbie Doll” Truly a global Citizen” Discuss.
Part -D
VII Answer any 2 of the following questions in 30 to 40 sentences: 2x10=20
39) Define Diversity and Explain the types of Diversity in India.
40) Define Caste System and Explain the characteristics of Caste System.
41) Explain the role of Mahatma Gandhi and Dr.B.R Ambedkar in eradicating
untouchably.
42) What are the measures that control formers suicides in Karnataka taken by

Government ?
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TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 29 II PUC : MODEL QUESTION PAPER -1 No. of Questions: 42

TIME : 3:15 HOURS SUB : POLITICAL SCIENCE MAX.MARKS:80

I Answer the following questions by choosing the correct answer : 5x1=5
1) World’s largest democratic nation is

II

III

IV

2)

3)

4)

5)

6)
7)
8)
9)

a) America b) China c) India d) Russia
The party system in India is

a) Single party system b) Dual party system

c) Multi party system d) None of these above

The news paper “ Mook Nayaka” is started by

a) Mahatma Gandhi b) Dr i B R. Ambedkar
b) Jyotiba phule d) Raja Ram Mohan Roy

Root word of Terrorism

a) Terrere b) Rupere c) Coalitio d). Nene of the above
LPG accepted in India
a) 1947 b) 1950 c) 1991 d) 2000

Fill in the blanks choosing the correct answers given in the brackets below.
General Election is held in years once. 5x1=5
“KPSC” Chairman appointed by

World Environment day:

One type of Corruption

10) Father of Indian \Foreign policy

( Governor; Contributions, Jawaharlal Lal’ Nehru, Five years, June -05, President)

Match the following: 5x1=5
11) Appointment of Election Commissioner a) 6 to 14 Year age children
12) Right to Education b) Jia-ur- Rehaman
13) C.M.P c) Mummar Gaddafi
14) Dictator of Libya d) Common Minimum Program
15) Father of SAARC e) Sheak mugibhar Rehaman

f) President

Answer the following questions in one sentence each 5x1=5

16) Give the meaning of the word Administration.

17) Who started Education for exploited- woman’s ?

18) Who is the Present Lokayuktha of Karnataka State ?
19) Expand “I M F”

20) What is the colors Racism ?



A"/ Answer any Five of the following questions in 2-3 Sentences each: 5x2=10
21) How many states was Punjab dividen into? Which are there ?
22) Name two main factors of 1947 Independent act.
23) Name the tri-members of state reorganisation committee.
24) What is Coalition Government? Give example.
25) Write two function of Chief Secretary.
26) State two objectives of UNO.
27) Name two member Nations of “SAARC”
28) Who were the Signatories of Simla Agreement ?
29) Name any Two Military alliances.
Part - C
A"/ Answer any six of the following questions15-20 sentences each 6x5=30
30) Write in detail about the Government of India Act 1935.
31) Explain the uses of Electoral voting Machine.
32) Write about 3 Types of Indian Civil Services Class.
33) What are the main reasons for peasant movement ? Explain.
34) What are the reasons for Dalit Movement? Explain.
35) Write about the merits of Coailation System of Government:
36) Explain the Political impacts of Liberalisation.
37) Describe the Democratic Movements of Nepal.

38) Write a note on Indian Non <Alignment — Movement.

VI Answer anyTwo of the following questions in 30-40 sentences each:
39) Explain the powers and function of Election Commission of India. 2x10=20
40) Describe the hindrances and the remedial measures to eliminate Nation building.
41) Discuss the meaning Importance and Political Impacts of Privatisation.

42) Explain the concept of International Relations.

3k 3k %k %k %k



dehaech #uy 300 Bede Sedearid wgeecheT Rog, Debaedh

STk Bodez: 29 Q3cod 2okor: =REO T, BE-1 wid), B ieh: 42

%
Dok 1 3nows 15200 QO™ Uaz:émg nom wosnsh: 80
TON—N
I 33 NS ag%ﬂez?ﬁ TOC3T emgcswm& 202 WBoWO : 5x1=5
1) ®RIT T TpIIE ted
Q) @Weos W) Wee 2) T3 Q) Tw,
2) T3 wg wcjpé
Q) o3 TP ) Q8 IG3 ) WRTE G B) )
3) TRITONT TYF GTOPATHT:
Q) mmse moy V) Il 0..3TF. ol3eT
) z.%zseé W B Q) CoeRTe0 PR

II

III

v

4) B3reTBICH RO IT

N\
Q) 433 0) ToEHT* 2) %.raeoboc?e& IR BRJT VY
,‘\

5) $eSsng LPG 230n wolwy —
) 1947 ®) 1950

a0 Wiy BERER $TTRTY BLITHT B0
6) TOTFYT TR

8) 23 IOXT QN
9) PIRPVTT WOT> TR
10) 2503 ATeon S

Zro0A wdoca
\%}" D) 6603 14 IRET g

N
\§\\ D) 2oiR— e —SRERE

5x1=5

13) 2.0 2) msmce N
14) ORP3RT ATOBTYTO ) mmsﬁ B TR
15) D3R JTTDT Q) e WS SBIPT

F°) mgwa
=

3ENT TJNVR 2.0 TeETY LVZON ¢ 5x1=5
16) “SROZT” ITT WPEEER ?

17) 30ca8 BoBon %gw TRTORAT T 833 SR ?

18) TDT FTorwZm SReF3NITY OBRTL ?



19) “I M F” &b, 702
20) Teardew Qe owdese ?
ON—-W

\Y/ NS C3RPTenTR 05 IFROR TodowER, 2-3 HINEY O30 : 5%2=10

21) womw@:&l DT, cazséﬁe}melﬁ QONBICROND ? ¥F) ABRH) ?

22) 19478 mp30E,, F9CH O QTW> FosTREINTTY, THOR.

23) OOz THVT® T BWI0H SRTHTW, IO

24) BNZ BRET QOT3eR ? VTR BRR.

25) S8), TCHETHFCH ATW TORENRTT, W3000.

26) 23 50%05; 2 emzfg;z'ﬁrie:r*abel 392,

27) TS QTR ITF, mﬁnm& XZOR.

28) ATR LITORTO T ToITWETITY ?

29) C3RTYTRTIR QTR WOLD WEANTRY, D02
. \\

AR
VI 3 #8903 cmmymeacs 06 IZRen mecieonss, 15-20 ﬁ\@ : 6x5=30

30) 19358 403 2FFOR ok, PO 2300,

31) acsosmes TI0HOZN0T BT :a;o&raczsmeésoel m
32) P0IBT ToNOes Besw WNEs é)qsmfssi1 )

c }\w‘:‘&‘a
SN
\
M

b IZAOR BIc3ROTER V=40 TYRYY 0IOR : 2x10=20

41) aRTACTTED OFPE, @dw@%@" TH3Zy TowIEAD wammﬁm& W R0.
42) @oém%@oﬁa ToWoFNY was@ﬁmfs{l QWO

skskokeskoksk



TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 29 II PUC : MODEL QUESTION PAPER -2 No. of Questions: 42
TIME : 3:15 HOURS SUB : POLITICAL SCIENCE MAX.MARKS:80
Part - A
I Answer the following questions by choosing the correct answer: 5x1=5
1) Speaker of the first Lokasabha
a) Dri B.R. Ambedkar b) G.V Mavalankar
c) Dn Babu Rajendra Prasad d) Jawaharlal Nehru

2) What is the minimum age of voter in India.
a) 18 Years b) 19 Years c) 20 Years d) 21 Years
3) Sardar vallabh Bhai Patel Police Academy exisit in

a) Bangalore b) Mumbai c) Massoorie d).‘Hyderabad

4) “Akshara Kranthi” Advocated by
a) Savithraba Phule b) JyotibasPhule
c) Raja Ram Mohan Roy c) Mahatma Gandhi

5) Awarded of Indira Gandhi Prize for Peace in 2013
a) Chancellor Angela Merkel b)\'Nelson Mandela
¢) Manmohan Singh d). Sushma Swartaj

II Fill in the blanks with appropriate answer given in the bracket: 5x1=5

6) Head of the District administration

7) U.D.H.R. Expand form

8) Identifier of Identity politics
9) UNO Head office:locates
10) Member Nations:of SAARC

( L.A Kauffman, Eight, District Commissioner, New York,

Universal Declaration of Human Rights, Daka )

III Match the following: 5x1=5
A B
11) Political Neutrality Non - Align Policy
12) Appiko Movement 1947
13) Banga Bandu Civil Service Class
14) NAM North Kannada
15) First Nuclear Test Sheak Mujibar - Rehaman

1998



IV  Answer the following questions in one sentence 5x1=5
16) What is Dyarchy ?
17) Expand EPIC.
18) What is Gender Inequality?
19) Which day is Celebrated as National Voter’s day?
20) What is Uni—Polarity?
Part - B
A"/ Answer any 5 of the following questions in 2-3 sentences each: 5x2=10
21) How many states was Bombay divided into ? Which are they?
22) What is Hierarchy?
23) Name any two leaders of Karnataka Rajaya Raitha Sanga
24) What is Maryada Hatya?
25) What is Neighborhood Peace Committee ?
26) What is Collective leader Ship?
27) What is Brain drain ?
28) What is Bi-Polarity ? Give an example?
29) Name any two code names of Nuclear Test . Conducted by India.
Part —C
VI Answer any 6 of the following questions'in 15 to 20 sentences each: 6x5=30
30) Write about First General Election of India.
31) Explain 5 function of D:C
32) Explain the reasons for\Environmental movement.
33) Explain the reasons for Human Rights:Movements
34) Write the Organisation and Function of Lokayukta.
35) Explain Various Emergency Provisions in our Indian Constitution.
36) Explain the nature of Crony Capitalism.
37) Write about India BRICS relationship.
38) Write Panchasheela Principles.
Part -D
VII Answer any 2 of the following questions in 30 to 40 sentences: 2x10=20
39) Explain the Function of Political Parties.
40) How Illiteracy is an Impediment to Democracy ? Explain its remedies.
41) Explain the Meaning importance and political impacts of Liberalisation.

42) Explain the objectives, Principles and Organisation of UNO.
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TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 33 II PUC : MODEL QUESTION PAPER - 1 No. of Questions: 48
TIME : 3 hours 15min. SUB : PHYSICS MAX.MARKS:70

General Instructions:

1.
2.
3.

All parts are compulsory.

For Part-A questions, first written-answer will be considered for awarding marks.

Answers without relevant diagram/figure/circuit wherever necessary will not carry any
marks.

Direct answers to numerical problems without detailed solutions will not carry any marks.

PART-A
Pick the correct option among the four given options for ALL of the“following
guestions: 15X1=15

. The electric field due to a dipole at large distancer falls off as

(A) 1/r (B) 1/vr (©) 1/r? (D) 1/

A metallic sphere of radius R is charged to a potential VV. Then.the charge q is proportional
to

(A) V only (B) R only (C) both V and'R\\>(D)-none of these

When the length of a conductor of resistance R is:doubled, the new resistance will be

(A) 2R (B) R (CYR/2 (D) R/4

The magnetic force acting on a particle ‘ofcharge g moving. perpendicular to an external
magnetic field B with velocity v is

(A) zero (B) qvB (C) qv/B (D)q/vB

Below are the two statements related to magnetic field lines:

Statement-I: If a barimagnet is cut into twopieces, two’'smaller magnets are obtained.
Statement-1l: Magnetic. monopoles do not.exist.

(A) Both the statements | and Il arecorrectand Il is the correct explanation for I.

(B) Both the statements | and Il are correct but Il is not the correct explanation for I.

(C) Statement | is correct and statement Il is wrong.

(D) Statement | is wrong and statement Il is correct.

When the north pole of a bar magnet is moved away from a stationary coil, which one of the
following statements is true:

(A) the magnetic flux through the coil increases.

(B) a current is induced in the coil in clock-wise direction with respect to an observer on the
side of magnet.

(C) the coil behaves as a north pole.

(D) the caoll repels the magnet.

When an iron core is inserted into a solenoid, its self-inductance

(A) increases (B) decreases (C) remains same (D) becomes zero



8. The phenomenon of resonance is exhibited by an AC circuit only if

(A) both resistance and inductance are present in the circuit.
(B) both resistance and capacitance are present in the circuit.
(C) both inductance and capacitance are present in the circuit.
(D) either inductance or capacitance is present in the circuit.

9. The electromagnetic waves which cause tanning of the skin are
(A) microwaves (B) radio waves (C) visible rays (D) ultraviolet rays

10.Two thin lenses of power -15 D and +5 D are placed in contact co-axially. The focal length
of the combination is

(A)-10 cm (B) -20 cm (C) +10 cm (D) +20 cm

11.The phenomenon in which light seems to turn around corners of an obstaclecand enter
regions where we would expect a shadow is called

(A) Interference (B) Diffraction (C) Refraction (D) Polarisation
12. According to particle nature of light, which one of the following statements is true:

(A) photons are deflected by electric and magnetic fields.
(B) photons cannot travel through vacuum.
(C) photon energy is independent of intensity of radiation.
(D) photon does not have a momentum.
13.The minimum energy required to free an_electron.from the ground-state of the hydrogen
atom is
(A) threshold energy (B) excitation energy.
(B) ionisation energy (D) free energy

14.The radioactive decay in which a helium nucleus is emitted.is
(A) a —decay (B)ft =decay (C)-B==decay (D) y —decay
15.1n a p-type semiconductor,>which of the-following statements is true:

(A) Electrons are.majority carriers and trivalent atoms are the dopants.

(B) Electrons are 'minority carriers and:pentavalent atoms are the dopants.
(C)Holes are majority carriers and trivalent atoms are the dopants.
(D)Holes are minority carriers and pentavalent atoms are the dopants.

Fill in the blanks by choosing appropriate answer given in the bracket for ALL of the
following questions: 5X1=5
[isotones, intensity, energy gap,isotopes, zero, Lenz’s law]

16.The magnetic force acting on charged particle moving parallel to a uniform magnetic field is

17.The polarity of induced emf is given by

18.Polaroids can be used to control the of light.

19. Nuclides with same neutron number are called

20.The gap between the top of the valence band and bottom of the conduction band is called
the




PART-B
Answer any FIVE of the following questions: 5X2=10

21.State and explain Gauss’s law in electrostatics.

22.Calculate the electrostatic potential at a point P due to a charge of 4 x 10~7C located 0.09 m
away.

23.Write the expression for magnitude of magnetic field inside a long solenoid and explain the
terms.

24.Give the value of magnetic susceptibility and relative permeability for a perfect diamagnet.
25.What is an AC generator? Mention the principle on which it works.

26.What is resonance in a series LCR circuit? Give the relation between inductive reactance
and capacitive reactance at resonance.

27.What is displacement current? Write the expression for displacement current.

28.What is a microscope? Draw the ray diagram showing a simple microscope when the
image is formed at infinity.

29.Distinguish between intrinsic and extrinsic semiconductors.

PART-C

Answer any FIVE of the following questions: 5X3=15
30. Mention the basic properties of electric charge.
31.Deduce the relation between electric field and electric potential.

32.State and explain Kirchhoff’'s junction ‘rule:: Mention the princCiplevon \which Kirchhoff’'s
junction rule is based.

33.How do you convert a galvanometer.into-an ammeter?. Draw:the circuit diagram showing
the conversion. Define current sensitivity.

34.List any three properties of paramagnetic materials:

35.Arrive at the expression for motional emfunduced-in a metal rod moving in a uniform
magnetic field.

36.What is meant by total internal reflection? Write the two necessary conditions for it.
37.State the postulates of Bohr’s model of hydrogen atom.

38.Calculate the binding energy (in MeV)of an iron nucleus (3¢Fe). Given m (3¢Fe) =
55.934939 u.

PART-D
Answer any THREE of the following questions: 3X5=15

39.0ODbtain the expression for capacitance of a parallel plate capacitor with air between its
plates. How does the capacitance change when the air between its plates is replaced by a
dielectric?

40.Derive the expressions for effective emf and effective internal resistance when two cells are
combined in series.

41.Derive the expression for force per unit length between two long straight parallel conductors
carrying current in the same direction. Hence define ampere.



VI.

42.(a) Define wavefront. Which type of wavefront is produced by a point source? (2)
(b) Using Huygens principle show that the angle of incidence is equal to the angle of

reflection when a plane wavefront undergoes reflection. 3)
43.(a) What is meant by photoelectric effect? (1)
(b) Write the experimental observations of photoelectric effect. 4)

44.What is rectification? Explain the working of a half wave rectifier using the circuit diagram.
Also draw its input-output waveforms.

Answer any TWO of the following questions: 2X5=10

45.Two point charges +5 uC and -5 puC are located 0.2 m apart in vacuum. (a) What is the
magnitude of electric field at the midpoint of the line joining the two charges? (b) If a test
charge of —1.5 nC is placed at this point, what is the magnitude offorce experienced by the
tesst charge?

46.A copper wire with area of cross-section 10~°m? carries.a current of 2 A. If the number
density of free electrons in copper is 8 x 1022m™3, calculate the current density and drift
velocity.

47.A 220V, 50 Hz ac source is connected to antinductance’ of 0.1 H and resistance of 10 Q in
series. Calculate (a) inductive reactance, {b)impedance and (c) the \current in the current.

48.A beam of parallel light is incident on\a‘face of-a glass prism of refracting angle 60°. If the
angle of minimum deviation is measured to be 40°, what.is the\refractive index of glass? If
the prism is immersed in waterof refractive index 1.33;.what is the new angle of minimum
deviation?



TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 33 II PUC : MODEL QUESTION PAPER - 2 No. of Questions: 48
TIME : 3 hours 15min. SUB : PHYSICS MAX.MARKS:70

General Instructions:

1.

2
3.
4

All parts are compulsory.

. For Part-A questions, first written-answer will be considered for awarding marks.

Answers without relevant diagram/figure/circuit wherever necessary will not carry any marks.
. Direct answers to numerical problems without detailed solutions will not carry any marks.

PART-A
Pick the correct option among the four given options for ALL of the following
guestions: 15X1=15
. The electric force per unit charge is known as
(A) Electric flux (B) Electric field
(C) Electric potential (D) Electric current

. A parallel plate capacitor with air between its plates has a_ tcapacitance of C. If the distance

between its plates is reduced to half and the air between the plates is replaced with a
substance of dielectric constant 5, the new capacitance will be

(A) C (B)2C (C) 5.€ (D) 10 C

. The Sl unit of mobility is

(A) m?/Vs (B) m?V/s (€)mss/v (DXm?Vs

. The magnetic moment of a circular.current loop of radius r.varies-as

(A) r (B) 1/r (C) r? (D) 1/r?

. Below are the two statements related to magnetic field\lines:

Statement-1: When a superconductor iscplaced: in-an-external magnetic field, the field lines
are completely.expelled.

Statement-Ik \Superconducting “rmagnetsiiare used for running magnetically levitated
superfast trains.

(A) Both the statements | and Il are correct and Il is the correct explanation for 1.

(B) Both the statements | and Il are correct but Il is not the correct explanation for 1.

(C) Statement | is correct and statement Il is wrong.

(D) Statement | is wrong and statement Il is correct.

. Lenz’s law is a consequence of the law of conservation of

(A) charge (B) energy (C) induced emf (D) induced current
. The self-inductance of a coil depends on

(A) number of turns in the coill (B) permeability of the medium

(C) area of the caoll (D) all of these

. The relation between peak voltage (v,,) and rms voltage (V) in an ac circuit is

(A) v =V/V2 (B) v =V/2 (C) v =V2V (D) vy, = 2V2V

. The electromagnetic waves which are used in the TV remote controls are

(A) infrared waves (B) ultraviolet rays (C) X-rays (D) Gamma rays



10.A convex lens is immersed in a liquid whose refractive index is equal to the refractive index
of the lens. Then its focal length

(A) will become zero (B) will decrease, but not become zero
(C) remains unchanged (D) will become infinite

11.When a plane wave passes through a convex lens, the emerging wavefront is

(A) spherical and converging (B) spherical and diverging
(C) plane (D) tilted
12.1In photoelectric effect, maximum kinetic energy of emitted photoelectrons depends on
(A) intensity of incident light (B) frequency of incident light
(C) nature of the emitter material (D) both (B) and (C)

13. According to Rutherford’s nuclear model of atom, the necessary centripetal force, for orbiting
electron is provided by

(A) Nuclear force (B) Magnetic force
(C) Electric force (D) Gravitational force

14. Among the following statements related to nuclear force, the wrong statement is

(A) nuclear force is the strongest force in nature
(B) nuclear force is a short-range force
(C)nuclear force charge-independent force
(D) nuclear force is always attractive
15.When a forward bias is applied to a p-njunction;.it

(A) raises the potential barrier (B)' reduces majority:carrier-current to zero
(C) lowers the potential barriet (D) widens the depletion region

Fill in the blanks by.choosing appropriate answer given in the bracket for ALL of the
following questions: 5X1=5

[mass defect;half,equal, Lorentz forcesdoping, electromagnetic induction]

16.The force experienced by a charged ‘particle moving in presence of both electric and
magnetic field is

17.The phenomenon in which electric current is generated by varying magnetic fields is called

18.1f the light from an ordinary source is passed through a polaroid sheet, its intensity is
reduced by

19.The difference in mass of a nucleus and its constituents is called

20.The electrical conductivity of a pure semiconductor can be increased by

PART-B
Answer any FIVE of the following questions: 5X2=10
21.What is an electric dipole? Define electric dipole moment.

22.A 900 pF capacitor is charged by 100V battery. Calculate the energy stored by the
capacitor.



V.

23.Define magnetic moment of a current loop. Mention its S unit.

24.Write the expression for torque on a magnetic dipole in a uniform magnetic field and explain
the terms.

25. State and explain Faraday’s law of electromagnetic induction.

26.What is a transformer? Mention any one source energy loss in a transformer.
27.List any two properties of electromagnetic waves.

28. State the two laws of refraction of light.

29.Define the terms (a) depletion region and (b) barrier potential in a p-n junction.

PART-C
Answer any FIVE of the following questions: 5X3=15
30. Write any three properties of electric field lines.

31.0Obtain an expression for the effective capacitance of a parallel combination: of \two
capacitors.

32.State Ohm’s law. Mention any two limitations of Ohm’s law.

33.How do you convert a galvanometer into a voltmeter? Drawthe circuit'diagram showing the
conversion. Define voltage sensitivity.

34.List any three differences between diamagnetic substances and ferromagnetic substances.
35.Deduce the expression for self-inductance of along selenoid.

36.What is a telescope? Mention the two types of telescopes based.on type of objectives.
37.Give the de Broglie’s explanation of Bohr!sisecond postulate (of quantisation.

38. Calculate the energy equivalent-of\1 g.of.substance and express the energy in MeV.

PART:=D
Answer any THREE ofthe following questions: 3X5=15
39. Obtain the expression for electrostatic potential at a point due to a single point charge.
40.Obtain the condition for balance of a Wheatstone bridge using Kirchhoff’s rules.

41.Derive an expression for the magnetic field at a point on the axis of a circular current loop
using Biot-Savart law.

42.(a) Obtain an expression for the resultant intensity at a point when two waves from coherent

sources superpose. (3)
(b) Arrive at the condition for constructive interference in terms of phase difference and path
difference between the two waves. (2)
43.(a) Write Einstein’s photoelectric equation and explain the terms. (2)
(b) Give Einstein’s explanation of photoelectric effect. (3)

44.What is a rectifier? Explain the working of a full wave rectifier using the circuit diagram. Also
draw its input-output waveforms.



VI. Answer any TWO of the following questions: 2X5=10

45. A spherical conductor of radius 12 cm has a charge of 1.6 x 10~7C distributed uniformly on
its surface. Calculate the electric field (a) on the surface of the sphereand (b) at a point
18 cmaway from the centre of the sphere.

46.A cell supplies a current of 0.9 A through a 2 Q resistor and a current of 0.3 A through a 7 Q
resistor. Calculate the internal resistance and emf of the cell.

47.A 50 Q resistor and a 10 pF capacitor are connected in series with @ 230 V, 20 Hzac source.
Calculate (i) capacitive reactance (ii) impedance (iii) the currentdn the circuit.

48.The radius of curvature of the convex surface of a Planosconvex lens is equal to 10 cm. If
the material of the lens has a refractive index of 1.5,(what is:the focal length of the lens?
Also calculate the refractive index of the liquid in which'the.lens has to be immersed so that
its focal length gets doubled.



TUMKUR DISTRICT PU COLLGES' PRINCIPAL'S ASSOCIATION (R.)
Sub Code: 34 II PUC : MODEL QUESTION PAPER - 1 No. of Questions: 49
TIME : 3 hours 15min. SUB : CHEMISTRY MAX.MARKS:70

General Instructions:

1. The question paper has five parts having 49 questions. All the parts are compulsory.

2. a. PART-A carries 20 marks. Each question carries 1 mark.
b. PART-B carries 06 marks. Each question carries 2 marks.
c. PART-C carries 15 marks. Each question carries 3 marks.
d. PART-D carries 20 marks. Each question carries 5 marks.
e. PART-E carries 09 marks. Each question carries 3 marks.

3. In Part-A questions, first attempted answers will be considered for awarding marks

4. Write balanced chemical equations and draw neat labelled diagrams and graphs wherever
necessary.

5. Direct answers to numerical problems without detailed steps and specific unit for final
answer will not carry any marks.

6. Use log tables and simple calculator if necessary (use of scientific calculator is not allowed)

PART- A
I. Select the correct option from the given choices 15x1=15
1. A solid solution having liquid as the solute component is
a) Amalgum of mercury in sodium b) Copper dissolved in gold
¢) Glucose dissolved in water d) Solution of hydrogen in palladium
2. The 2-1electrolyte is
a) NaCl b) MgCl, c) CaS0Oq4 d) KBr

3. During electrolysis of aqueous sodium chloride solution, the reaction prevented at anode due
to over potential is

a)Clag—> "% Clhh+e b) HoOp + € — % Hog + HO (ag

¢) H @g + € — 2 Ha d) 2 HoOp — Oz + 4 H'ag + 4 €
4. Hydrolysis of ethylacetate with excess of water is

a) Second order reaction b) First order reaction

c) Pseudo first order reaction d) Zero order reaction

S. The ion with 3d5 configuration is
a) Mn+*2 b) Zn+3 c) Fe+2 d) Ni+2

6. The coordination number of central metal ion in complex [CoClz(en).]" is

a) 3 b) 4 c) 6 d) 5
7. Zero optical rotation is exhibited by

a) Racemic mixture b) Dextro rotatory

c) equimolar mixture of enantiomers d) Both a and c

8. IUPAC name of CeHsOC:Hs is
a) Ethylphenyl ether b) Ethoxy benzene
c) Phenoxy ethane d) Phenylethyl ether

9. The compound with intramolecular hydrogen bonding is
a) 2-Nitrophenol b) 4-Nitrophenol ¢) 2-Nitroaniline d) 4-Nitroanisole

10. The product formed when aldehydes and ketones are treated with hydroxylamine is
a) Imine b) Hydrazone c) Schiff’s base d) Oxime



11. The carboxylic acid that shows Hell-Volhard-Zelinsky reaction is

a) CFz:COOH b) CH;COOH c) HCOOH d) CeHsCOOH
12. The correct order of basic strength in following amines in aqueous solution is

a) (C2H5)3N > (CQHs)QNH b) CoHsNH, > (CQH5)3N

C) CH3NH;, > (CHs)sN d) CHsNH; > (CH3)2NH
13. RN;'X  is the general formula of

a) Anilinium ion b) Amine salt

¢) Ammonium salt d) Diazonium salt

14. Two or more polypeptide chains are held together in
a) Secondary structure of protein b) Primary structure of protein
¢) Quaternary structure of protein d) Tertiary structure of protein

15. Rickets is caused by the deficiency of vitamin
a) E b) D c K d A

II. Fill in the blanks by choosing the appropriate word from those given in brackets: 5x 1 =5
(Scandium, Two, Molecularity, Freons, Primary amines, order)
16. The von’t Hoff factor of MgSOy is

17. of a reaction is applicable to both elementary and complex reaction.
18. does not exhibit variable oxidation state.
19. The chlorofluorocarbon compounds of methane and ethane are

20. The carbylamine reaction is test for

PART-B
III. Answer any THREE of the following questions. Each question carries two marks. 3 x 2 = 06
21. How does boiling point of a solution vary when acetone is added to ethanol? Give reason.

22. Explain the effect of catalyst on a rate of a spontaneous reaction and plot potential energy
diagram for the same.

23. Write the geometrical isomers of [Pt(NH3z)2Cls].

24. Explain Swartz reaction with an example.

25. What is the name of ammoniacal silver nitrate solution? Discuss the observation made when
aldehydes are treated with above reagent.

26. Write the Haworth structure of Maltose.

PART - C
IV. Answer any THREE of the following questions. Each question carries 3 marks. 3 x 3 = 09
27. How is Potassium dichromate (K2Cr.07) manufactured from chromite ore?

28. a) Draw the structure of permanganate ion. Comment on its magnetic nature.
b) Write the ionic equation for the oxidation of H.S using KMnO4 in acidic medium.
29. What is Lanthanoid contraction? Mention two of its consequences.

30. What are homoleptic and heteroleptic complexes? Give one example for heteroleptic complex.



31.

32.

Using Valence Bond Theory (VBT), explain the geometry, hybridization and magnetic property
of [Co(NHj3)s]3- . (Z for Co is 27)
A) Draw the energy level diagram for the crystal field splitting in octahedral complexes.

b) Name the interaction responsible for the stability of metal carbonyls.

V. Answer any TWO of the following questions. Each question carries 3 marks. 2x3=06

33.

34.
35.

36.

a) State Henry’s law along with its mathematical expression.

b) Name the condition leading to low concentration of oxygen in blood of people at higher
altitude.

With a neat labeled diagram explain the working of H»-O5 fuel cell.

a) Define limiting molar conductivity. Mention its unit.

b) What is the effect of dilution on molar conductivity of an electrolyte.

Derive an integrated rate equation for the rate constant of a Zero order reaction.

PART- D

VI. Answer any FOUR of the following questions. Each question carries 5 marks. 4x5=20

37.

38.

39.

40.

41.

42.

a) Explain Sy! mechanism for the hydrolysis of tertiary butylbromide (2-Bromo-2-
methylpropane).
b) Explain Wurtz- Fittig reaction with a suitable example.

a) Complete the following chemical reactions

H;C
(i) H,C— C— OH Y ?
& 573
Zymase
(i) CsH,,05 ? + 2CO,
H H PCC
(i) H,C— C=C— CH,OH ?

b) Explain Williamson’s ether synthesis with general equation.

a) How is phenol manufactured from cumene (isopropylbenzene)? Give the chemical reaction

b) Write the chemical equation for the reaction of phenol with bromine water.

a) Discuss the mechanism of addition of HCN to aldehydes and ketones in presence of NaOH

b) Explain Rosenmund reduction with a suitable example.

a) An organic compound ‘A’ (molecular formula (C4HgO2) on hydrolysis with dilute H>SO4
gives a carboxylic acid ‘B’ and an alcohol ‘C’. Oxidation of ‘C’ with chromic acid produced
‘B’, whereas dehydration of ‘C’ gives ethene. Identify A, B and C.

b) Among 4-methoxy benzoic acid and benzoic acid which is more acidic? Give reason.

a) Explain Hoffmann Bromamide degradation reaction with general equation.



b) How does methanamine reacts with benzoylchloride? Give the chemical equation.
c) Write the IUPAC name (CH3)2NCH2CH3
43. a) Write the chemical reactions to elucidate
i) Presence of six carbon atoms in glucose.
ii) Carbonyl group present in glucose is aldehydic.
b) What is zwitter ion of an amino acid? Give its general structure.

¢) Which hormone is responsible for the development of secondary male characteristics?

PART E
VI. Answer any THREE of the following questions. Each question carries 3 marks. 3 x 3 = 09
44. The vapour pressure of pure benzene at certain temperature is 0.850 bar. A non volatile,

non electrolyte solid weighing 0.5g when added to 39.0g of benzene (molar mass 78gmol-!),
the vapour pressure of the solution is 0.845 bar. 45g of ethylene glycol (C2HeO2) is mixed
with 600g of water. Calculate the molar mass of the solid.

45. 9g of glucose (molecular mass 180gmol-1) is dissolved in 500g of water. Calculate
a) elevation in boiling point and
b) the boiling point of the solution. (Given Ky for water is 0.52 Kkgmol-?)

46.Calculate the EMF for a reaction Mg + 2Ag*0.0001m) = Mg2+0.130m) + 2 Ag(s) at 298K.
(Given: E° (Mg2+/Mg) = -2.37V, E° (Ag*/Ag) = 0.80V )

47.Resistance and conductivity of a 100molm-3 KCI1 solution taken in a conductivity cell is found
to be 100Q and 1.29 Sm-! respectively. Calculate the conductivity and molar conductivity
when the same cell filled with 20 molm-3 KCI solution having a resistance 520Q.

48.Show that in a first order reaction, the time required for completion of 75% reaction is two
times of half life period of a reaction.

49. The rate constants of a reaction at SO0OK and 700K are 0.02 s-! and 0.07 s-! respectively.

Calculate the value of activation energy.

B o S S



TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 34 II PUC : MODEL QUESTION PAPER - 2 No. of Questions: 49
TIME : 3 hours 15min. SUB : CHEMISTRY MAX.MARKS:70

General Instructions:

1.
2.

The question paper has five parts having 49 questions. All the parts are compulsory.
a. PART-A carries 20 marks. Each question carries 1 mark.

b. PART-B carries 06 marks. Each question carries 2 marks.

c. PART-C carries 15 marks. Each question carries 3 marks.

d. PART-D carries 20 marks. Each question carries 5 marks.

e. PART-E carries 09 marks. Each question carries 3 marks.

. In Part-A questions, first attempted answers will be considered for awarding marks
. Write balanced chemical equations and draw neat labelled diagrams and graphs wherever

necessary.

. Direct answers to numerical problems without detailed steps and specific unit for final

answer will not carry any marks.

. Use log tables and simple calculator if necessary (use of scientific calculator is not allowed)

PART- A

. Select the correct option from the given choices 15x1=15
1. The ratio of number of moles of each component to total number of moles of all components

is called.
a) Molarity b) Mole fraction
c) Molality d) Normality

2. The electrolysis of aqueous sodium chloride (NaCl) will produce
a) sodium at cathode and H> at cathode b) Cl, at anode and H»> gas at cathode
¢) both sodium and Cl, produced at cathode d) Na at cathode and Cl, gas at anode

3. Specific conductance of an electrolyte
a) increases on dilution b) Decreases on dilution
c) does not depend on dilution d) None of these

4. For a chemical reaction with rise in temperature by 10 °C, the rate constant is nearly
a) Triples b) Halved
c) Doubled d) Quadrupled

5. The oxidation state of manganese in KMnO4
a) +3 b) +2 c) +7 d) +6

6. Bidentate ligand among the following is
a) CN b) NH; c) CO d) en

7. In case of optically active alkyl halides, the product of nucleophilic substitution reaction has

inverted configuration. What is the mechanism involved?

a) Sy! b) Electrophilic substitution
c) Electrophilic addition d) Sn2
8. The major product obtained when methyl phenyl ether reacts with hydrogen iodide is
a) Cumene b) Methoxy benzene
c) Benzaldehyde d) Phenol

9. The white precipitate obtained when phenol reacts with Bromine water is
a) 2,4,6-Tribromophenol b) 2,3,5-Tribromophenol
¢) 2,6-Dibromophenol d) 2,4-Dibromophenol



10. Aldehydes and ketones answer Aldol condensation reaction due to
a) Acidic nature of B-Hydrogen b) Acidic nature of a-Hydrogen
c) Basic nature of B-Hydrogen d) Basic nature of a-Hydrogen

11. Bromination of Benzoic acid gives
a) o-Bromobenzoic acid b) m-Bromobenzoic acid
¢) p-Bromobenzoic acid d) mixture of o- and p-Bromobenzoic acid

12. Reduction of nitriles in the presence of Ho/Ni gives
a) Primary amine b) Secondary amine
c) Tertiary amine d) Amide

13. The product formed when aniline reacts with NaNO, and HCI at 273-278 K is
a) Benzene diazonium chloride b) Ethylbenzene
c) Nitrobenzene d) Phenol

14. Which of the following bases is not present in RNA
a) Adenine b) Uracil ¢) Thymine d) Cytosine

15. Night blindness is due to the deficiency of vitamin
a) A b) D ¢ K d E

II. Fill in the blanks by choosing the appropriate word from those given in brackets: 5x1=5
(addition, aniline, substitution, decreases, increase, bend)
16. The tanks used by scuba divers are filled with air diluted with helium to avoid
17. The rate can be obtained in terms of in concentration of products.
18. The trend of basicity of lanthanide hydroxide across the lanthanide series.
19. Alkyl halides are converted into alcohols by
20. can not be prepared by Gabriel synthesis.

PART-B
III. Answer any THREE of the following questions. Each question carries two marks. 3 x 2 = 06
21. Mention any two factors which affects the solubility of a gas in liquid.

22. Define (i) Threshold energy (ii) Activation energy

23. Write the facial (fac-) and meridional (mer-) isomeric structure of [Co(NH3)3(NO2)3].
24. Explain Darzen’s reaction with an example.

25. Write the [UPAC name of (i) CH3CH2CHO and (iii) CH3COCH;3

26. Write the Haworth structure of Lactose.

PART - C
IV. Answer any THREE of the following questions. Each question carries 3 marks. 3 x 3 = 09
27. a) Write the atomic number of transition element ‘A’ having the electronic configuration

[Ar]3d5 in +3 oxidation state.
b) Why spin only magnetic moment of Sc*3 and Ti**is zero?
c) Why 2nd jonization enthalpy of Cu is exceptionally high?

28. a) Draw the structure of dichromate ion (Cr.O72-).



b) The acidified potassium dichromate reacts with potassium iodide and oxidizes it to I».
What is the oxidation state of chromium in the products of the reaction.
c) The acidified potassium permanganate reacts with potassium iodide and oxidizes it to I».
What is the oxidation state of manganese in the products of the reaction.
29. Write any three differences between Lanthanides and actinides
30. a) Give an example for ambidentate ligands?
b) Write the structure of an hexadentate ligand EDTA.
c) Write the IUPAC name of [Co(NH3)sBr]|SOs.
31. Using Valence Bond Theory (VBT), explain the geometry, hybridization and magnetic property
of [Ni(CO)4]. (Given: Z for Ni is 28)
32. a) Write any one limitation of Werner’s theory of coordination complexes.
b) On the basis of crystal field theory, write the electronic configuration of ds in terms of tog
and e; in octahedral complex when A,<P

¢) Mention any one importance of coordination compounds in the field of biology

V. Answer any TWO of the following questions. Each question carries 3 marks. 2x3 =06
33. State Raoult’s law of a binary solution for two volatile components. Draw a graph of vapour

pressure against mole fraction of two volatile liquids forming an ideal solution.
34. Write the diagram of Daniel cell and write its half cell reaction.
35. a) What is secondary cell? Give an example.

b) Name any one method to prevent corrosion.

36. Derive the relation between half life and initial concentration of a zero order reaction.

PART- D
VI. Answer any FOUR of the following questions. Each question carries 5 marks. 4x5=20
37. a) Write any three difference between Sy! and Sy2 reaction.

b) identify A and B in the following reaction
cl

ag. NaOH H,O"

623K, 300 atm

38. a) Write the mechanism of acid catalysed dehydration of ethanol to ethene.
b) Explain Kolbe’s reaction.
39. a) Explain Reimer-Tiemann reaction with an example.
b) How do you prepare Methoxyethane by Williamson reaction?
c) Name the organic compound formed when phenol is distilled with Zn dust.
40. a) What is Wolf-Kishner reduction? Write the general equation.

b) Explain Gattermann-Koch reaction with a suitable example.



VI.

41.

42.

43.

c) Name a test to distinguish between aldehydes and ketones.

a) Explain nitration of benzoic acid

b) What is the effect of electron withdrawing group on the acidity of carboxylic acid? Give
reason.

c) Methanoic acid do not shows Hell-Volhard-Zelinsky reaction. Give reason.

a) Explain Carbylamine reaction with an example.

b) How is Hinsberg reagent useful in distinguishing the primary and tertiary amine?

c) Which is more basic among aqueous solution of aniline and ammonia?

a) What are essential amino acids? Give an example.

b) Name the storage polysaccharide present only in plants. Mention the name of its
monomer.

c) Name the male sex hormone.

PART E

Answer any THREE of the following questions. Each question carries 3 marks. 3 x 3 = 09

44.

45.

46.

One gram of sucrose (Molecular mass =342g/mol) is dissolved in 100mL of solution at 25 °C.
Calculate the osmotic pressure.

Addition of 0.643g of a compound to S0mL of a liquid (density=0.879g/mol) lowers the
freezing point from 5.51 °C to 5.03 °C. Calculte the molar mass of the compound (Kr for
benzene =5.12Kkgmol-!)

Calculate the emf of the cell in which following reaction takes place.

2+
. + R
Nig)y + 2A80.002m) > Nioeomy ¥ 248

Given that ', = 1.05 V

47.The Molar conductance of NaCl, HCI, CH3COONa at infinite dilution are 126.45, 426.16 and

91.0 Q-1lcm2mol-! respectively at 25 °C. Calculate the molar conductance of CH3COOH at

infinite dilution.

48.A first order reaction is 50% completed in 2 hours. What is the time required for the

49.

completion of 80% of the reaction?
The ratio of rate constants of a reaction at 300K and 291 K is 2. Calculate the energy of

activation. (Given R=8.314 JK-1mol-})

KRXKXKXKXKAXAA NI dR
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Sub Code: 35 II PUC : MODEL QUESTION PAPER - 1 No. of Questions: 52
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Instructions:

1)  The question paper has five parts namely A, B, C, D and E. Answer all the parts.
2)  Part A has 15 Multiple choice questions, 5 Fill in the blanks of 1 mark each.

3)  Use the graph sheet for question on linear programming in PART E.

PARTA
l. Answer ALL the Multiple Choice Questions 15x1=15

1. Arrelation R in the set A={1,2,3} given by {(2,2)} is

(A) reflexive relation (B) not transitive relation  (C) symmetric relation (D) none

2. Let f:R->R-be defined as f(x) = % xeR~, where R-is a non-zero real number, thenf\is

(A) surjective (B) injective (C) bijective (D)-f.is not defined

3. The domain of cot’x=y is
(A) —F<x< 7 (B) 0<x<m (C) <R xR (D) 0% . <7

4. If A=[a ] is a square matrix of order m x n, then

(A) m<n (B) m>n (€)ym=n (D) none of these
5. If|AB|=16, |A|=8 where A and B are square ymatrices-of same order.; then|B.is

(A) 8 (B) 4 (C)2 (D)1
6. The continuity of the functionf(x)=c0s2x+5 at x = 7 is

(A) -6 (B)25 (€)6 (D) cos n

_logx ay
7. Ify=e"*, then o1

) = (B) 1 (€)1 (D)=

8. The total revenue rupees received from the sale of x units of a product is given by R(x)=13x?*+26x-15, then the
marginal revenue when x=1 is rupees.
(A) 13 (B) 26 (C) 104 (D) 52

9. Anti-derivative of cos2x is

(A) —sin2x+C (B) sin2x+C (C) ¥ (sin2x)+C (D) -% (sin2x)+C
X 1 _1 -
10. [eX | oz ttanTx ].dx is
(A) ¢ (B) €* .tanx (C)e* tan’x +C (D) & +C
1+x° tan™ x

11. If 0 is the angle between any two vectors @ and b, then |d@ X b| = @.b, when tan® =

(A) V3 (B) 0 (C) 1W3 (D)1



12. Aline joining two points A(4,6,0) and B(3,-6,8), then the components of AB=

(A) -1,8,-12 (B) 1,8,-12 (C)-1,-12,-8 (D) 1,12,8
13. Ifaline makes angle 90°,60° and 30° with the positive direction of X, Y and Z-axis , then its direction ratios are

(A) 1,%,+/3/2 (B) 0,%,+/3/2 (C) 1,32 ,% (D)0,V3/2 , %
14. Inalinear programming problem, non-negative constraints are

(A) x<0,y<0 (B)yx<0,y>0 (C)x>0,y>0 (D) none of these
15. If Aand B are events such that P(A|B)=P(BJ|A), then
(A) AcBhut AzB (B) A=B (C) AlIB=¢ (D) P(A)=P(B)

1. Fill in the blanks by choosing the appropriate answer from those given in the bracket:

[ 4,25 %,1, -1/3,0.12 ] 5x1=5
16. The tan_1[—\/§ ] is equal to
17. If Aisa3x3matrix and |A|=5, then | adj A| =
18. The number of arbitrary constants in the general solution of a differentialequationcof fourth order are
19. If I, m, nare direction cosines of a line, then I>+m?+n?=
20. If A and B are independent events such that P(A)=0.3,P(B)=0.4:then P(ANB)=

PART\B
Answer any SIX questions: 6x2 =12
21. Prove that 23in'1(%): tan™¥( E;i)
22. Find the area of a triangle with'the vertices are (3,8),(-4,2)and (5,1).
23. Find z—z if y+siny=cosx:
24. Find the rate of change of the area of a circle:with respect to its radius r when r=5cm.
25. Find the local minimum value of the function f given by f(X)=|x|+3, xeR
1
26. Evaluate [ ——.dx
z sinx
27. Evaluate 7 ————.
28. If d is a unit vector and (x-a).(x¥+a)=15, then find | X |
29. Find the angle between the pair of lines # =3i+j-2k+ (i-j-2k) and 7#=(2i-j-56k)+n(3i-5] — 4k)
30. Two cards are drawn at random and without replacement from a pack of 52 playing cards. Find
the probability that both the cards are black.

31. Given that the events A and B are mutually exclusive events such that P(A)=1/2,

P(AUB)=3/5and P(B)=k, then find k.



PARTC

Answer any SIX questions: 6x3 =18
32. Show that the relation R in R defined as R :{ (x,y):3x-y=0}, is neither reflexive, nor

symmetric nor transitive.
33.  Write in simplest form tan'l[%] - % < x < %"
34. IfA=(3 -2)andB=(8 , then find (A -2 B)"

S

35. Find 2 if x*+xy+y=100.
36. Differentiate (X)*™ wrt to X
37. Find the interval in which the function f is strictly increasing or decreasing , f(x)'= 10-6x:2x%.
38. Evaluate | (x*+1).logx.dx
39. Find the particular solution of the differential equation Z—z = - 4xy?, ‘given y=1When x=0
40. Ifd, b, ¢ arethe unit vectors such that @ + b + ¢ = 0 then find'thevalug\of @.b + b. ¢ + ¢ .d
41. Find the area of the triangle formed by the vertices (1,1,2),(2,3,;5) and (1,5,5) using:vector method.
42. Bag I contains 3 red and 4 black balls and bag 1}-¢ontains:5:red and 6 black-balls, ‘One ball is drawn at

random from one of the bags and it is found to be red. Find the probability.that it\was drawn from the

bag II.

PART D
Answer any FOUR questions; 4x5 =20
43. Consider thesfunction f::R—>R defined by f(x)=4x+3."Show that f is invertible. Find the inverse of f.
44, IfA=( 2 B3 8) and C= (AL 13 WVerify (B+C)A=BA+CA.
[4 5] [11 ZJ [5 19]

45. Solve the system of equations by matrix method

X-y+z=4, 2x+y-3z=0 and x+y+z=2
46. If y=sin™x show that (1—x2).227¥ - X. Z—Z =0
47. Find the integral of xziaz wrt x and hence evaluate fx21_3 .dx
48. Find the area of the region bounded by the ellipse z—z+Z—z:1 by using integration method.
49. Find the general solution of the differential equation (1+x%).dy+2xy.dx=cotx.dx
50. Derive the equation of a line in space through a given point and parallel to a given vector both in the

vector form and Cartesian form.



51. Prove that foaf(x).dx = foaf(a — x).dx and hence evaluate [? !

52.

PART E
Answer the following question:

PN
OR

Solve the following Linear Programming Problem graphically, minimize and maxiaoiize z=x+2y
subject to the constraints x+2y >100, 2x-y< 0, 2x+y< 200 and x,y:> 0

Show that the matrix A=| 5 3|satisfy the equation A%3A:71=0, where | is 2x2 identity matrix and
-1 2

O is 2x 2 zero matrix. Using this equation firid A, 4

OR

Find the relationship between a and b so.that

ax+ 1, ifx<3

= i i =37
f(x) { bx+3,  ifx>3 iscontinuous at x=3%
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Sub Code: 35 II PUC : MODEL QUESTION PAPER - 2 No. of Questions: 52
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Instructions:

1. The question paper has five parts namely A, B, C, D and E. Answer all the parts.
2. Part A has 15 Multiple choice questions, 5 Fill in the blanks of 1 mark each.

3. Use the graph sheet for question on linear programming in PART E.

PARTA
Answer ALL the Multiple Choice Questions 15x1=15

1. LetR be the relation in the set N given by R={(a,b):a=b-2, b > 6}. Choose the correct.answer:

(A) (2,4)eR (B) (3,8)eR (C) (6,8)eR (D)(8,7)eR
2. Let f:R>R be defined as f(x)=| x |, then f is

(A) one-one and onto (B) one-one but not onto

(C) onto but not one-one (D) neither one-one-nor onto
3. Principal value of cos™(- %) is

(A) -6 (B) /3 (C) 516 (D) 2n/3

4. If a matrix has 18 elements, then the number.of matrices having all possible orders is

A 4 (B):6 (€)2 (D) 8
5. If|x 2[=|6 2|thenx's

18 x| |18

(A) 6 (By.<6 (©)o (D) 6

6. f(x)=|x]isicontinuous
(A) at zero only (B) at all negative real numbers
(C) atall positive real numbers (D) at every real numbers
7. If y=log,2x, then dy/dx is
(A) 1/(x.log7) (B) 1/(7logx) (C) logx/7 (D) 7/logx
8. The minimum value of the function y=2x*+x-1 atx is
(A) -1/4 (B) 3/2 (C)-9s8 (D) 9/4
9. Anti-derivative of tanx is
(A) Loglsecx|+C (B) -Log|cosx|+C (C) Log|cosx[+C (D) Both (A) and (B)
10. Je*.secx[1+tanx].dx is

(A) e*.cosx+C (B) €*.secx+C (C) *.sinx+C (D) e".tanx+C



11. 1f d and b are two collinear vectors, then which of the following is correct

(A) b =\d, for some scalar A
(B) a
(C) the respective components of @ and b are not proportional
(D) both the vectors @ and b have same direction, but different magnitudes
12. If @ is a non-zero vector of magnitude ‘a’ and A a non-zero scalar, then Aa is a unit vector if
(A) A=1 (B) r=-1 (C) a=|n| (D) a=1/|A|
13. The angle between the lines whose direction ratios are a,b,c and b-c, c-a, a-b is
(A) 0° (B) 30° (C) 60° (D) 90°
14. The optimal value of the objective function is attained at the
(A) Corner points of feasible region (B) pointsan the\Y=axis
(C) points on the X-axis (D) none'of:these

15. If P(A)=0.8, P(B)=0.5 and P(B|A)=0.4, then what is the:-value of\P(ANB)?
(A) 0.32 (B) 0.25 (C)r0.% (DH.o4

Fill in the blanks by choosing the appropriate:answer from those givén incthe bracket.
[ 3, 64, -10/7, 36, /3, 27/3 ] 5x1=5

16.  The value of sin™(sin 2m/3) is A0
17.  If|AFS, then JAA= .ot
18.  Order of (Y ) g ¥+ )y s0is ..o

i ﬂ —-E N ﬁ u = u X< _6 =
19. The lines LRSS, and = 3 5 are perpendicular, thenk=...........
20. The probability’of obtaining an.evernnumber) on each die, when a pair of dice is rolled is .............
PART B
Answer any SIX questions: 6x2 =12

21. Show that sin(2x.4/1 — x2 )=2cos X,\/—_<X<1

22. Find the area of a triangle whose vertices are (-2,-3),(3,2) and (-1,-8).

23. Find 3—1’ if sin’x+cos?y=K, where K is constant.

24. The radius of a circle is increasing at the rate of 0.7cm/s. What is the rate of increase of its circumference.
25.  Find the intervals in which the function f(x)=x?+2x-5 is strictly increasing.

26. Evaluate [x.sec®x.dx

27. Evaluate Jcos6x. V1 + sinéx.dx

28.  Find the projection of the vector 2i+3j+2k on i+2j+k

29. Find the angle between pair of lines % = y5;1 5 and ﬂ = g = ?



30. Assume that each born child is equally likely to be a boy or girl. If a family has two children.
What is the conditional probability of both are girls given that the youngest is a girl.
31. Given two independent events A and B such that P(A)=0.3, P(B)=0.6. Find P(A and not B).

PARTC
Answer any SIX questions: 6x3 =18

32.  Show that the relation R in R defined as R ={ (a,b):a < b}, is neither reflexive, nor
symmetric nor transitive.
33.  Prove that cos™ (% ) +sin™ (%) = sin™( Z—E)
34. Express the matrix (3 5] as sum of symmetric and skew symmetric matrix
i
35. Differentiate (X)*™ wrt x, x>0
36, If x=10(t-sint), y=12(1-cost), find

37.  Find the two positive numbers whose sum is 15 and-the sum\ofiwhose squares is minimum

COSX

38. Evaluate [

(1-sinx ).(2-sinx )’

39. Find the general solution of the differential equationvy.logy.dx - x.dy=0
40.  Find the area of a parallelogram whose adjacent sides are given:by:the vectors d=i+j-k and b=1- j+k

41.  Find the vector perpendicular to each of the vectors d=2i+j+3k ‘and I;=3i+5j-212 which has magnitude
10 units.

42. A man is knowntospeak truth 3 out of 4 times. He'through a die and reports that it is a six. Find the
probability thatuitis:actually a six.

PART D
Answer any-FOUR questions: 4x5 =20

43.  If :ROR defined by f(x)=1+x?. Verify whether the function is one-one, onto or both.
44, IfA=(1 -1}, B=( 1 3}and C=[ 2 -2|Show that A(BC)=(AB).C
R P B

45.  Solve the system of equations by matrix method

2x+3y+3z=5, x-2y+z=-4 and 3x-y-2z=3
46.  If y=(tan™x)? show that (x*+1)2.y,+2x(x*+1).y;=2
47.  Find the integral of vVa? — x2 wrt x and hence evaluate [(5 — x? + 2x).dx
48.  Find the area of the region bounded by the circle x?+y?= 4 using integration method.

49.  Find the particular solution of the differential equation Z—z + 2y.tanx = sinx, y=0when x = %

50. Derive the equation of a line in space through a given point and parallel to a given vector both in the
vector form and Cartesian form.



PART E
Answer the following question:

51. Provethat [ f(x).dx =2, f(x).dx, iff(x) isan even function

[ f(x).dx=0, iff(x)isan odd function
and hence evaluate [% sinx’x .dx
2

OR
Solve the following Linear Programming Problem graphically, minimize z=-3x+4y subject to the
constraints x+2y<8, 3x+2y<12, x,y>0
52.  Show that the matrix A={ 2 3] satisfy the equation A%4A+I=0, where | i$;2X2\identity matrix and O
;]
is 2x 2 zero matrix. Using this equation find A
OR

Find the value of k if a function f(x){kxﬂ, x<5 _iscontinuous-at x=5

3x-5, x>5
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General Instructions :

» This Question paper consists of four parts A, B, C, D

» Part-A consists of I and II and Part D consists of two parts, section-V and —VI
» All the parts are compulsory
» Draw diagrams wherever necessary. Unlabeled diagrams do not carry and marks
PART - A
I Select the correct alternative from the choices given below : 1x15=15

1. In 60% of angiosperms, pollen grains are shed at

a) 3-celled stage b) 2-celled stage c) l-celled stage d) 4-celled stage
2. Endosperm in angiosperm is

a) Haploid b) Diploid c) Triploid d). ‘Polyploid
3. GnRH secreted by the hypothalamus mainly stimulates the release of

a) Relaxin and estrogen b)-ESH andLH

c) Progesterone and estrogen d) “Estrogen only

4. The tiny finger like structure lies at the junction of the two labia_ minora above the
urethral opening is
a) Mons pubis b) Clitoris c) Labia majora d) Hymen
5. Emergency contraceptives are effective if used within
a) 72 hours of ovulation L 72 hours of menstruation
c) 72 hours of implantation d) 72 hours of coitus
6. The scientist who is:not concerned-with-the\rediscovery of Mendes’s laws is
a) deVries b) Correns c) Morgan d) Tschermak

7. The region of heterochromatinis

a) Loosely packed and darkly stained b) Loosely packed and lightly stained

c) Densely packed and darkly stained d) Densely packed and lightly stained
8. Placental mammals in Australia exhibit

a) Adaptive radiation b) Convergent evolution

c) Stabilising selection d) Saltation

9. The universe is
a) 10 billion years old b) 15 billion years old
c) 20 billion years old d) 25 billion years old

10. The toxic substance released due to the rupture of RBCs which is responsible for the chill
and high fever recurring every 3-4 days in malaria is
a) Gametocyte b) Sporozoite c) Haemozoin d) Interferon

11. The symbiotic bacterium present in the root nodules of leguminous plants which help in
fixing atmospheric nitrogen is called

a) Rhizobium b) Glomus c) Anabaena d) Oscillatoria



12.

13.

14.

15.

IT

16.
17.
18.
19.
20.

The process of separation and purification of expressed protein in generic engineering is
called

a) Bio-prospecting b) Downstream processing c) Bio-processing d) Bio-piracy
GEAC stands for :

a) Genome Engineering Action Committee

b) Ground Environment Action Committee

c) Genetic Engineering Approval Committee

d) Genetic and Environment Approval committee

Monarch butterfly is avoided by the predators because

a) It is cryptically coloured (camouflaged) b) Itdshighlydistasteful

¢) It produces a poisonous cardiac glycoside d) Ithas stinging cells on its body
In 1992, The Earth Summit’ in relation to biodivetsity conservation was held in

a) Rio de Janeiro b) Johannesburg ¢), Washington d) Edinburgh

Fill in the blanks by choosing appropriate words from the given below : 1x5=5
(homologous chromosomes, lag'phase; pollinators, reserpine; placenta, chorionic villi)
Cleistogamous flowers produce assured seed-set even.in the.absence of ................

After implantation, finger-like projections appear on thetrophoblast called ............

The two alleles of a\gene pair are located{ofi homologous sites on .............

A population growing in a habitat with limited resources show initially a ................

The medicinal plant Rauwolfia vomitoria produces the active chemical ................

PART -B

Answer any FIVE of the following questions in 3-5 sentences wherever applicable : 2x5=10

21.
22.
23.
24.
25.
26.
27.
28.

What is polygenic inheritance ? Give an example.

Define : a) vasectomy b) tubectomy

Differentiate between homologous and analogous organs with animal examples.
Name the cells involved in Cell medicated immunity and humoral immunity.
Write the use of streptokinase and cyclosporine-A.

Name the two core techniques that enabled birth of modern biotechnology.
Write the advantages of tissue culture.

List the functional components of ecosystem.

PART-C

Answer any FIVE of the following questions in 40-80 words each wherever

applicable : 3x5=15

29.

30.

Mention any three devices developed in plants to discourage self pollination and to
encourage cross pollination.
a) Define spermiogenesis andspermiation 2

b) What is colostrum ?



31. Mention the major tasks of RCH programmes.

32. List the three critical research areas of biotechnology.
33. Draw a neat labelled diagram of transcription unit.
34. Name the stages of evolution of man in correct order.
35. Explain the ‘rivet popper hypothesis’

36. Draw an ideal pyramid of energy.

PART -D SECTION-V

Answer any FOUR of the following questions in 200-250 words each wherever
applicable: 5x4=20

37. Draw a neat labelled diagram of male reproductive system.

38. Write the schematic representation of inheritance of two genes.

39. Mention the steps involved in DNA finger printing.

40. What is innate immunity ? Describe the innate immunity barriers.

41. Explain the microbes in the preparation, of household products.

42. a) Draw a neat labelled diagram of pBR322:

b) What is insertional inactivation
43. Define population growth, Explain the process that fluctuate \population growth.

44. Write the diagrammaticrepresentation of replication of retrovirus.

SECTION-VI
Answer any ONE of the following questions in 200-250 words each wherever
applicable: 5x1=5
45. a) Whatis' meant by emasculation’? When and why does a plant breeder employ this
technique ?
b) Why is apple called a false fruit ? Which part(s) of the flower forms the fruit ? 2
46. In the medium where E.coli was growing, lactose was added, which induced the lac
operon. Then, why does lac operon shut down some time after addition of lactose in the
medium ?
47. Dominance is not an autonomous feature of a gene or the product that it has information

for. Explain this with reference to starch grain size.
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TUMKUR DISTRICT PU COLLEES' PRINCIPAL'S ASSOCIATION (R.)
Sub Code: 36 II PUC : MODEL QUESTION PAPER - 2 No. of Questions: 47
TIME : 3 hr 15min. SUB : BIOLOGY MAX.MARKS: 70

General Instructions :

» This Question paper consists of four parts A, B, C, D

» Part-A consists of I and II and Part D consists of two parts, section-V and -VI
» All the parts are compulsory
» Draw diagrams wherever necessary. Unlabeled diagrams do not carry and marks
PART - A
I Select the correct alternative from the choices given below : 1x15=15

1. Formation of seeds without fertilisation is termed as
a) Parthenocarpy b) Apomixis c) Dormancy d)\ Perisperm

2. Lack of menstruation during reproductive phase in humanfemales‘may be due to

a) An indicative of pregnancy  b) Stress c) Poor‘health d) All of the above
3. Group of STIs that cannot be curable completely are
a) Genital warts, Gonorrhoea, Syphillis b)Syphillis, Chlamydiasis, Trichomoniasis
¢) Genital herpes, Hepatitis B, HIV d)\Syphillis, HIV, Gonorrhoea
4. The condition where a single gene can exhibit multiple phenotypic expression is
a) Incomplete dominance b) Multiple allelism
¢) Co-dominance d) Pleiotropism

5. In E.coli, DNA replication initiates at
a) randomly at any places b)lat)palindromes
c) at terminal regions'of DNA d). at ori sites
6. Industrialimelanism is an example for
a) Mutations b) Divergent evolution
c) Natural selection d) Adaptive radiation
7. The immunity responsible for differentiating “self” & “non self” in our body is
a) Autoimmunity b) Innate immunity
c) Active immunity d) Cell mediated immunity
8. The fungi used in the production of citric acid is
a) Aspergillus niger b) Penicillium notatum
c) Trichoderma polysporum d) Yeast
9. Among the following, biofertilizers are
a) Lady bird & Dragon flies b) Azotobacter
c) Mycorrhizae d) both (b) & (c)
10. The vectors used in rDNA technology having the ability to replicate within bacterial cells
independent of the control of chromosomal DNA are
a) DNA polymerase b) Plasmids c) Primers d) Bacteria
11. The process “RNA interference” has been used in development of plants resistant to

a) Coleopterans b) Dipterans c) Nematodes d) Cotton bollworms



12.

13.

14.

15.

IT

16.
17.
18.
19.
20.

The presence of limited resources in an habitat results in

a) Competition between individuals b) Unimpeded growth of population
c) Logistic growth d) botha &c

Rate of decomposition depends on

a) Amount of oxygen b) Chemical composition of detritus
¢) Climatic factor d) all the above

Which among the following is related to Ex-situ conservation

a) Wildlife safari b) Biodiversity hotspots
c¢) Himalayan region d) Western ghats
Species confined to a particular region & not found elsewhere are

a) Keystone species b) Alien species c) Endemic species d)\ Rare species

Fill in the blanks by choosing appropriate words from the given below : 1x5=5
(Notality, Mortality, Biodiversity hotspots, Mycorrhizae, -Untreated sewage,

Multiple alleles)

ABO blood grouping in humans is an example-fornii. ... ..

Greater value of BOD indicates ...............&ob

Symbiotic association between fungi & rootsiof higher plants i§ L. s

Number of births in the population in-a given period is .. (e

High level of species richness & high degree of endemismiis found in .................

PART - B

Answer any FIVE of the following questions in 3-5 sentences wherever applicable : 2x5=10

21.
22.
23.
24.

25.
26.

Differentiate Hetween Autogamy & Geitonogamy:

What is Foetal ejection reflex ? Name the hormone responsible for parturition.

Explain Co~dominance with an example.

Write karyotype & name of the ‘abnormality of an individual who has developed from
zygote formed by an XX egg ferlised by a Y sperm.

Draw a neat labelled diagram of structure of an antibody molecule.

What are biocontrol agents ? Give any two examples of them.

27. Differentiate between endonucleases & exonucleases.
28. Alien species invasions causes decline or extinction of indigenous species. Justify with
examples.
PART - C
Answer any FIVE of the following questions in 40-80 words each wherever applicable : 3x5=15

29.
30.
31.

32.
33.

What are Chasmogamous & Cleistogamous flowers ? Name the plant that produces them.
Draw a neat labelled diagram of structure of a sperm.

Schematically represent inheritance of one gene pattern by taking contrasting characters
for plant height in garden pea as an example.

Explain the post transcriptional modifications of a eukaryotic mRNA.

Explain adaptive radiations with any two examples.



34. Anthropogenic activities hasten the evolution. Justify with examples.

35. Draw a neat labelled diagram of a typical biogas plant.

36. Explain the process of decomposition of detritus.

PART-D SECTION -V

Answer any FOUR of the following question in 200-250 words each wherever applicable :

37.
38.
39.
40.

41.
42.
43.

44,

5x4=20
Draw a neat labelled diagram of sectional view of human female reproductive system.
What are contraceptives ? Explain any 4 methods of contraceptives.
Explain salient features of genetic code.
a) The coding sequence of DNA in a transcription unit is S CAATGCAGCT........ 3|
write the sequence for i) Its complementary stand & i) Its mRNA (2)
b) If paternity dispute arises for a child, suggest a-possible technique that solves the
problem & name the principle involved insit: (2)
c) If a double stranded DNA has 20%.0of cystosine. Calculate the percentage of adenine in
DNA. (1)
What are carcinogens ? Explainvarious methods for treating a cancer.
Write diagrammatic representation of rDNA technelogy:
a) What are GMOs 2 Write any two advantages.of genetically modified crops
b) Mention any 4 reasons for creating transgenicianimals.
a) Explain.various defence mechanisms developed by plants against herbivores
b) Name the type of interactions seen in Orchids growing on mango tree & Cuckoo lay

eggs.in the nest of crow: 2

SECTION - VI

Answer any ONE of the following questions in 200-250 words each wherever applicable :

45.

46.

47.

5x1=5
a) Why fertilization in angiosperms are referred to as double fertilization. 3
b) How are seeds advantageous to flowering plants.
Workout a cross between true breeding red & white flowered dog flower (Snapdragon)
plants up to F2 progeny. Explain the results of F1 & F2 progeny.
The habits like smoking, drugs or alcohol are more likely to be taken up at a young age,
more during adolescence. Explain the possible measures to control alcohol & drug abuse

among these adolescents.
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PART - A

I Answer all the questions, each question carries one mark:

11

1) Which of the following component is small integrated circuit on a single chip ?

a) Keyboard b) Microprocessor c) Motherboard d) RAM
2) Which of the following is a complementarity law ?
a) 1.X=X b) XX=X c) 0X=0 d) X+X=1

3) The output expression for the following logic circuit is

_ _ A—>—
a) AB+C b) AB+C =
Q) AB+C d) AB+C [

C
4) Assertion (A) : A stock is LIFO principle

Reason (R) : An order collection of items where the addition of new item and the removal of existing

items always takes place the same end.

a) Aistrue and R is correct explanation b) Aistrue and R is false

c) Aisfalse and R is true d) Ais true and Ristnot\coxrect explanation
5) The variables declared inside the class are known as

a) Data b) Variable c) Datamember d) inside the class
6) The two or more functions have same name but different in\number of arguments is called

a) Polymarphism b) Friend c)\function everloading d) Incline
7) The member function which de-allocates the allocated memory for objectis

a) Constructor b) Default constructor\"\¢) Copy constructorn d) Destructor

8) Another name for base class

a) Derived b)~Base c) Abstract d) Virtual
9) Identify the correct program segment
a) int n=10, *ptr;_ptr=100; b) intn=10,>*ptr; ptr =&n
c) intn = 10, ¥ptr \ptr=s &n; d) intun= 10, *ptr; iptr = n;
10) In dataabstraction;,internal level is.alsocalled'as
a) Physicallevel b) Logicallevel c) abstract level d) external level
11) Which issDDL command ?
a) modify b) create c) Insert d) Update
12) Example for full duplex communication mode
a) Radio b) Mobile c) Computer d) Walkie talkie
13) An inter connection of autonomous computers is called
a) Internet b) Wi-fi c) Mobile data d) Computer network

14) The trade of goods and services with the help of telecommunication and computers is called
a) e-commerce b) e-cash c) e-payment d) digital cash
15) What is the file extension for hypertext mark-up language ?
a) html b) htm c) org d) cpp

Fill in the blanks choosing the appropriate word /words from those given in the brackets :
(entity, data water house, data base, serial file organization, hierarchical model)
16) is a repository of an organizations electronically stored data

17) The records are arranged one after another and in no particular order ..............



III

IV

VI

20)

21)
22)
23)
24)
25)
26)
27)
28)

29)
30)
31)
32)
33)
34)
35)
36)

37)
38)
39)
40)
41)
42)
43)
44)

45)
46)
47)

A model defines the logical structure of data.
.................... is represented using rectangle in ER diagram.
The data is organized in tree like structure is ......ccccuueee

PART -B
Answer any FOUR questions.
Each questions carries two marks :
State and prove involution law.
Prove that: XY + XY = X
What is data abstraction and data encapsulation ?
Write the syntax and example for default constructor.
Write any two member functions belonging to of stream class.
Mention the database users.
Give the syntax and example of insert command in SQL.
Explain LAN

PART - C
Answer any FOUR questions.
Each question carries THREE marks :
What is the function of UPS ? Mention different-types‘of UPS.
Realize the AND, OR gates by using onlyxNAND:gate.
Explain any three applications of stack:
Give the difference between static and’dynamic memory allocation:
List the different modées-of\opening a file with theifmeaning.in\C++.
Briefly explain relational database model.
Write the advantages\ofe-commerce.
Briefly explain anthree HTML tags.

PART -D
Answerany FOUR questions.
Each question carries FIVE marks :
Explain the operations on one dimensional array.
Write the algorithm to delete an element from the array.
Explain the advantages of OOP.

Explain the characteristics of friend function.

What is a copy constructor ? Explain with syntax and programming example.

What is inheritance ? Explain single level and multilevel inheritance.
Explain the stages of data processing cycle.
Give the measures for preventing virus.
PART - E
Answer any TWO questions.

Each questions carries FIVE marks :

4x2=8

4x3=12

4x5=20

2x5=10

Give the Boolean function F(A,B,C, D) =€ (1, 3,4,5,6,7,9, 11, 12,13, 14, 15) reduce it using K-map.

Explain member function outside the class definition with suitable example.

Explain group functions in SQL.
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PART - A
I Answer all the questions, each question carries one mark:
1) Which port the data transfers serially one bit at a time ?
a) Parallel port b) Serial Port c) USB port d) DVI port
2) A table which represents all the possible values of logical variables along with all the possible results for
the given combinations of values is called ......
a) Table b) Rows c) Truth table d) Gates
3) Given two logic gates with 2 inputs and 1 output y = 1, which of the following circuit produces
output y=1
DD D opd g D
O] D ) pe ) >} >
4) Assertion (A) : A stock is LIFO principled data structure
Reason (R) : An order collection of items where the addition of new (item:and:the removal of existing
items always takes place ‘at the same end’.
b) Ais true and R is false b) Ais true andR is:true
c) Ais false and R is true d) Ais false.and Ris'false
5) Which of the following is a member function of the.class student ?
Class student
{
Private : int regno;
Public : void read ();
¥
a) regno b)\read c) display. d) student
6) The following function\cannot be called using the:object ofithat class
a) friend function b)\incline function ¢) “function overloading d) None of these
7) The followingconstruction is does net.acceptany argument
a) Parameterized constructor b) Default constructor
c) Copy.constructor d) Destructor
8) A class that contains only one copy of the base class when two or more objects are derived from the
base class is called
a) derived b) base c) abstract d) Virtual
9) Identify the correct program segment

a) inta=5,*iptr; iptr=& a; b) inta =5, *iptr; iptr =*a;
c) inta=5, *iptr;iptr=&a d) All of these

10) Each column is identified by a district header is called

a) attribute b) record c) domain d) tuple

11) Which command is used to modifies structure of an existing table ?

a) modify b) Create c) Alter d) Insert

12) Messages must be sent only alpha-numeric characters and no images

a) SMS b) LMS c) Chat d) Graphic
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IV

13) It refers to the method of transferring information between a computing device without a physical

connection.
a) Wireless communication b) Data communication
¢) Network communication d) Wired communication

14) Which refers to software whose source code is available to customers and it can be modified and

redistributed without any limitation is called

a) free software b) open source software c) shareware d) web site
15) The process of creating and embedding scripts in a web page is known as
a) Web scripting b) Web Hosting c) Web page d) Web site
Fill in the blanks the appropriate word/words from those given in the bracket:
(data mining, file, ellipse, network model, DBMS)
1) — is allows creation, deletion and manipulation of database.

19) The data organized in the form of graph is ............

/1) JR— is concerned with the analysis and picking out relevantinformation.

PART - B

Answer any FOUR questions.

Each question carries TWO marks: 4x2=8
21) Define min-term and max-term.
22) Prove that XY =Y.X
23) Explain any twolimitations’of OOP.
24) Explaimanytwofeatures of parameterized\constructor.
25) What are thedifferences betweentext file\and binary file.
26) Define primary key and secondary Key:
27) Give the syntax of delete command in SQL.

28) Mention any two antivirus software.

PART - C

Answer any FOUR questions :

Each questions carries THREE marks : 4x3=12
29) Explain the characteristic of mother board.
30) Write the stand symbol and truth table for NOR gate.
31) Explain the disadvantages of arrays.
32) What are the advantages of Pointers ?
33) Give the function of Put( ), get (), getline ().
34) Briefly explain the advantages of data-ware house.
35) Give the services of e-commerce.

36) Explain any three text formatting tags in HTML.



VI

PART -D

Answer any FOUR questions.

Each questions carries FIVE marks :
37) Explain the operations on queues.
38) Write an algorithm to perform to insert an element into an array.
39) Explain the applications OOP.
40) Write the advantages of inline function.
41) Give the rules for writing a constructor function.
42) Explain the advantages of inheritance.
43) Explain any five application of data base.

44) Explain any five network devices.

PART - E
Answer any TWO questions.
Each question carries FIVE marks :
45) Given the Boolean function
f(4,B,C,D) =€ (7,9,10,11,12,13,14,15) reduce it usingK.map
46) Explain declaration of object with syntax and example:

47) Write the SQL command to create a table using'the following field.

Name data type

RR number Varchar2(10)
Name Varchar2(30)
Date billing date

Units number (4)

i) Add the recordiinto a table

ii) Compute the bill amount for each customer minimum amount = 100
iii) Compute the due date as billing date + 15 days

iv) Display all the records

*okokok ok

4%x5=20

2x5=10
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Instructions :
1) The question paper has four parts A, B, C, and D
2) Part — A is compulsory
3) Part — D section A consists of easy type questions and section B problems
4) Circuit diagram and truth tables must be drawn where necessary
5) Solve the problems with necessary formulas
Part A
I Select the correct answer from the choice given : 15x1=15
1) Name the voltage controlled device.
1) SCR 2) BJT 3) FET 4ANTRIAC
2) In which region does a transistor behaves as a closed(switch ?
1) Active region 2) Cut off region 3) Saturation region 4) inversion region
3) Conduction angle for amplifier is
1) 600 2) 1800 3).2700 4).3600
4) Disadvantage of negative feedbackdis
1) Decreases in again 2) increases in:band width
3) Increases in gain 4) Reduction in noise
S) Input stage of op-amp.consists of
1) Darlington pair 2) \Inverting amplifier
3) Differentialiamplifier 4) Emitter follower
6) The feedback components used in the op-amp integrator circuit is
1) Resistor 2) Diode 3) Capacitor 4) Transistor
7) How many RC sections are present in a phase shift oscillator?
1) One 2) Two 3) Three 4) Four
8) Line of sight waves are also called
1) Space wave 2) Ground wave 3) Sky waves 4) None
9) If the amplitude of the modulating signal is half of the carrier signal, then the modulation

index ma, is

1) 0 2) 0.5 3) 1 4) 1.5

10) Drift layer of a power diode is also called

1) Metallization layer 2) Anode terminal 3) Epitaxial layer 4) Triac

11) Excess — 3 code is an example for

1) Non-weighted code 2) BCD code 3) ASCII code 4) Weighted code

12) Identify the logic symbol of XOR gate

VEDE EDE Do D

13) How many I/O pins are present in 8051 microcontroller ?

1) 16 2) 24 3) 32 4) 40



14) If a = 16 and b = 3 then the value of the operation a/b in C programming is
1) 1 2) 5 3) 13 4) 19
15) Carrier of information in optical fiber communication system is

1) Water 2) Light 3) Copper 4) Silicon

II Fill in the blanks by choosing appropriate answer from those given in the bracket :
[ a) buffer b) demodulator c) amplification d) impendence e) transmission f) gain ]
16) FET has high input ............... 5x1=5
17) Voltage divider biasing circuit provides better ...........
18) CC amplifier is also called ..............
19) Diode detector is called ................
20) Gray code is used to reduce error that occurs in data ...........c...
Part - B
III Answer any FIVE questions : 5x2=10
21) On the output characteristics of a transistorin\CE mode, mark different regions of
transistor operation
22) Write the steps involved in drawing AC-equivalent circuit of an amplifier:
23) In an amplifier upper cut-off frequency f2 = S00kHz and)A=\100. Determine upper
cut-off frequency when negative feedback of p = 0.02 _is introduced.
24) Determine frequency of wein bridge oscillator having Ry = Ro= R =15 kQ and
Ci=Co= C=100nk.
25) Sketch schematic'section of a power diode .showing impurities atom densities.
26) Realize XOR gate using basic gates.
27) Mention any four-addressing modes:
28) Mention any'two control statements.
29) Compare Wi-Fi and Bluetooth.
Part - C
IV Answer any five questions : 5x3=15
30) Define drain resistances (rq4), transconductance (gm) and amplification factor () in JFET.
31) Give any three differences between positive feedback and negative feedback.
32) What is piezoelectric effect ? Draw the circuit diagram of crystal oscillator.
33) Determine the frequency of LC Circuit. Given L = 1pH and C = 0.47pF. Determine [ of
colpitts oscillator given C; = 5SnF and C, = 10nF.
34) Write a note on ionosphere layers.
35) What is the need for modulation ? Explain.
36) Determine V4. and l¢c SCR HWR. Given firing angle is 00 and rms voltage of ac input to the
rectifier is 230 V and load is 10Q.
37) Convert the Boolean expressions Y = AC + AC + BC in to canonical SOP form.

38) Write any three uses of fiber optic communication.



Part - D Section A
A" Answer any THREE questions : 5x3=15
39) Explain the working of two stage RC coupled amplifier.
40) Obtain an expression for the output of op-amp differentiator circuit!
41) Draw the block diagram of super heterodyne AM receiver and explain the function of each
block.
42) Explain the working of JK Flip-Flop with logic circuitiand truth:table.
43) Write a program to add F1H and ODH, save the result in register RO. What is the content
of RO after execution of the program ?
44) Write a C-program to accept radius (indloat) and'print area of the circle.
Section B
VI Answer any TWO questions: 5x2=10
45) For the CE amplifier ciretiit 'using silicon transistor given below,
Find (i) ! (i) Ay (ii) Ap (iv) Voltage gain in dB,
(v) power gain4n’db. Given Ig= 3.41mA and A; = 100.

—O 4 Vee - 19

2 2KQ

Rc Ce

1OOKQ R

Cc
11
1T

~_ ) Vin 10K R2

46) Determine the output voltage of the following circuit when V; = 1V,and V, = -1V

100 KLY

AN
100 k<X
Vi oA -
e O
20 k&2 Vo
vz O b
20 k<2

47) An FM signal with single tone modulation has a frequency deviation of 12 kHz and a
bandwidth of 30kHz. Find the frequency of the modulating signal, modulation index
mys and carrier swing.

48) Simplify Y=f(A,B,C,D) = ¥m(0,1,2,3,4,5,8,9,10,12,13)and draw the logic circuit for

simplified expression using NAND gates.
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Section - A
I Choose the correct answers from the choice given 5x1=5
1) The capacity of a woman to bear children is
a) Fertility b) Mortality c) Population d) Fecundity
2) The ratio of quantity in the current year expressed as the percentage of quantity in the
base year is
a) Price relative b) Quantity relative c¢) Value relative d) Price index
3) The binominal distribution tends to poison distribution when
a) P.qarenotequal b) P<q c) P>q d) P and grare almost equal
4) The standard deviation of the sampling distribution of a statistic ig called
a) Statistic b) Sample space c¢) Standard error  d). None of these
5) The minimum of column maximums is known as
a) Mini max b) Maximin c) Saddle point d) None of these
II Fill in the blanks by choosing the appropriate word from those given in the brackets
( Process control, Normal, GM, Lead time; Aeceptance tegion, Null hypothesis) 5x1=5
6) In the computation of index numbers; most preferred type of average is
7) distribution has only one€ mode
8) The statistical distribution of the testiunder the null hypothesis is called
9) Controlling the quality of goods during the manufacturing process itself is called
10) The time gap between the placing of order and arrival of goods at inventory is
III Match the following 5x1=5
A B
11) Size of cohort I-B
12) Time Reversal Test Mean = Variance
13) Poisson distribution Radix
14) Power of a test Poi1 x Pio =1
15) BFSis<(m+n-1) non — degenerate solution
Degenerate solution
IV Answer the following questions 5x1=5

16) What is survival ratio ?

17) Define time series ?

18) Write the range of Chi — square distribution
19) What is type II error ?

20) Mention one advantage of inventory.



Section - B
A"/ Answer any FIVE of the following questions. 5x2=10
21) Define random variation. Give an example.
22) Write down the conditions for applications of Newton’s advance difference method of
interpolation.
23) What is mean by Bernoulli trial ? Give an example.
24) For a binomial distribution R n = 5 and P = 0.4. Find mode and variance
25) Given X =203 gm, u= 200gm, i = 10gm and n= 64 calculate test statistic Z.
26) Mention two conditions for applying x2 test of goodness of fit
27) Mention any two advantages of ‘Statistical quality control’.

28) Write the two properties of a competitive game.

Section - C
VI Answer any FOUR of the following questions. 4x5=20
29) Briefly explain the steps involved in the construction of index number.
30) Interpolate the value of Y’ when x =25 from the following data by using “Newton’s

Advancing difference method

X 10 20 30 40 50
Y 55 48 39 26 A

31) An unbiased coin is tossed 5-times. Find the probability that the tosses results in
(i) heads only (ii) 3 heads

32) These are 14 fruits infa \basket, outiofi\which 8 are mangoes and rests are oranges. A girl
picks 5 fruits at random from the basket. Find the probability that she gets 3 mangoes.
Also find mean of mangoes.

33) The manufactures of surgical instruments claims that less than 2% of the instruments, he
supplied to a certain hospital are faculty. A sample of 400 instruments reversed that 12
were faulty. Test his claim at 5% L.O.S

34) For the following data test whether mean weight of group — I is greater than group -II

(use K= 1.81)
Group I Group 11
Sample size 7 S
Mean S50 kg 48 kg
Variance S kg2 3 kg2

35) Solve the following game using dominance principle player B

PlayerB
B B2 Bz Ba
A1l5 2 1 6

PlayerAA,/2 1 0 2
A3l7 5 4 5



36) Purchase cost of an item is rs 5000. Its running cost and resale value in different years

Find the optimum replacement period of item

Year 1 2 3 4 5
Maintenance cost 100 200 330 510 860
Resale value 3000 | 2500 | 2000 | 1500 100
VII. Answer any TWO of the following questions. 2x5=10

37) The Weekly wages of workers are normally distributed with mean Rs 3000 and S.D Rs 500
Calculate the probability of workers whose weekly wages will be
(i) More than Rs 3400
(ii) Between Rs 2500 and Rs 3500

38) From the following data test whether, the difference between population proportions is

significant at 5% L.O.S

Sample I II
Size 200 | 100
Proportion | 0.28 | 0.34

39) In a mobile phone manufacturing plant; a production . manages has inspected a sample of
25 phone sets at regular intervals.\If*the average fraction defective p = 0.02, Write down
the control limits for numbet of\defectives

40) Solve the following L.P.R Graphically
Max Z = 100x #£\170Y

2x + 3Y < 36
S.t x +2Y <20
Section - D
VIII Answer any TWO of the following questions. 2x10=20

41) From the following data, compute standardized deaths rates for Town —A and Town - B.

Comment on the results.

Age in Town - A Town -B Standard
Years Population Death Population Death Population
0-20 5,000 100 7,000 105 4,000
20 - 50 14,000 392 15,000 465 16,000
50-70 20,000 300 25,000 500 18,000
70 & above 1,000 200 3,000 390 2,000




42) For the following data show that fisher’s index number statics both “Time Reversal Test

and “ Factor Reversal Test”.

2004 2006
Items
Price | Quantity | Price Quantity
A 8 15 9 15
B 7 12 8 13
C 10 10 10 10
D 12 14 15 16

43) Following data show the population of India .Fit a typetefa¥ = a + bx + cx2 and estimate
the population for the year 2011

Year Population
1961 43.9
1971 54.8
1981 68.4
1991 84.4
2001 102.7
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Section - A

I Choose the correct answer from the choice given. 5x1=5
1) Standardized death rate is
a) Simple Average of ASDRs b) Weighted average of ASDRs
c) Simple average of ASFRs d) All of the above
2) Time Reversal test satisfied
a) Fisher’s Index Number b) Kelly’s Index number
c¢) Marshall - Edge worth Index Number d) All of the above
3) An approximate relationship between Q.D and S.D of normal distribution
a) 5QD =4SD b) 4QD = 5SD
c) 2QD =3SD d) 3QD =2SD
4) Confidence co-efficient is denoted by
a) 1- b) 1-y c) B d) \»
5) A game is said to be fair if
a) V=0 b) V#0 )V =1 d v=2
II Fill in the blanks by choosing the appropriate word from those given in the brackets
(Acceptance Region, Base yeat, Feasible Region, Bell, Attributes, Current year) 5x1=5
6) Paasche’s quantity Index number uses: the prices as weights
7) The t — curve shaped
8) is the set of those values of test statistic. Which leads to the acceptance of the

null hypothesis.
9) A qualitative characteristic which cannot be measured and can only be identified by his

presences or absences is an

10) is the area which satisfies all the constants and non — negativity restrictions

II1 Match the following 5x1=5
A B

11) Methods of Mortality n < 30

12) Consumer price index number Balanced T.P

13)  InP.DA=9 n <30

14) T — test ASDR

15) Yai =3 bj Retail price

Variance =9



IV Answer the following questions 5x1=5
16) Define Survival Ratio
17) Mention a causes for Irregular variation
18) Write the variance of a Bernoulli distribution
19) Define standard error

20) What do you mean by degenerate solution in T.P

Section - B
\'A Answer any Five of the following questions 5x2=10
21) State the two conditions of least square method of measuring trend
22) Write down the conditions for applying binomial expansion method of interpolation and
extrapolation.

23) If %’ is a normal variate with mean 10 and variance =4; What are the distribution of

[x—410] and [ x—410 ]2 5

24) If n =4 for a t — distribution, find its median’and variance.

25) Define statistical hypothesis. Give an example.

20) In a paired t — test. If n = 5, d = 2%and Sd =1.2: ' What would be the value of test statistic.
27) Write a advantages of acceptance ’sampling.

28) Given Q°= 363, and C;#10and €, =12: Find maximum inventory level

Section -C
VI Answer any FOUR of the following questions. 4x5=20
29) Calculate simple Geo — metric mean price index Number for the following data.

Items A B C D
2020 4 5 15 | 10
2022 7 10 | 21 | 25

Price

30) For the following data. Interpolate the value of y When x = 34
X |30 40 | 50 60
Y | 73| 198 | 573 | 1198

31) On an average the number of defective items in a box is 2. If there are 100 such boxes. In
how many of them would you export at least two defective items?

32) A pond has 12 fishes among which 5 are marked ones. 4 fishes are caught from the pond.
Find the probability that three of them marked. Also find the mean of marked fishes.

33) In a village out of 400 men 250 are smokers. Does this data support the arguments that

majority of men in the village are smokers? [ Take LOS 5% |



34) It is required to test whether those who practice yoga have average blood sugar less than
120. A sample consisting of 17 persons who practice yoga is observed. If their mean blood
sugar is 108 and S.D is 8. What would you conclude ? [use 5% LOS |

35) Solve the following game by principle of dominance player B
PlayerB
Bi B2 B3 Bsa
A8 10 12 9
A |9 13 12 10

PlayerA
A; |6 8 8 7
As |7 9 11 9
36) The purchase price machine is Rs 5000. Its resale value and maintenance costs are as
follows. What would be the optimum replacement period ?
Year 1 2 3 4 S
Resale value 3,000 | 2,500 | 2,000 | 1,500 | 1,000

Maintenance cost 100 200 330 510 860

VII Answer any Two of the following questions. 2x5=10
37) Weights of students are found to be normally-distributed . With'mean 50 kg and standard
deviation Skg. Find the probability that a(Student with weight
a) More than 45 kg
b) Between 42 kg and 58 kg
38) To test effectiveness of vaccination against-Covid — 19. The following Information was

obtained and test 1% LOS that vaccination and attack of Covid — 19 are independent.

Attacked | Non —attacked

Vaccinated 10 15
Not —vaccinated | 15 10

39) Twenty rolls are of different type of cloth contained the following number of defects in each
roll :-8,3,1,2,5,4,7,6,2,5,3,2,7, 6,5, 4, 3,2, 1, 4. Calculate the control limits for
C —chart
40) Solve the following LLP graphically
Minimize Z=3x+2y
Subjectto  5x + 4y < 50
X +2y>10
and X,y>0



Section -D

VIII Answer any TWO of the following questions. 2x10=20
41)

a) Compute Net Reproduction Rate for the following data

Age group 15-19 | 2024 | 25-20 | 30-34 | 35-39 | 40-44 | 45-49

( In year)
Female 16000 | 14500 | 13000 | 11500 | 10000 8700 7500

population
Female births 480 812 650 460 300 87 30
Survival Ratio 0.91 0.9 0.9 0.88 0.87 0.86 0.85

b) Calculate standardised death rate for the following data.

Age group Population Deaths Standard Population
Below 15 4000 144 1500

15 -24 10500 63 10000

24 - 64 13500 81 12500
65 & above 2000 102 3000

42) For the following data. Find Laspayer’sc-Poasche’s and: Dorbish Bowley’s price Index

Number
Items Base year Current year
Price Quantity Price Quantity
A 10 5 12 4
B 15 8 18 7
c 6 3 S
D 3 4 3 S

43)

a) For the following data. Find three yearly moving averages

Year 2016 2017 2018 2019 2020 2021 2022
(ii?cl;)%) 30 36 39 33 39 45 492

b) Fit a single degree trend by the method of least square to be following time years

Year

2000

2005

2010 2015 2020

Value

460

550

680 840 1020
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Part - A

I Select the correct alternative from the choices given: 5x1=5

II

III

IV

1. Example for verbal tests of Intelligence
a) Otis test b) C.M Bhatia’s test c¢) RP.M

2. Sentence completion test was developed by

a) Aaron Beck  b) Erik-Erikson c) Ebbinghaus

3. Development disorder in children

a) Antisocial Personality b) ADHD c) Autism
4. A collection of people in a place by chance

a) Audience b) Crowding ¢) \Mob

5. Directive counseling approach was proposed by

a) E.G Williamson b) F.C Throne e)\Carl'Roger

d) Robert Sten Berg

d) Sigmund Freud

d) Stubbornness

d) Team

d) Abraham Maslow

Fill in the blanks by choosing the-appropriate words from those given in bracket: 5x1=5

6. Friendliness is examplé for >....... 0. 0\ trait
7. Positive stress is<called .......c.oh0T .

8. Father of Psychoanalytictherapy ..................

9. AN is'the readiness to respond certain situation in a consistent manner.

10. ... is Proficiency, facility or dexterity that is acquired or developed through training

and experience.

(Skill, Sigmond Freud, Attitude, Surface traits, Eustres, Source traits)

Match the following :

11. A B
a) Psycho Sexual development - Bulimia
b) Noise, Bad relations - Formation of group
c) Eating disorders - Hathway and McKinley
d) Storming - Natural disaster
e) Earthquake - Stressors

- Sigmund Freud

Answer the following questions in a word or a sentence :
12. Who gave the concept of 1Q?
13. Expand TAT.
14. What is Anxiety ?
15. What is Conformity ?
16. Who proposed Eclectic counseling ?

5x1=5

5x1=5



\'%

VI

VII

VIII

Answer any Seven of the following questions in 2-3 sentences each :
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.

Answer any Six of the following questions in-10~12-sentences each :
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.

Answer any two of the following questions in 20-25 sentences each :
39.
40.
41.
42.

PART-B

What is Creativity ?

If an 8 year old girl has a mental age of 8, calculate her IQ ?
Mention the types of Interview.

What is Frustration ? Give example.

What Burnout ?

What is mental disorder ?

What you know about conduct disorder ?

Write about Dream analysis.

What is Logo ? Who developed a Logo Therapy ?
What is Social distance ?

Write any two important causes of Poverty.

How can you Control Pollution ?

PART -C

Explain Charles Spearman’s.two factor theory.
Analyses the Jung’s«¢classification of Depression.
Explain the soutces of Stress:
Write the symptoms and causes of Depression.
Explain any two somatoform disorders.
Explain client centered therapy.
Which are the strategies you can use to reduce Prejudice ?
Discuss the formal and non formal groups.
Explain environmental effects on Human behavior.
Write the main objectives of counseling.

PART-D

Explain the biological factors influencing Intelligence.

Explain any four stages of Erik Erikson’s Psycho-social development theory.

Explain types of Hostile Action.

Explain briefly non-directive counseling.

PART-E (PRACTICAL PART)

Answer any two of the following :

43.

44.
45.

7x2=14

6x4=24

2x6=12

2x5=10

Write the Plan and Procedure you have followed to study the Personality dimension of the

subject using Eisenach personality Inventory.

Write the Plan and Procedure you have followed to study stereotypes of your subject.

Write the Plan and Procedure you

*hEEA
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Part- A
I Select the correct alternative from the choices given: 5x1=5
1. 1IQ of Genius
a) About 90 b) Above 110 c) Above 120 d) Above 130
2. If your friend is less talk active
a) Extrovert b) Ambivert c) Introvert d) All the above

3. Development disorder in children

a) Anti Social Personality b) ADHD c) Autism d) Stubborn
4. Disordering the authority.

a) Empathy b) Conformity c) Dissent d) Social facilitation
5. Components of human communication

a) Sender b) Receiver ¢)\Message d) All above

IT Fill in the blanks by choosing the appropriate words from those given in bracket: 5x1=5
0. e is externally manifested quality
7. Positive stress is called .... o0 G
Rational Emotive therapy was proposedby ...............
9. The factor which itfluence on the development of attitude............
10. isiProficiency, facility or dexterity that is acquired or developed through training
and experience.

(Albert Ellis, Skill, Source traits, Surface traits, Personal Experience)

III Match the following : 5x1=5
11. A B
f) MMPI - Cocaine
g) Noise - S.M Mossin
h) Stimulated - Natural disaster
i) Two step concept - Reinforcement
j) Tsunami - Hathway & Mc-Kinley
- Raymond Cattle
IV Answer the following questions in a word or a sentence : 5x1=5

12. Give an example for verbal test of Intelligence.
13. Who developed sentence completion test.

14. What is Anxiety ?

15. What is Crowd ?

16. Who proposed Eclectic counseling ?



\'%

VI

VII

VIII

Answer any Seven of the following questions in 2-3 sentences each :
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.

PART-B

What is mental retardation ?

If an eight (8) year old girl has a mental age of 6, calculate her IQ ?
Write difference between surface traits and source traits.
Write a note on Life skills.

What is conflict ?

What is mental disorder ?

Write causes for depression.

Write briefly about “ASANAS”.

What is Rehabilitation of mentally ill ?

What is Social distance ?

Mention types of Pollution.

What is Pro-social behaviour ?

PART =€

Answer any Six of the following questions.in 10-12 sentences-each :

29.
30.
31.
32.
33.
34.
35.
36.
37.
38.

Answer any two of the following questions in 20-25 sentences each :
39.
40.
41.
42.

Discuss the Triarch theory of Intelligence.
Write the freedom and Rose man’s personality classification..
Explain the sources of Stress:
Write the history of MentalDisordet::
Explain any twe.somatoform disorders.
Explain the Back’s cognitive therapy.
Explain the factors influence on the formation of attitude.
Explain the formal and informal groups..
Explain the human factors influencing on the environment..
Write the main objectives of counseling.
PART-D

Explain the distribution of Intelligence in population..

Explain any four stages of Erik Erikson’s Psycho-social development theory.

Explain social distance scale.

Explain the techniques to following in non-directive counseling.

PART-E

Answer any Two of the following :

43.
44.

45.

7x2=14

6x4=24

2x6=12

2x5=10

Write the plan and procedure you have followed to study your subject personality using EPI

Write the plan and procedure you have adopted to assess the degree of adjustment in the subject

using Bells adjustment inventory.

Write the plan and procedure you have followed to compare the self rating with other rating.

*hEEA
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TUMKUR DISTRICT P.U COLLEGES PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 61 II PUC : MODEL QUESTION PAPER - 1 No. of Questions: 37
TIME : 2:15 HOURS SUB : INFORMATION TECHNOLOGY MAX.MARKS: 60
Instructions :-

1) This question paper consist of 37 objective and subjective types of questions.
Follow the instruments given against both the objective types of questions.

)
3) Figure in the right margin indicates maximum marks for the questions.
)

4) The maximum time to answer the paper is given at the top of the question paper. It includes 15
minutes for reading question paper.
PART - A
I Four alternatives are given for each of the following question/incomplete

statements choose the correct alternative and write the complete answer along with

its question number and alphabet. 1x10=10
1) The expand form of B.A.S is

a) Biometric advance system b) Biometri¢tattendance system

c) Biometric attendance server d) Biometrictadvice system

2) The intersect of FAR curve with FAR curve is

a) EER b) FIR S \EET d ETR
3) The daily attendance can be recorded by using system

a) ABBAS b) UAIDAI c) Attendance d) Holiday Log
4) command is;used to change the structure of the table

a) Change b)\\Drop c) Alter d) Delete

5) Each Row of Relation is generally referred to as

a) Tuple b)\Record c) Entity d) both A and B
6) Could computing will store data in

a) User computer b) Remote server c¢) Will not store d) Pen drive

7) Cloud server uses for Aadhar system is

a) Google b) Megh Raj c) Apple d) face book
8) What is the primary fire Emergency Telephone number
a) 001 b) 101 c) 108 d 111
9) The writing device used for online Signature recognition is
a) Pen b) Pencil c) Marker pen d) Styles
10) When do we use a fire extinguisher
a) In case of flood b) In case of Electric shock
c) In case of fire d) In case of Burn injury
Part - B
II Answer any Ten of the following question in two or three sentence each. 2x10=20

11) What is the use of Daily punch report ?
12) What is Muster Report ? Give an Example ?



13) What is eKyc?

14) List the possible system errors in finger print sensor?
15) Explain FAR and FRR ?

16) Name any four popular RDMS software?

17) Difference between D CLand D M17?

18) Write the benefits of cloud computing?

19) Name two area where we can use face recognition?
20) What are the 3 types of I O T devices?
21) What is first Aid for Electrical Emergencies?
22) List some of the I T work place Hazards?
23) What type of key board is suitable to work on computer?
Part - C
III Answer any six of the following question in 3 - 4Sentences. 3x6=18
24) What are the Hardware and software Requirements for Aadhar server Kendra ?
25) Write the procedure to create Daily punch report?

26) Expand the following

a) UIDAI
b) ASA
c) AUA

27) Explain Basic Architecture of cloud computing?
28) Explain any Thtree cloud Services?
29) List the different types of keys used in DBMS explain any one ?
30) What caution to be taken while working on the computer ?
31) Write the different types of Accidents in work places ?
32) List the different types of Aadhar enrolment process ?
33) List out the various workplaces safety Hazards ?
Part -D
IV Answer any Two of the following question in 5 - 6 sentences 2x6=12
34) Explain the procedure to create school ID cards ?
35) Explain the Advantages of D. B. M. S ?
36) What is Data Warehousing and Data mart ? Explain with figure

37) List out different safety guidelines in work place Area ?
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TUMKUR DISTRICT P.U COLLEGES PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 61 II PUC : MODEL QUESTION PAPER - 2 No. of Questions: 37
TIME : 2:15 HOURS SUB : INFORMATION TECHNOLOGY MAX.MARKS: 60
Instructions :-

1) This question paper consist of 37 objective and subjective types of questions.
Follow the instruments given against both the objective types of questions.

)
3) Figure in the right margin indicates maximum marks for the questions.
)

4) The maximum time to answer the paper is given at the top of the question paper. It includes 15
minutes for reading question paper.
Part - A
I Four alternatives are given for each of the following questions choose correct

alternative and write the complete answer along with its questions number and

alphabet 10x1=10
1) The another name for FILO report is

a) Muster Report b) Time attendance’report

c) Summary report d) Biometric attendance report

2) It is easier to understand when the reports are displayedcin
a) Textual b) Graphical ¢).Coded d) Numeric
3) The Aadhar act came into force from
a) 10 March 2016 b) At March 2016 c) 12 July 2016 d) 10 July 2016
4) The set of permissiblevalues for another attribute
a) Domain b)o Range c) Degree d) Cardinality
5) The command issused to‘change the structure of the table is
a) Change b) Drop c) Delete d) Alter
6) This refers that information should be protected from improper modification.
a) Confidentiality b) Availability c) Integrity d) Access control
7) The cloud used to Aadhar related data is
a) Google b) Meghraj c) Apple d) Facebook
8) The raised lines in fingers are called
a) Ridges b) Patterns c) Loops d) Points
9) To provide healthy and safety working environment, every organisation must have
a) Cleanliness b) Filtered water c¢) Clean washroom d) All of these

10) In fire classification magnesium potassium and sodium comes under

a) Class A Materials b) Class B Materials
c) Class C Materials d) Class D Materials
Part - B
II Answer any TEN of the following questions 10x2=20

11) What are all the details we can see by summary report ?

12) List the parameters in finger print sensor



ITI

IV

13) What are the biometric information required to preparation of passport?
14) What are the various data elements in driving licence ?
15) What is data redundancy ? Explain.
16) Explain file processing system.
17) Name any four famitear RDBMS software’s
18) Explain the command to viewing the structure of the table
19) Write the services provided by NIC
20) Name the different types of finger patterns
21) Explain the hazards while using computers
22) What is Accident ? Give Example
23) Name the class D Materials.
Part - C
Answer Any SIX of the following questions 6x3=18
24) Write the procedure to get/sec the daily punch reports
25) What are the various other reports can be generated by using biometric attendance
system ?
26) What are the documents required to obtain driving licence ?
27) Write any six disadvantages of file prfocessing system
28) What is key ? Name the different types of Keys:iin DBMS.
29) Write the syntax for the followihg command
a) To check the existence of a data base.
b) To create Table
c) To insertrecord to a table
30) What isicloud computing ? List any four benefits
31) List and explain the advanced networking Technologies
32) Write the importance of cleanliness at work place.
33) How to reduce the risks of visual problems?
Part - D
Answer any TWO of the following questions 2x6=12
34) Write the procedure for the following
a) Summary reports
b) To generate Time attendance report
c) Preparation of driving licence.
35) List the advantages of DBMS. Explain any Two
36) Explain NIC. Google and APPLE cloud services
37) State the most important reasons for health safety and security programs in work

place .



TUMKUR DISTRICT P.U COLLEGES PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 62 II PUC : MODEL QUESTION PAPER - 2 No. of Questions: 37
TIME : 2:15 HOURS SUB : RETAIL MAX.MARKS: 60
Part - A
I Four alternative are given for each of the following question / incomplete statement choose the

correct alternative and write complete answer along with its question number and alphabet.

1. CRM is focused to 10x1=10

a) Management b) Customer ¢) Creditors d) All of the above

2. Sakes associate are not responsible for complaints relating to

a) Replacement of damaged goods b) Sending acknowledgement letter

¢) Specific product complaint d) All of the above.
3. is free social site

a) Face book b) Email c) Telephone d).All of the above
4. Service quality include strategies, procedures and performance

a) Management b) Information system

¢) Communication d) All'of the abové
5. Retailers can use to-gather and store customer information.

a) Warranty card  b) Enquiries ¢) Feedback d) All of the above
6. Information should also be protected.

a) computer b) Well c)Pass word d) All of these
7. The retailer has to approach customer through point or media.

a) Outdoor b) Indoor c) Digital d) All of the above
8. Encourage the'sales person and

a) Team work b) Owners ¢) Creditors d)None of the above
9. Don’t take the personally in the organization.

a) Competitiveness b) Liability ) Responsibility d) All of the above
10. Which of the succeeding is the right of an employee?

a) Written agreement for job b) Casual leave

¢) Good working condition d) All of the above

Part - B
II Answer the following question (Answer any Ten) 10x2=20

11. What do you mean by open-ended question?
12. What is persuasion?

13. What is Face book?

14. What do you mean by service quality?

15. What is payment gateway?



16.
17.
18.
19.
20.
21.
22.
23.

I11

24.
25.
26.
27.
28.
29.
30.
31.
32.
33.

IV

34.
35.
36.
37.

Give the meaning of sales?

What is workflow automation?

What is communication?

What do you mean by customer service?
What is key flow?

What do you mean by employee training?
What is dress code?

What is earned leave?

Part - C
Answer the following questions (Answer any Six)
State the process of spotting customer problems?
Discuss the benefit of getting feedback from customers?
What are the ways are getting customer feedback from communication?
What are the legal requirements for storing of data?
What are the various steps involved in CRM process?
Write the various techniques which are used by retailer to retain‘the’customer?
What are the mechanisms for customer influences?
What are the methods of collection of feedback.
List the impact of change in servige orn’business?

Mention the precautions fér appearance-and behaviours of the male and female staff

Part - D
Answer the following questions. (Answer any two)
Explain the procedure of delivering customer services?
Explain the collection of customer service information?
Explain the reason for not meeting the customer expectations?

Explain the rights of employees?

T

6x3=18

2x6=12



TUMKUR DISTRICT P.U COLLEGES PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 62 II PUC : MODEL QUESTION PAPER - 1 No. of Questions: 37
TIME : 2:15 HOURS SUB : RETAIL MAX.MARKS: 60
Part - A
I Four alternative are given for each of the following question / incomplete statement choose the

correct alternative and write complete answer along with its question number and alphabet.

1. Which one of these is not a source of identifying customer problem by the retailer 10x1=10
a) Feedback of sales associate b) Customer meet
¢) Social group d) Executives meet

2. When customers have problems, they reach to complain at retailers outlets with one or more of the
following postures.
a) Harshness b) Lack of cordial social skills to communicate:properly
¢) Uneasiness d) All of the above.
3. Sales associate are responsible for correcting follow up the mistakes
a) Delivery b) Rectification ¢) Promotion d)-None of the above
4. With the customer helping to establish rapport and begin a new relationship
a) Interaction b) Negotiating c) Connecting d) Allsof the above
5. Which one is not a characteristic of customer service information
a) Promptness b) Updating information
¢) Accuracy d) Simple
6. Companies cannot sell the customer data to other
a) Organization b) Government ¢) Local bodies d) None of the above
7. Collecting informatioh abott the customers is
a) Data bank b) Primary bank ¢) Secondary bank  d) Financial bank
8. CRM provides following to the business
a) Report b) Feedback ¢) Analysis d) Information
9. Acceptable personal growing and proper attire are circumstances of ?
a) Employment b) Recruitment ¢) Selection d) Interview

10. Teamwork is important to achieve for the following target

a) Training b) Productivity ¢) Engagement d) All of the above
Part - B
II Answer the following question (Answer any Ten) 10x2=20

11. What is Closed ended questions ?
12. What do you mean by Negotiation skill ?
13. What is customer Loyalty ?

14. List out any four examples for convenience products ?



15.
16.
17.
18.
19.
20.
21.
22.
23.

I11

24.
25.
26.
27.
28.
29.
30.
31.
32.
33.

IV

34.
35.
36.
37.

What is Customer Feedback ?

What do you mean by CRM ?

Define customer retention ?

Explain customer expectations ?

What do you mean by customer service ?
What is organization climate ?

What are the Cognitive abilities ?

What do you mean by Body language ?

What are the four career prospectus in retailing ?

Part - C
Answer the following questions (Answer any Six)
Mention any ‘Six” customer problems.
List out the benefits of Negotiation.

Explain three ‘3’ features of customer service.

List out the tips for providing excellent customer service delivery:

Write the difference between E.C.R.M and CR.M

Explain the three ways to Retain customers.

List out the ways of getting customer feedback.

Explain the methods of collect and record customer feedback:
List out the various services to customer by the retailer:

What are the skills required for@a Sales-associates:?

Part - D
Answer the following questions. (Answer any two)
Explain the Job/Carrier prospects in retail organization ?
Explain the process of CRM.
How to communicate customers feedback to others ? Explain.

Explain the various types of products/goods ?

e

6x3=18

2x6=12
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TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 63 II PUC : MODEL QUESTION PAPER - 1 No. of Questions: 37
TIME : 2:15 HOURS SUB : AUTOMOBILE MAX.MARKS: 60
Instructions

1. These question papers consist of 37 objective and subjective type of questions.

2. Follow the instruction given against both the objective and subjective type of questions.

3. Figure the right hand margin indicates maximum marks for questions.

4. The maximum time to answer the papers given at the top of the question paper. It includes 15 minutes for

reading question paper.
5. The question paper has should by revere you have to cut on the right side to.open the paper at the time of

II

commencement of examination check whether all the pages of the qaestionpaper intact.

Part - A
Choose the correct answers. 1x10=10

1. Service manual is developed by

a) Manufacture b) Owner c)Dealer d) Manager
2. Most automobile engine piston has rings.

a) Two b) Four ) Three d) Five
3. In overhead value mechanism (OHV) the.camshaft fixed on the

a) Cylinder head b):Crank case ¢) Rocker arm d) Cylinder block
4. Diaphragmiclutch requires less compare to other types of clutches.

a) Service b) Maintenance ¢) Repair d) Replacement
5. A vehicle wheel rotates at speeds, especially when terming.

a) Same b) Constant ¢) Different d) None of these

6. Suspension system has damper with

a) Linkage b) Clutch ¢) Spring d) All of these
7. The improper wheel base causes tyre wear

a) Normal b) Abnormal c) Less d) More
8. The cables are used for battery circuit is

a) Yellow cables b) Brown cables c) White cables d)Blue cables
9. The fuses are generally installed in a central

a) Fuse box b) Battery ¢) Regulator d) Alternator
10. Do not use polishes on wind screen.

a) Silicone b) wax polish ¢) Detergent dya&b

Part - B
Answer the following question (Answer any Ten) 2x10=20

11. Why service manual is used?
12. What is poppet valve?

13. Name the different components of cooling system.



I11

IV

14.
15.
16.
17.
18.
19.
20.
21.
22.
23.

24

25.
26.
27.
28.
29.
30.
31.
32.
33.

34
35
36
37

List the main components of MPFI system.

What is the function of clutch in a vehicle?

Draw the diagram of shackle.

Write the importance of leaf spring

Name the deferent types of steering box used in vehicle.
Write the symbolic form of ammeter.

Name any two auto electrical test equipments.

Write importance of yellow cables.

What is the function of multi-meter ?

Part - C
Answer the following questions (Answer any Six)
. List the contents of a vehicle service manual.
List the reasons for valve leakage.
What are the common faucets in cooling'system?
Write a short notes on differential.
Write the important functions of suspension system in a vehicle.
Give the procedure foriinspection of a'steering linkage.
List the types:of atitomobile cables.
Classify the various types of fuses.
Write the procedure for inspection of a battery.

Draw a diagram of oil pressure warning light.

Part - D
Answer the following questions. (Answer any two)
. Write the advantages of MPFI system.
. What are the maintenance tips for the suspense system
. Write any six general precautions whole handing battery.

. Draw the quick chart of primary circuit in ignition system.

*kkk

How many types of automotive transmissions are used ? List them.

3x6=18

6x2=12



TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 63 II PUC : MODEL QUESTION PAPER - 2 No. of Questions: 37
TIME : 2:15 HOURS SUB : AUTOMOBILE MAX.MARKS: 60
Instructions
1. These question papers consist of 37 objective and subjective type of questions.
2. Follow the instruction given against both the objective and subjective type of questions.
3. Figure the right hand margin indicates maximum marks for questions.
4. The maximum time to answer the papers given at the top of the question paper. It includes 15 minutes for
reading question paper.
5. The question paper has should by revere you have to cut on the right side to open the‘papef-at the time of
commencement of examination check whether all the pages of the question papet intact.
Part - A
I Choose the correct answers. 1x10=10
1. Mechanic use to find for any deficitin‘a vehicle
a) Job card b) Identity card ¢) Bill d) Service manual
2. In overhead cam mechanism (OHC), the cam shaftis fired ‘in'the
a) Cylinder head  b) Crank case ¢)Rockerarm d) Cylinder block
3. In diesel engine during the intakestroke is drawn in the cylinder.
a) Air and fuel b) Only fuel ¢)Only air d) Coolant
4. In diaphragm clutch spring is used instead of coil spring
a) Round spring b) Diaphragmispring c) Circular spring d) None of these
5. Itis not a art of cooling system
a) Radiator b) Spark plug ¢) Thermostat d) Cooling fan
6. The propeller shaft is mounted between &
a) Transmission and engine b) Engine and deferential
¢) Transmission and deferential d) Transmission and Chassis
7. Actuators recovers control signal from
a) Sensors b) ECM ) Alternator d) Battery
8. used for proctoring the electrical equipment and circuits agent the effects
of excessive current.
a) Fuses b) Wires c) Generator d) Regulator
9. Brow cables are used for
a) Generator ear b) Battery circuit ¢) Ignitron circuit d) None of these
10. Multi-meter is used to measure

a) Voltage b) Current ¢) Resistance d) All of these



II

III

IV

11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.

23.
24.
25.
26.
27.
28.
29.
30.
31.
32.

33.
34.
35.

36. Write the different faults occur in lead a cold battery theor causes and remedies.

Part - B
Answer the following question (Answer any Ten)
What do you understand by “Service manual”?
Classify the value mechanism
How many types of rings are used in piston? Mention the names of rings.

Why the cooling system is important for JC engines?

What is the function of clutch in vehicle?

Draw a neat labeled diagram of “Leaf spring”.

What are the main parts of deferential?

Expand a) CRDI b) MPFI

Write the importance of rack and pinion type steering gear box.
Show the symbolic form of a) Fuse b) Earth ground
Name any two auto electrical test ecumenists

Write the importance of black cables.
Part - C
Answer the following questions (Answer any-Six)
List the areas covered by service manual.
Write the procedure for resurfacing the value.
Explain the use of turbo chatger?
Write a short note on propeller shaft?
Name the parts of steering linkage.
Make a list of precautions to be taken while inspection of steering linkages.
Write the importance of fuses in automobiles.
Write the advantages of electrical fuel pump.
Make a lost of component of air-conditioning system of a vehicle.

Draw the circuit diagram shocks the principles of electrical speedometer.

Part - D
Answer the following questions. (Answer any two)
Write the causes and remedies during overhauling of a clutch.
Make a list of steps followed for serving of rack and pinion type of steering.

Draw the circuit diagram of staring system of a Indian car.

2x10=20

3x6=18

6x2=12



TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 67 II PUC : MODEL QUESTION PAPER No. of Questions: 48
TIME : 3:15 HOURS SUB : HOME SCIENCE MAX.MARKS:70
Part - A
I Select the correct alternative from choices given : 1x15=15
1) Scheme requires depositing of fixed amount every month to the bank upto
a fixed period of time
a) Current Account b) Recurring deposit
c) Fixed deposit d) Saving Account
2) refers to the amount of lightness (or) darkness in celouriregardless of hue
a) Value b) Intensity c) Prang colour wheel d)’ None of these
3) refers to the tactile quality of the surface of any object
a) Colour b) Line c) Texture d) Pattern
4) is a collection of foods that shares similar nutritional properties
a) Food Pyramid b) Balanced diet c)\iFood group d) None of these
5) is an state level programme which is launched by the’ government of India
a) Ksheera Bhagya b) PDS c) ICDRS d) NMMP
6) The span of late childhood is years
a) 0-5 b) 6 -12 cpl8 - 18 d 2-6
7) is a stage of rapid growth-and development
a) Late adulthood b) Early adulthood c) Childhood d) Adolescence
8) is a stage of various adjustments in life
a) Young adulthood b) Late childhood c) Adolescence d) Early childhood
9) is a finishing process'\by which textile fabrics are pressed to give a smooth finish
a) Bleaching b) Calendaring c) Mercerization d) Weighting
10) Dacca Muslin is also known as
a) Ab-i-rawan b) Baft hawa c) Shabnam d) All of these
11) refers to a group of people living in a particular geographical area
a) Community b) Market areas c) Union d) Locality
12) dimension of community deals with its tools, skills and physical environment
a) Institutional b) Aesthetic value c) Political d) Technological
13) A person who help the community to establish and find the means of achieving goals.
a) Guide b) Expert c) Enabler d) Therapist
14) A person who provide skill for research
a) Guide b) Expert c) Therapist d) Enabler
15) leader is one who heads a community of people in a particular faith.
a) Religious b) Elected c) Democratic d) Academic
II Fill in the blanks by choosing the appropriate word/words from those given in the
bracket 1x5=5
(Political, Hem, to grow Maturity, Early Childhood, Extension education, Fastener )
16) The term “ Adolescence” means
17) is the bottom edge of a skirt (or) dress
18) Children’s emotions are intense, appear frequently and last for a few minutes in
year
19) is used for conducting educational programmes which help people in improving
their economic and social conditions
20) The dimension of community is its various ways and means of allocating

power, influence and decision making



ITI

21)
22)
23)
24)
25)
26)
27)
28)
29)

v
30)
31)
32)
33)
34)
35)
36)
37)
38)

39)
40)
41)
42)
43)
44)
45)
46)

47)

48)

Part - B
Answer any FIVE of the following questions :- 2x5=10

List the saving institutions.

Mention any four rights of consumers.

List the types of Motifs.

Write the significance of the five —food group system?
Mention the dimensions of adulthood.

What are the motifs used in kashida embroidery ?
What is self — awareness during adolescence ?

Write the characteristics of community development ?
“Middle age is a period of ‘empty nest’ Justify

Part - C
Answer the Five of the following questions:- 3x5=15
Write a note on recurring deposit account ?
List the elements of Art. Explain any one detail.
Write the characteristics of late childhood years ?
List the characteristics of colour?
Explain the self — help features of clothing during pre ~school ?
Write a note on Pashmina textile?
Write a note on physical developmentiin early childhood years.
Explain the responsibilities of the\consumer?
Define dyeing? Classify dyes‘based on origin

Part - D
Section - I :- Answer any four of the following questions :- 4x5=20

Briefly explain the principles of design?

Define meal planning ? Explain the factors affecting meal planning?

Explain any four causes of food spoilage ?

Write a note on state — level programme launched by the government of India?
Write a note on physical development during adolescence?

Explain different methods of dyeing?

Explain the role of ‘Guide’ in community development?

Explain any Five types of leaders with an example?

Section - II :- Answer any one of the following questions :- 5x1=5

Imagine you are a nutritionist: an adult man needs your help;

a) He has been complaining of hypertension, cardio — vascular problems. What will be
your suggestions to improve his diet ?

b) Explain him about the importance of nutrients needed during adult age ?

If you are given a gray good;

a) Which methods do you apply for permanently finish the fabric ?

b) How will you whiter the fabric for dyeing process?

c) Explain any one type of printing you prefer on fabric

KXKK



TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 75 II PUC : MODEL QUESTION PAPER - 1 No. of Questions: 46
TIME : 3 hours 15min. SUB : BASIC MATHEMATICS MAX.MARKS:80
Instruction:
1. The question paper has five parts namely A, B, C, D and E. Answer All the parts.
2. Part A carries 20 marks, Part B carries 12 marks, Part ¢ carries 15 Marks, Part D carries 25 marks and Part E
carries 8 marks.
Write the question number properly as indicated in the question paper.
4. Section A should be answered continuously at one or two pages of answer sheet and only the first answer is
considered for marks in Part A.
Part— A
I Choose the correct answer 5x1=5
1 -3 5 . 1
1. IfA= [5 5 4] then the matrix 5A
5 25 -5 30 5 30
a) |15 m] b) [15 20 ol & 2 9 [—15 m]
30 40 10 40 25 20
2. 1f P(A")=0.65 then the value of P(A) is
a) 0.35 b) 0.53 c) 0.32 d).0:45
3. The fourth proportional of 1, 2 4 is
a) 4 b) 8 c) 6 d)d0
4, Ifsind= E then the value of cos 2A is
T g =] 9
a) = b) = C) p d) =
.t'a' ]
5. The value of lim - =
x—=1 1+x
a)l b).2 c)3 d) 4
I Match the following. 5x1=5
6. A B
. 4 3
i) The value of |2 l| 20
ii) If ncg = ny- then value of n -2
iii) If 3:10=2:x then value of x 4
. . Finax 20
v) lim (555) B

v) If s =5t% + At — & then the initial vertex is

oA

12



Vi

10.
11.

12.

13.

14.
15.

16.

17.
18.
19.

20.
21.
22.

23.
24.

25.

26.

27.

28.

29.
30.

For question numbers 7 to 11 choose the appropriate answer from the answers given below: 5x1=5
(1:5, 1084, 20160, (pVngq), 5 (sin104 — sin24

The number of straight lines and triangles to that are formed out of 20 points of which 8 are collinear is
The number of q different precious stones be set to from a necklace is
The compound ratio of 1:2, 2:3 3:4 and 4.5 is
The negation of Np/g is

The sum or different of trigonometric functions of cot A sin 44 is

Answer the following questions 5x1=5
Find the value of Sin 75°

1 2 311
If F}: 0 4 2||2|Findx,y,z
Z 1 2 -1

Write the sub-triplicate ratio of 8:64
Find the value of [ 3x2(x3+ 4)%dx

Evaluate [ sin® x dx
Part =B
Answer any SIX of thefollowing. 6x2=12
In how many ways _can's people bechosen-out of 8 people if one particular person is always included?
Find the numberiofitriangles thatican be formed out g16 points in which 4 are collinear.
From a well shuffled pack of 52 cards on card is drawn at random find the probability of getting either a Ace
or a jack card.
Two numbers are is the ratio 3:5 if 5 is added to each, they are is the ratio 2:3 find the numbers.
500 workers can finish a work is 8 days. How many workers will finish the same work in 5 days.
BD and BG on a certain bill due after sometime are Rs 1250 and Rs 50 respectively. Find the face value of the
bill?
Find the equation to a Parabola with Vertex (0, 0) focus (0, 3) and directrix isy = -3

Find Focus, Length of latus rectum of the parabola y* = —16x

Evaluate f:{:x+ e*)dx

2 245
Evaluate [, (m)

Find the area enclosed by the curve y = x* + 2x between the ordinates x = 0 and x = 3

Part-C
Answer any FIVE of the following: 5x3=15
1 1 1
Provethat @ b ¢ |=(a—b)(b—c)(c—a)
a® b? c?

Banker’s gain on a bill due after 6 months at 4% pa if Rs 24 Find TD, BD and Bill amount.
Prathik sells out Rs 6000 of 7.5% stock at 108 and reinvests the proceeds in 9% stock. If prathik’s incomes
increases by Rs 270 at what price did prethik by 9% stock?



31.

32.

33.
34.

Vil

35.

36.

37.

38.
39.

40.

41. PT

42.

43.

Vil

44,

45.

46.

A furniture leader std Furniture for Rs 21,000 and added 5% sales tax to the quoted price the customer agrees

to by it for Rs 21000 including sales tax. Find the discount be received.
1—-t= oz dy
If xr= T 12 V= 1a:z find .

Find the maxima and minima of the function f(x)=3x% —9x% — 27x + 30

3
Evaluate : _.rm

Part-D
Answer any FIVE of the following. 5x5=25

Solve the linear equation using the matrix method 3x — v + 2z =13,2x + y —z =3k 3y — 5z = -8

- ]
Find the term independent of x in the expansion of (% + %)

Sxdl . o
STy into partial friction.

Resole ——
(=2

Verify whether the propositionV (p\Vg) — (NpANg) it a tautology or contradiction or neither.

A motor company Itd has observed that a 90% learning effect applies.toall labour related costs whenever a

new product is taken up for production, theanticipated preduction to 320 units for the consign year. The
production is done in lots of 10 units each.\ Each lots requires 1000 hours at Rs 15/hours calculate the total
labour hours and labour cost to manufacture 320 units;
Solve the LPP graphically maximize z = 6x+ 8y
S+C  4x +2y =< 20

2x + s 24

and x=0y2=0

cogT7x+tcosdx—cosbr—rosx

=0+2x

gin 7x—ein3x—sinbxr+sinx

Find the equation of the circle passing through the points. (1, 1) (5, -5) (6, -6)

Evaluate lim [—"'Eﬂ_ﬂfﬁ_x
=il w21
Part-E

Answer any TWO of the following. 2x4=8

The angle of elevations of the top of an unfinished tower at a point distance 120 m from its base in 45°. How

much higher the tower must be raised so that the angle of elevation at the same point may be 60°.

=y - - a
Ifyv= (x +va®+ X'} Show that (a® + x2 )y, + xyynZy =10
The cost of manufacturing an article is given by € = 5+§+3q3 (g = number of articl). Find the

number of article produced at the minimum cost and also find the minimum cost.

*kkkk



TUMKUR DISTRICT PU COLLEGES' PRINCIPAL'S ASSOCIATION (R.)

Sub Code: 75 II PUC : MODEL QUESTION PAPER - 2 No. of Questions: 46
TIME : 3 hours 15min. SUB : BASIC MATHEMATICS MAX.MARKS:80
Instruction:
1. The question paper has five parts namely A, B, C, D and E. Answer All the parts.
2. Part A carries 20 marks, Part B carries 12 marks, Part ¢ carries 15 Marks, Part D carries 25 marks and Part E
carries 8 marks.
Write the question number properly as indicated in the question paper.
4. Section A should be answered continuously at one or two pages of answer sheet and only the first answer is
considered for marks in Part A.
Part— A
I Choose the correct answer 5x1=5
_[2 —x . .
1 If A—[x _?] then the matrix A + Ais
4 0 —4 0 o —2x 2 x
Ao 14l 0[5 1l o, o o )
2. The value of °E, is
a) 11880 b) 20160 €) 30240 d) 90
3. IFP(A)=, then P(A) is
5 g 2
a) 3 b) = C) = d) -
4. Negation of the proposition (p A~ g) is
Q- p-=-q b) pAA - q c) - pVy d)—~q-—=-p
- e 4y _
5. If y=log e then =
a) e® b) e.es2 c)0 d) e loge
I Match the following. 5x1=5
6. A B
501 502
a) Thevalue0f|503 04 6
b) The value of &£y -2
1 .
¢) The value of: IE — dxis 0.5
d) IfP(A)=0.5, then P(A) is (0, 0)
e) If xZ = 6y, the vertex is éex +k



Vi

10.
11.

12.

13.
14.
15.

16.

17.

18.
19.

20.
21.
22.
23.

24.

25.

26.

27.

28.

For question numbers 7 to 11 choose the appropriate answer from the answers given below:

(320, 58, 8, 12, 5)

If  %3Cy +%°C, =100 Ccq, then value of x is

If 3:5 is a ratio, then the consequent is
The income obtained from Rs 8000 of 4% stock is

Sharath paid Rs 40 sales tax on a pair of shoes worth Rs 500. The rate of sales tax is

. wE—gy .
The value of lim —) IS
x—2 \x—2

Answer the following questions :

Symbolize the proposition:

“If two numbers are equal then their squares are equal”.
Define Banker’s discount.

Define learning curve ratio.

If the length of the latus rectum of parabeolay®=kx is 4, then find %’
If the cost function of a firm is given by C{x) = x® — 3x& 7. Find the Average cost.
Part >~ B
Answer any SIX of the following.

Find the value of x and y, if [x ¥] [g _ll] =[-1-14]

If "Cg="Cys, find™Cx

Two coins are tossed-simultaneously. Findthe probability of getting

a) exactly 2 heads b) at least 1head.

Write the converse and inverse of the proposition: “If it is raining then it is cold”.
Divide Rs 6,000 in the ratio 3:4:5

T.Don bill was Rs 100 and B.G was Rs 10. What is the face value of the bill?
Prove that:Cos* 8 — Sin* 8 = 2cos?@ — 1.

Show that: tan{45% + 4) tan{45% — 4) = 1.

Find the equation of the parabola whose focus is (0, -6) and directrix y = 6.

-1
. . —, forx =0
Find the value of k’, it if f(x) =§ 3 is continuous at x = 0
=, forx =10

|
iy
Ify = tanx + tanx + vtanx +--- octhenprove that—- =

BeCc X

Part-C
Answer any FIVE of the following:

f _41 -3 2] show that (AB)' = B'A'

it4 = ~1 4

|and B =|

5x1=5

%

5x1=5

6x2=12

5x3=15



29.

30.

31.

32.
33.

34.

Find the number of permutations of the letters of the word “UNIQUE’.
i) How many of them end with “QUE”?
ii)) How many begin with “U’ and end with ‘E’?

iii) How many of them begin with a consonant?

4t
The banker’s gain on a bill is l? of the banker’s discount and the rate of interest is 20% p.a. Find the

unexpired period of the bill.

Rakshith decides to invest in TCS shares which are selling at Rs 2,020 per share. How much money is
required to purchase 10 shares, if the brokerage in 0.5%

A colour TV is marked for sale for Rs 17,600, which includes sales tax at 10% calculate the sales tax in Rs?
Find the co-ordinates of the vertex, focus and equation of directrix of the parabola5x? + 24y = 0.

Evaluate [(2x + 3)(x?+ 3x + 5)%2 dx

Part-D

VII. Answer any FIVE of the following. 5X5=25

35.

36.

37.

38.
39.

40.

Solve by matrix method: x+y+z=5;
2X+y-2=2;

2X-y+z=2.
. . . . x 3 13
Find the middle terms in the expansion of (; + ;)

x=1
— into partial fractions:
Resolve xlat2)x+4) P f

Show that the proposition {p A~ g) A-{=pVq) is acontradiction.

xyz company supplies water tankers\to'the Government. The first water tanker takes 20,000 labour hours. The
government auditors suggestithat'there shouldbe’90% learning effect rate. The management expects an order
of 8 water tankers in the next’ year. What will be labour cost the company will incur at the rate of Rs 20 per
hour?

Solve the following L.P.P graphically; Maximize =z = 60x+ 15y subject to the constraints:

¥x+yv=50,3x+yv=90,andx,yv = 0

gin® @+gin3fd cos®f-cos=3f _

41. Show that : T =3
42. If y=sin (log x) show that x%y, + xy;, + v = 0
43. Find the area bounded by the parabola y¥* = 16x and latus rectum.
Part-E
VIII. Answer any TWO of the following. 2X4=8

44,

45.
46.

If the total cost function is given by c(x) =350+ 12x+x—4_ and revenue function is given by

R(x) = 75x — 2x7, find the level of output at which profit is maximum.
If v = log(x + /x> + 1), show that (x2 + 1)y, + xy; = 0

A person standing on the bank of a river observes that the angle subtended by a tree opposite bank is 60°,
when he returns 40 metres from the bank, he finds the angle to be 30°. Find the height of the tree and the
breadth of the river.
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